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��$�)�%�.- �&+ $� �j1 .$� �j24 .$� */�� �&���'�N�(� J 0 �� ;�7�%.�� ��$�)�%�.- &���*�� &��

,����� &'-��9��6� .*�$��7 �� $-� ;��)�%�.- $- �87�$-.- .� �6� ;�7.$�.-0 �� ;���).��$�

�&+.$�.- &���,�79�%� �����/ $� �8��$�.�� ,�� $�% �',��6���% &�% �� �&�.*�'�)� ���

�6��� �%$7 &�% �� *�-.���&��-��)� .$- .%��*���0 	�� .%�$��6� ��� �&'+$-$� �� ���9����$��

( ;���).��$� �87�$-.- 0 R�� �',+����� �&���6 �� �*�� ,����7 q ;���).��$� �87�$-.- 0

� n × q &6���� D &����*�� .�� .$�'� $� ;���).��$� �87�$-.- ��� ����75�$�� ��
���E



��� �+��	����� 75

�Q��	L��D
0

�
�"!����
 7	7 	�� $�% $��� */��% �&���'�N�(� $�% ����;�6,��$� !02 �*�%�� $� &�M

���7$( �8��$�.�� u �� �7.- $�� ���.�+ !0#� .$� X�+*�2 %&7�*�%� ;)� �8��$�.�� &�%

&���,�79��$�� �&+ $� ;���).��$� �&+.$�.- �d1 = (1, 0) ��� �d2 = (0, 1) ��� �&+ $�� &6����

�8��$�.�(� D1 =

⎡⎢⎢⎣ 1 0

0 1

⎤⎥⎥⎦0 �$� X�+*�! %&7�*�%� ;)� �8��$�.�� &�% &���,�79��$�� �&+

$� ;���).��$� �d1 = (1, 1) ��� �d2 = (1, 0) ��� �&+ $�� &6���� �8��$�.�(� D2 =

⎡⎢⎢⎣ 1 1

1 0

⎤⎥⎥⎦�
��� .$� X�+*�# %&7�*�%� $��� �8��$�.�� &�% &���,�79��$�� �&+ $� ;���).��$� �d1 = (1, 0)�

�d2 = (1, 1) ��� �d3 = (1,−1) ��� �&+ $�� &6���� �8��$�.�(� D3 =

⎡⎢⎢⎣ 1 1 1

0 1 −1

⎤⎥⎥⎦ . �� �*�M

�� !0! ;�6*��� $� ;���).��$� �87�$-.- .$� */�� �&���'�N�(� $�% X�+*�%20 �

j
1

j
2

⎥
⎦

⎤
⎢
⎣

⎡
=

10

01
D

⎥
⎦

⎤
⎢
⎣

⎡
=

→

0

1
d1

⎥
⎦

⎤
⎢
⎣

⎡
=

→

1

0
d2

�*��� !0!u �/�� �&���'�N�(� ��� ;���).��$� �87�$-.- 



77 8
6�
� 9����
 :���
6��1�1 8�40�1

(&- 7�������2 ��������������2

����������% �� �8��&���.�%�� ��')$��� $� �;��6$��� *����$-��.$��7 $(� %&�'�,�.$/� %N-M

'� �&6;�.- � �6��� .%*�7 ���,��6� �� ��$�.*-��$6.�%�� $�% &�� ��$�'�.- 9('��.����% 

��+*�% 0 	�� &��7;��,��� �6��� ;%��$+� �� ,6��� ��')$��- *��.- $- '���7��%.� ����- ���

�&�;�$��+$��- �&���+��.- .� �&�8��,�.$� �� ;���%.��$��� ���7;� %&�'�,�.�/� 1KJED=@

>@=EJII=@I4 � .� ��*�$��$����� &�% &���'���7��%� &�''�) �&�8��,�.$� 0 � .-���$��+$��-

6.( ��$-,��6� ��$�.*-��$�.�/� ��+*(�� &�% �*�� &����'�.�� ��,7'� ���%�-$��+ ��;��9����

��� &'-�/�� ��,�.�/�� �6��� �� ,�������6 ��$�.*-��$�.��60

R�� ,������+ ��$�.*-��$�.�+ ��+ nM;�7.$�$�% 9('��.����% ��+*�% ��65�$�� �� $-

������� ��+ n × n &6���� �����6(� T 0 R$.�� �� ��� ,������+ ��$�.*-��$�.�+ T �9��M

��.$�6 .� ��� 9('��.���� ��+*� �� */�� �&���'�N�(� J � $+$� � */�� ��$�.*-��$65�$�� .�

��� ��� J ′� ,�� $�� �&�6� �.*)��u

J ′ = {�j′ = (j′1, ..., j
′
n) | �j′ = T�j | �j ∈ J} 1!0#4


� D �6��� � &6���� �8��$�.�(� $�% ��*���) 9('��.����% ��+*�%� $+$� D′ = TD �6���

� &6���� �8��$�.�(� $�% ��$�.*-��$�.����% 9('��.����% ��+*�%0 	�� �� �6��� �J����E

��� ��$�.*-��$�.�+ T � �� &��&�� +'� $� ��$�.*-��$�.���� ;���).��$� �87�$-.- 1;-'0 ��

.$�'� $�% &6���� D′4 �� �6��� '�8���,��9��7 ��$��70


� �.*)�� det(T ) = ±1� $+$� � ��$�.*-��$�.�+ ����75�$�� ��I���
������E 1PQAW=LPHO@4�

;��9���$��7 ����75�$�� ��9��I���
������E 1Q=QMPQAW=LPHO@40 �� ��������;��6�� ��$�.*-��M

$�.��6 �*�%� $� �8� .-���$��7 *����$-��.$��7u

20 ���;�*���6 ��$�.*-��$�.��6� &�% &��6.$��$�� .�� ,��+���� &��7�(� �&�����% ������M

��;��6(� ��$�.*-��$�.�/�� �;-,�)� .� �&6.- ��������;��6�% ��$�.*-��$�.��) 0

!0 � ��$6.$��9� ��+ ��������;��6�% ��$�.*-��$�.��) �6��� �&6.- ��������;��6� 0

#0 ���$-��)� $�� +,�� $�% */��% �&���'�N�(�0 R$.�� �7�� ������� .-��6� $�% ��$�.*-M

��$�.����% */��% ��$�.$��*�6 .� ��� �&6.- ������� .-��6� $�% ��*���) */��%0

�$� �*��� !0# � ��$�.*-��$�.�+ T1 �6��� ��������;��6� ��/ � T2 �-M��������;��6� 0 ��

'�%�7 .-��6� .$- ;�)$��- &��6&$(.- ��$�.$��*�)� .� ������� .-��6� $�% ��$�.*-��$�.����%

*/��%� &�% +�( ;�� �*�%� ������� ���+�� .$�� ��*��+ */��0 ����75�%�� �%$7 $� .-��6�



��� ,�������- 
�	���
��	����- 7A

���E $�% ��$�.*-��$�.����% */��%0 ����75�%�� ����FL .-��6� $�% ��$�.*-��$�.����%

*/��% $� .-��6� &�% �*�%� ������� ���+�� .$�� ��*��+ */��0

�$- .%��*��� ;6���$�� $%&��7 +.� ���9���-��� &���&7�(� ���/ ��� ������ �&�&'���

*��.��� �;�+$-$� $(� ��$�.*-��$�.�/� ��� $(� */�(� &�% &���)&$�%�0

j
1

j
2

j'
1

j'
2

j'
1

⎥
⎦

⎤
⎢
⎣

⎡
=

10

11
T1

j
1

j
2

⎥
⎦

⎤
⎢
⎣

⎡
=

10

12
T2

2)det(T2 =

j'
2

οπή

1)det(T1 =

ακριβές σηµείο

�*��� !0#u ��������;��6� 1T14 ��� U-M��������;��6� 1T24 ��$�.*-��$�.�+ 

>��6�4� 7	; [
�E 	�	��JD
��GE ��
���E �
��HP�	�� ��������;��6� �
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��+ %&���+���%0 � ��$6.$��9� $�% &6���� H &���'���7��� .�� .$�'� ;���).��$� &�%

�6��� &��7''-'� .$� &'�%�� $�% %&���+���% ��� .%���'65�$�� �� P 0 �.*)�� P�H−10 �$�

�*��� !0p 9�6��$�� ��� ��$�.*-��$�.�+ &�% ���;�&���6 $�..��� ,��$����7 .-��6�� ���/ 

��� �� &6���� H ��� P &�% $�� ��65�%�0

�%&��7� � ��$�.*-��$�.�+ %&���+��(� ��65�$�� ( �8� u

r : Zn −→ Z2n, r(�j) =

[
�H�j	

�j − H−1�H�j	

]
1!0n4

+&�% �H�j	 �6��� �� .%�$�$�,���� $�% %&���+���% .$�� �&�6� ������ $� .-��6� �j ∈ Zn ���
�j − H−1�H�j	 �6��� �� .%�$�$�,���� $�% �j &�6����$� .�� ��*� $(� �8+�(� $-� ��*� $�%

%&���+���%0 R$.�� � ��*��+ nM;�7.$�$� */�� �&���'�N�(� J ��$�.*-��$65�$�� .� ����
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2nM;�7.$�$�� &�% �&�$�'�6$�� �&+ $� nM;�7.$�$� */�� $(� %&���+��(� ��� $�� �&6.- nM

;�7.$�$� */�� $(� .-��6(� .$� �.($����+ $(� %&���+��(�0 �� &����7$( */��� &���)&$�%�

�� $-� �9����,� ��+ ��$�.*-��$�.��) %&���+��(� H .� ��� */�� �&���'�N�(� J u

20 � a���E _��
��LM�D
 T����G�F�� 1]AHJ \DJ@ODA=Q S>OEJ4 TIS(H) = {�j ∈ Zn | �H�j	 =
0}� &�% &���'���7��� +'� $� .-��6� &�% �����%� .$�� %&���+��� &�% 8����7 .$-� ��*�

$(� �8+�(�0

!0 � a���E T����G�FD
 1]AHJ S>OEJ4 JS(J,H) = { �jS | �jS = �H�j	, �j ∈ J}� &�% &���'��M

�7��� $� ���+�� +'(� $(� .-��6(� �j ∈ J .)�9(�� �� $� ��$�.*-��$�.�+ %&���+��(�0

#0 � a���E X�
�
 	D
 T����G�FD
 1]AHJ r@ABAQ S>OEJ4 TOS(JS ,H−1) = {�j ∈ Zn | �j =
H−1 �jS , �jS ∈ JS}� &�% &����*�� $� ��*� $(� %&���+��(� .$�� ��*��+ */��0

n0 � b�
���E _Q��	L��D
 T����G�FD
 DS = { �dS | �dS = �H(�j + �d)	, �d ∈ D, �j ∈ TIS}�
&�% &����*�� $� �8��$�.�� ��$�8) $(� %&���+��(�0

v��� .)�9(�� �� $� &���&7�(� �� �.*)��u J
H−→ JS ��� JS P−→ TOS0 	�� '+,�% �&'+M

$-$� � �� ���9��+��.$� .$� .)��'� TIS(H) ( TIS� .$� .)��'� JS(J,H) ( JS ��� .$�

TOS(JS,H−1) ( TOS0 
865�� &��.�*� $� ,�,��+ � +$� +'� $� .-��6� $�% J &�% �����%�

.$�� 6;�� %&���+���� �&�����65��$�� .$� 6;�� .-��6� $�% JS 0 �&6.- � � */�� TOS ;�� �6���

�&���6$-$� %&�.)��'� $�% J � ���/ �6��� ;%��$+� �� %&7�*�%� ��*� %&���+��(� &�% ;��

�����%� .$�� ��*��+ */�� �&���'�N�(� J � �''7 �7&��� .-��6� $(� %&���+��(� �%$/� ��

�����%�0

	�� �� �6��� ��� ��$�.*-��$�.�+ %&���+��(� �,�%�� � �� &��&�� �� �.*)�� HD ≥ 0
w\]mmx0 � �����+ $(� .-��6(� &�% &����*��$�� .$� �.($����+ ��+ %&���+���% ;6��$�� �&+

$-� ��65�%.� $�% &6���� P ��� &���*�� ��� ��$�� ,�� $�� +,�� %&�'�,�.��) Vcomp &�% ��

;��8�*��6 .$�� %&���+���0 R$.�� �.*)�� Vcomp = |det(P )| = |1/det(H)|0 � +,�� �&�����(�6� 

��7 %&���+��� �6��� ��7'�,� $�% ������) $(� .-��6(� &�% &����*��$�� .$�� %&���+���

��� *���75��$�� �� �&�.$�'�)� .$�% ,��$�����) �&�8��,�.$� 0 �� 7''� '+,�� � +,�� 

�&�����(�6� �.�)$�� �� $� 7����.�� $(� ;���%.�7$(� �87�$-.- &�% $����%� $� +��� $�%

%&���+���%0 
%$+ %&�'�,65�$�� �&+ $-� ��9��.-u

Vcomm(H) =
1

|det(H)|
n∑

i=1

n∑
k=1

m∑
j=1

hikdkj 1!0l4
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����$��7 - &���&7�( .*�.- %&�'�,65�� ��� ����65�� +'� $� �hi
�dj � &�% ��9�75�%� $- .%���.9�M

�7 �7�� ;���).��$� �87�$-.- .� �7�� ������ �&�97���� $�% %&���+���%0 
� �� %&���+����

��$7 ���� �6� ;�7.$�.- �����%� .$�� 6;�� �&�8��,�.$�� $� ;���).��$� �87�$-.- &�%

$����%� $- ;�7.$�.- �%$� ;�� &����'�)� �&�����(�6�0 �d �%$� $-� &��6&$(.- � +,�� �&����M

�(�6� ��7 %&���+��� ;6��$�� �&+ $- .*�.-u

Vcomm(H) =
1

|det(H)|
∑

i∈{1,...,x−1,x+1,...,n},j∈{1,...,m}
(H−xD)ij′ 1!0o4

+&�% H−x �6��� � &6���� H *(�6 $� ;�7�%.��M.$�'- &�% �6��� &��7''-'� &�� $- ;�7.$�.-

�&���+��.- 0

j
1

j
2

⎥
⎦

⎤
⎢
⎣

⎡
=

82

46
P

⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢

⎣

⎡

−

−
=

20

3

20

1
10

1

5

1

H

p
1
=(6,2)

p
2
=(4,8)

h
1
=(1/5,-1/10)

h
2
=(-1/20,3/20)

�*��� !0mu �/�� �&���'�N�(� �&���+���% 1]\S4

�
�"!����
 7	A R.$( � &����7$( 9('��.���� ��+*� u

��� �j1�
� j1 ≤��� j1���
��� �j2�
� j2 ≤��� j2���

A[j1, j2]�A[j1 − 1, j2 − 2]�A[j1 − 3, j2 − 1]�

�����


�����

� ��$6.$��*� */�� ;���$/� J �6���u J = {(j1, j2) | 0 ≤ j1 ≤ 39, 0 ≤ j2 ≤ 29} ��� � &6���� 
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�8��$�.�(� $�% .%,���������% �',��6���% �6��� D =

⎡⎢⎢⎣ 3 1

1 2

⎤⎥⎥⎦0 �9���+5�%�� .$�� &���&7M

�( */�� $� ��$�.*-��$�.�+ %&���+��(� &�% ��65�$�� �&+ $�� &6���� H =

⎡⎢⎢⎣ 1
5 − 1

10

− 1
20

3
20

⎤⎥⎥⎦

�� �.�;)����� �&+ $�� &6���� P =

⎡⎢⎢⎣ 6 4

2 8

⎤⎥⎥⎦0 � ��$�.*-��$�.�+ �%$+ �6��� �,�%�� � �9�)

�.*)�� HD ≥ 00 �+$�� +&( 9�6��$�� .$� �*��� !0m� � �/�� �&���'�N�(� �&���+���%

TIS &����*�� $� .-��6� {(0, 0), (1, 1), (1, 2), (2, 1), (2, 2), (2, 3), (2, 4), . . . , (7, 5), (7, 6), (7, 7),

(7, 8), (8, 7), (8, 8), (8, 9), (9, 9)}0 �&�&�+.��$�� +&( 9�6��$�� .$� �*��� !03� = J ��$�.*-M

��$65�$�� �&+ $�� &6���� H .$� �/�� �&���+��(� JS = {(−3, 3), (−3, 4), (−2, 1), (−2, 2),

(−2, 3), (−2, 4), . . . , (6,−2), (6,−1), (6, 0), (7,−2), (7,−1)}0 �$- .%��*���� +&( 9�6��$��

�&+ $� ,��65� .-��6� $�% �*���$� !02"� � �/�� �&���+��(� JS ��$�.*-��$65�$�� �&+

$�� &6���� P .$� �/�� 
�*/� �&���+��(� TOS = {(−6, 18), (−2, 26), (−8, 4), (−4, 12),

(0, 20), (4, 28), . . . , (28,−4), (32,−4), (36, 12), (34,−2), (38, 6)}0 �

�� .-��6� &�% �����%� .$�� 6;�� %&���+��� �� ��*� $� .-��6� �j0 ∈ TOS� �&�'-��)�%� $�

.).$-�� ���.�$�$(� �0 ≤ H(�j −�j0) < �10 ����������% �� *����5+��.$� ���.+$-$� �����6(��

��65�%�� $� g ( $� ����+$��� ������� $�$��� /.$� � gH �� �6��� ������� &6���� 0 R$.��

�&���)�� �� ,�7N�%�� $� &���&7�( .).$-�� ���.�$�$(� ( u �0 ≤ gH(�j − �j0) < �g ⇔ �0 ≤
gH(�j − �j0) ≤ (�g − �1)0 �%���'65�%�� S =

(
gH

−gH

)
��� �s =

(
(g − 1)�1

�0

)
0 �.�;)����� $�

&���&7�( .).$-�� ,6��$��u

S(�j − �j0) ≤ �s 1!0p4

�
�"!����
 7	C �� .).$-�� ���.�$�$(� &�% &���,�79�� $� */�� ;���$/� J .$� 9('��.����
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j
1

S

j
2

S

�*��� !03u �/�� �&���+��(� 1JS4

��+*� $�% ����;�6,��$� !0#� �6��� $� &����7$(u⎛⎜⎜⎝
1 0
0 1

−1 0
0 −1

⎞⎟⎟⎠( j1

j2

)
≤

⎛⎜⎜⎝
39
29
0
0

⎞⎟⎟⎠
��-.���&��/�$� $�� 6;�� &6���� ��$�.*-��$�.��) %&���+��(� H =

[
1
5 − 1

10
− 1

20
3
20

]
� $� .)M

.$-�� ���.�$�$(� S(�j − �j0) ≤ �s� &�% �&�'-��)�$�� �&+ $� �.($����7 .-��6� $�% %&���+���%

�� ��*� $� �j0 = (j01 , j02) �6��� 1g = 204u

⎛⎜⎜⎝
4 −2

−1 3
−4 2

1 −3

⎞⎟⎟⎠( j1 − j01

j2 − j02

)
≤

⎛⎜⎜⎝
19
19
0
0

⎞⎟⎟⎠0 �

� ��$�.*-��$�.�+ %&���+��(� �*�� *�-.���&��-��6 ��$7 �+��� .� ���%�-$���) ��� ��&�M

����) ��$�,'($$�.$� � ,�� $- ��'$�.$�&�6-.- $- *��.- $- '���7��%.� ����- ��.( $- 

��'$6(.- $- $�&��+$-$� $(� ���9��/� 1@J^J@JQEJ H=EOHAD?4 ��+ &��,�7���$� weg32Ox�

wgse32x� wgA3nx� w<U33x0 �d �%$� $-� &��6&$(.-� *�-.���&���)�$�� �&��'��.$��7 $�$��,(M

����6 ��$�.*-��$�.��6 %&���+��(�� /.$� �� %&�'�,�.��6 �� �'��'-�/���$�� �.($����7 .�

���� %&���+��� ��� �� .%��*�6� �� ��$�9����$�� .$�� �&+���� %&���+��� �0�0�0 �;����7� $�

;�;����� &�% &��.&�'�)��� ��� %&���+��� *(��)� .$- '���7��%.� ����- $�% .%.$���$� 

��� �$.� $%*+� �&���*�-.���&���.�� $(� 6;�(� ;�;����(� �� �;-,�.�%� .� &��.&�'�.� $�% 

�&+ $- '���7��%.� ����- ��� +*� �&+ $-� �)��� ����-0 �� ,�,��+ �%$+ �8��������6 &�')

��,7'� �����+ (9�'��(� �)�'(� �&�8��,�.$� w|T3lx 1.�'0 #p#M#pl40
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(0,0)

(1,0)

(2,0)

(3,0)

(4,0)

(5,0)

(-1,0)

(0,1)

(1,1)

(-1,1)

(2,1)

(3,1)

(4,1)

(5,1)

(2,-1)

(3,-1)

(4,-2)

(5,-1)

(6,-1)

(1,-1)

(0,-1)

(-2,1)

(0,2)

(1,2)

(2,2)

(3,2)

(4,2)

j
1

j
2

(-1,2)

(-2,2)

(-2,3)

(-1,3)

(0,3)

(1,3)

(-3,3)

(-2,4) (2,3)

(-3,4)

(6,0)

(7,-1)

(4,-1)

(5,-2)

(6,-2)

(7,-2)

(5,2)

αρχές
υπερκόµβων

�*��� !02"u ��$�.*-��$�.�+ %&���+��(� .$� �/�� �&���'�N�(� $�% ����;�6,��$� !0#

�;��6$��� ��;��9���� +�( &���%.�75�� - �9����,� $�% ��$�.*-��$�.��) %&���+��(� .�

9('��.����% ��+*�% � &�% &�+���$�� �� ��$�'�.$�)� .� &��7''-'� ��*�$��$����� � �6$�

�����5+���- �6$� ��$����-���- ����- 0 �$-� ��;��� ��$-,��6� &���'-�7$(� &�% �*�%� n

,������7 ���87�$-$� ;���).��$� �87�$-.- 1�	
�
	�� ��+*��4� ;�� �6��� ;%��$+� �� ��$�M

.*-��$6.�%�� $� ��+*� /.$� �� �*�� �8($�����) �	
�� ��+*�% ��� �� ;-���%�,�.�%�� �$.�

$�'�6( &��7''-'� ��� *(�6 .%,*����.�+ ��$�'�.�� weg32_x 1�'0 ��+$-$� !0n40 �d �%$� 

$� &���&$/.�� *�-.���&���6$�� � ��$�.*-��$�.�+ %&���+��(� ,�� �� ���/.�� $- .%*�+$-$�

.%,*����.��) .$� ��*�$��$����� �����5+���- ����- ��� $- .%*�+$-$� �&�����(�6� .$� 

��*�$��$����� ��$����-���- ����- 0 � ��$�'�.- ��+*(� &�% �*�%� ��$�.*-��$�.$�6 �� $�

��$�.*-��$�.�+ %&���+��(� .� &��7''-'� ��*�$��$����� &��,��$�&���6$�� ( �8� u �7��

�&�8��,�.$� '���7��� $� ;�;����� &�% *���75�$�� ,�� $- ;��8�,(,� %&�'�,�.�/� .� ����

%&���+���� ��$�'�6 $�% .*�$���) %&�'�,�.��) ��� .$- .%��*��� .$�'��� $� ;�;����� &�%

�+'� %&�'+,�.� .$�% ,��$�����) �&�8��,�.$� ,�� $�% &����$��( %&�'�,�.��) $�% 0

�&( ���9���-�� ��� .$-� ��+$-$� 20#� .$-� &��6&$(.- &�% *�-.���&���6$�� ��$�.*-M

��$�.�+ %&���+��(� ,�� $-� &��7''-'- ��$�'�.- 9('��.���(� ��+*(�� �6��� ;%��$+� ��

�&�'�,�)� ,�����6 &���''-'�&6&�;�� ��$�.*-��$�.��6 H ��� +*� �&���6$-$� ����,/����� +&( 
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⎥
⎦

⎤
⎢
⎣

⎡
=

10

11
D

V
comm

=8V
comm

=11

⎥
⎦

⎤
⎢
⎣

⎡
=

→

1

1
d2

⎥
⎦

⎤
⎢
⎣

⎡
=

→

0

1
d1

�*��� !022u ���9��7 .$�� +,�� �&�����(�6� ��7��.� .� ���� ����,/��� ��� .� ��� �-M
����,/��� ��$�.*-��$�.�+ %&���+��(�

.%���6��� ,�� $-� �8��&�6-.- $- $�&��+$-$� $(� ���9��/�0 �$� �*��� !022 9�6��$�� - �&6M

;��.- $�% .*���$� $�% %&���+���% .$�� +,�� �&�����(�6� 0 
� ��(��.�%�� +$� �&��$�6$��

�&�����(�6� ,�� �7�� ;�7�%.�� �87�$-.- &�% $����� $� ������ �&�97���� ��+ %&���+���%�

$+$� .$� �*��� !022 9�6��$�� +$� ,�� $� .%,��������� &��7;��,�� ��$/ ;���).��$� �87�$-.- 

$����%� $- ������ �&�97���� $�% %&���+���% .$-� &��6&$(.- $�% �-M����,/���% ��$�.*-M

��$�.��) %&���+��(�� ��/ ��;��� ;���).��$� �87�$-.- $����%� $� ������ �&�97���� .$-�

&��6&$(.- $�% ����,/���% ��$�.*-��$�.��) wsS3!x� wzVss3nx� w{PJ3pOx0


�+�� &�� .-���$��� +�( ,�� $-� �&6;�.- ��+ �',��6���%� �6��� - �&6;��.- $�% .*�M

��$� $�% %&���+���% .$� .%��'��+ *�+�� ��$�'�.� $�%0 �$� �*��� !02! 9�6��$�� �&'�M

&��-���� $� ,�,��+ �%$+0 
� �,���.�%�� $� �+.$� �&�����(�6� ��� ��(��.�%�� &( ��

%&���+���� ��$7 ���� $- ;�7.$�.- j1 ��$�'�)�$�� .$�� 6;�� �&�8��,�.$�� $+$� &���$-M

��)�� &( .$-� &��6&$(.- $�% ����,/���% ��$�.*-��$�.��) �&��$�)�$�� �8� ����$� ,�� $-�

&��7$(.- $�% �',��6���%� ��/ ��$6��$� .$-� &��6&$(.- $�% �-M����,/���% ��$�.*-��$�.��)

�&��$�)�$�� &��$�0 � �&6;��.- $�% .*���$� $�% ��$�.*-��$�.��) %&���+��(� .$� .%��'��+

*�+�� ��$�'�.- ��+ 9('��.����% ��+*�% ��'�$7$�� .$� ��,�.6� w|S"!x ��� w|<Y"#x0

(&1 ����	
	� ������ 	�� �������������#!��� "

����#!���

$������

��$7 $-� �&�'�,� $�% ��$7''-'�% ��$�.*-��$�.��) ,�� $- ��'$�.$- �&���+��.- ��+ 9('��M

.����% ��+*�% .� �7&��� ��*�$��$����� %N-'� �&6;�.- � ���'�%��6 - ;��;���.6� ��$�.*-��M

$�.��) $�% ��*���) �/;��� .$�� �.�;)���� ��$�.*-��$�.����0 � ;��;���.6� �%$� &��&�� ��

�6��� �&'�� /.$� �� �-� ����.$7 $� *�+�� ��$�,'/$$�.- �&�,���%$��+� �''7 �%�6( &��&�� ��



AC 8
6�
� 9����
 :���
6��1�1 8�40�1

         5

4

32

6

5

432

j
1

j
2

j
1

j
2

�*��� !02!u ���9��7 .$� .%��'��+ *�+�� ��$�'�.- ��7��.� .� ���� ����,/��� ��� .� ���
�-M����,/��� ��$�.*-��$�.�+ %&���+��(�

�;-,�6 .� +.� $� ;%��$+� �&�;�$��+$��� ��$�.*-��$�.���� �/;���0 �7�� ��$�.*-��$�.�+ �

+&( �� 9���6 ��� .$- .%��*���� ��.9���� �7&���% �&�&'��� %&�'�,�.��) &�% �&����)��%�

$-� ��$�'�.- $�% �',��6���%0 ���9��/ � �������$�� +$� �� $-� �9����,� $�% ��$�.*-��$�M

.��)� $� �9�'- �� �6��� &�') ��,�')$���� /.$� �� 8�&����)� ��$7 &�') $-� �&��7�%�.- &�%

�&�9���� � 6;�� � ��$�.*-��$�.�+ 0 �$-� ��+$-$� �%$� �� &���%.�7.�%�� ���+;�% &���M

,(,� �/;��� .$-� &��6&$(.- $(� ��������;��6(� ��� �-M��������;��6(� ��$�.*-��$�.�/�

��� $(� ��$�.*-��$�.�/� %&���+��(�0

(	)	* +�,���$
��
-�� ���
� ��
�����-

����������% �� &��7,�%�� �/;��� ,�� ��$�.*-��$�.����% */��% .$-� &��6&$(.- $(� ��M

������;��6(� ��$�.*-��$�.�/�� &��&�� �� ;-���%�,�.�%�� �	
 �		�� &�% �� ;��$��*�%� $�

��� */�� �� '�8���,��9��� .���7� ��� �� ��$���$�.$�.�%�� $� ��$��'-$� �'�,*�% $�% ��+M

*�% �� $� ��� ��$�.*-��$�.���� � +&�% �%$� ��9��65��$��0 R$.�� .d �%$� $-� &��6&$(.-�

- ;��;���.6� �6��� .*�$��7 �&'� ��� �'��'-�/��$�� .� ;)� ����$�u

• 8��
 5� T����J���GE 	D
 ���D
 	�� ��	��
���	����
�� CD������
�� F�G
��U

R.$( T � ��������;��6� ��$�.*-��$�.�+ &�% �9���+5�$�� .� ��� nM;�7.$�$� 9('��M

.���� ��+*�� $�% �&�6�% $� +��� &���,�79��$�� �&+ $� .).$-�� ���.�$�$(� B�j ≤ �b, �j ∈
J 0 �+$� �� �.*)��� B�j ≤ �b ⇒ BT−1T�j ≤ �b ⇒ BT−1�j′ ≤ �b, �j′ ∈ J ′0 �� ��� .).$-��

BT−1�j′ ≤ �b &���,�79�� $� +��� $�% ��$�.*-��$�.����% */��%0 	�� �� ��$�$��&�6 +�( 

$� .).$-�� �%$+ .� ��$7''-'- ���9�� /.$� � ��� */�� �� �&���6 �� ;��.*�.$�6 ��



��$ �����"�� 0)1��� ��� 
�	���
��	����!�2� &"������!�2� �����2� A;

$- ������� ��+ 9('��.����% ��+*�%� �� &��&�� �� �9����.$�6 - ����;� �&�'��9� 

Y=P@AJ@MU=DZ[AQ jHAWAQODA=Q 1YUj4 1�'0 ���7�$-�� 
40 �� ��� .).$-�� ��$7 $-�

�&�'��9� .%���'65�$�� B′T−1�j′ ≤ �b′ ��� �*�� $-� &�') *��.��- �;�+$-$�� +$� �7�� ���M

.+$-$� &�% &���'���7��� $- ��$��'-$� j′k� ;�� &���'���7��� ��$��'-$� j′k+1 . . . j′n� �7$�
&�% .-��6��� +$� &'��� � */�� �&���6 �� ;��.*�.$�6 �&+ ��� nM;�7.$�$� 9('��.����

��+*�0

• 8��
 7� X
	���	H�	��� 	D
 ��	�F��	�
 ���J
�� �	� ���� 	�� F�G
��U

�� ���� �%$+ �6��� �;��6$��� �&'+ ���/ �7�� ��97��.- $- ��$��'-$� �j ��$����6.$�$��

�� �7.- $� ��$�.*-��$�.�+ T � ;-'0 �j = T−1�j′0

�
�"!����
 7	; �$� &��7;��,�� �%$+ �� ;�68�%�� &( &���)&$�� � ��$�.*-��$�.���� �/M

;��� ,�� $�% 9('��.����% ��+*�% $(� �*-�7$(� !0nM!0o0

• 	�� $� �*��� !0n �*�%�� $� �8� u

8��
 5u �� .).$-�� &�% &���,�79�� $� */�� �&���'�N�(� �6���

⎛⎜⎜⎝
1 0
0 1

−1 0
0 −1

⎞⎟⎟⎠( j1

j2

)
≤

⎛⎜⎜⎝
2
3
0
0

⎞⎟⎟⎠ ��/ � ��$�.*-��$�.�+ ��65�$�� �&+ $�� &6���� T =
[

1 0
0 −1

]
= T−10 R$.��

� ��$�.*-��$�.���� */�� �� &���,�79�$�� �&+ $� .).$-��

⎛⎜⎜⎝
1 0
0 −1

−1 0
0 1

⎞⎟⎟⎠( j′1
j′2

)
≤

⎛⎜⎜⎝
2
3
0
0

⎞⎟⎟⎠0 v�� 0 ≤ j′1 ≤ 2 ��� −3 ≤ j′2 ≤ 00

8��
 7u �� ;�6�$� j1, j2 ��$����6.$��$�� �&+ $�% j′1, j′2 �� �7.- $- .*�.- �j = T−1�j′

&�% ;6��� j1 = j′1 ��� j2 = −j′20

• 	�� $� �*��� !0l �*�%��u



AF 8
6�
� 9����
 :���
6��1�1 8�40�1

8��
 5u �� .).$-�� &�% &���,�79�� $� */�� �&���'�N�(� �6��� $� 6;�� �� $-� &��-M

,�)���- &��6&$(.-� ��/ � ��$�.*-��$�.�+ ��65�$�� �&+ $�� &6����

T =
[

0 1
1 0

]
= T−10 R$.�� � ��$�.*-��$�.���� */�� �� &���,�79�$�� �&+ $� .)M

.$-��

⎛⎜⎜⎝
0 1
1 0
0 −1

−1 0

⎞⎟⎟⎠( j′1
j′2

)
≤

⎛⎜⎜⎝
2
3
0
0

⎞⎟⎟⎠0 v�� 0 ≤ j′1 ≤ 3 ��� 0 ≤ j′2 ≤ 20

8��
 7u �� ;�6�$� j1, j2 ��$����6.$��$�� �&+ $�% j′1, j′2 �� �7.- $- .*�.- �j = T−1�j′

&�% ;6��� j1 = j′2 ��� j2 = j′10

• 	�� $� �*��� !0o �*�%��u

8��
 5u � */�� �&���'�N�(� &�������� ��� �;/ � 6;�� � ��/ � ��$�.*-��$�.�+ 

��65�$�� �&+ $�� &6����

T =
[

1 0
1 1

]
⇒ T−1 =

[
1 0

−1 1

]
0 R$.�� � ��$�.*-��$�.���� */�� �� &���,�79�$��

�&+ $� .).$-��

⎛⎜⎜⎝
1 0

−1 1
−1 0

1 −1

⎞⎟⎟⎠( j1

j2

)
≤

⎛⎜⎜⎝
2
3
0
0

⎞⎟⎟⎠0 v�� 0 ≤ j′1 ≤ 2 ��� j′1 ≤ j′2 ≤ 3 + j′10

8��
 7u �� ;�6�$� j1, j2 ��$����6.$��$�� �&+ $�% j′1, j′2 �� �7.- $- .*�.- �j = T−1�j′

&�% ;6��� j1 = j′1 ��� j2 = j′2 − j′10


865�� �� .-���(��6 +$� .� ���6� �&+ $� &���&7�( &���&$/.�� ;�� �$�� �&���6$-$- - �9��M

��,� $- ���+;�% YUj� ���/ $� .%.$���$� &�% &����%N�� �$�� +'� .� ���9� ��$7''-'-

,�� *��.- .� 9('��.����% ��+*�% 0 �



��$ �����"�� 0)1��� ��� 
�	���
��	����!�2� &"������!�2� �����2� AD

(	)	( ��.+�,���$
��
-�� ���
� ��
�����-

�d �%$� $-� &��6&$(.- - ;��;���.6� &���,(,� �/;��� �6��� &�� &��6&'��-0 �&( ���9���-��

��� .$-� ��+$-$� !0n� +$�� �9���+5�$�� ��� �-M��������;��6� ��$�.*-��$�.�+ � � ��$�.*-M

��$�.���� */�� �6��� ����+ � � �''�/ &����*�� �&� � ;-'�;� .-��6� $� �&�6� ;�� &��&�� ��

&��.&�'�.$�)� ,�� �� ;��$-�-��6 - ���+$-$� ��� - �&�;�$��+$-$� $�% &��,�7���$� 0 ��''�6

���%�-$� �*�%� �.*�'-��6 �� $-� &���,(,� �/;��� ,�� �-M��������;��6� ��$�.*-��$�.��M

��% */��% �&���'�N�(� wsOW3!x� wsOW3lx� w{PJ3nx� wgA3#x� wYg}3lx0 �'� �� &���&7�(

����;�� .$-�65��$�� .$- *��.- $- ���-$���� �������� ���9� T̃ $�% &6���� T 0 � ��M

��;� &�% &���%.�75�$�� �;/ &��$7�-�� �&+ $�% gA ��� TAQBOHA wgT3nx ��� .$-�65�$�� .$-

*��.- ��+ ��;�7��.�% F��I�	���� */��%0 �� �7.- $� k�/�-�� !0!� � &6���� T �&���6

�� ,��9�6 ( T = T̃U � +&�% U �6��� ��� ��������;��6� &6���� 0 � ��-�-$��+ */�� Ju�

�6��� �%$+ &�% &���)&$�� �&+ $-� �9����,� $�% ��$�.*-��$�.��) U .$�� ��*��+ */��0 v��

�.*)�� J
U−→ Ju ��� Ju T̃−→ J ′0 � ,����� �;�� $- ���+;�% .$-�65�$�� .$-� �)��.- $(� ��6(�

$�% ��-�-$���) */��% ��� .$-� ��$7''-'- $��&�&�6-.� $�% ,�� $�� %&�'�,�.�+ $(� ��6(�

$�% $�'���) */��%0

• 8��
 5� T����J���GE 	D
 ���D
 	�� F��I�	���� 
����U

� ;��;���.6� �6��� &��9��/ - 6;�� &�% &���,�79-�� .$-� ��+$-$� !0o02 1X��� 24� �9�)�

+&( ���9���-��� � U �6��� ��������;��6� ��$�.*-��$�.�+ 0

• 8��
 7� T����J���GE 	D
 ���D
 	�� 	������ 
����U


� luk ��� uu
k �6��� $� 7�( ��� �7$( +��� �6� ��$��'-$� �'�,*�% .$� ��-�-$��+ */��

+&( %&�'�,6.$-��� .$� &��-,�)���� ����� $� ��$6.$��*� 7�( ��� �7$( +��� .$��

$�'��+ */�� �� �6���u l′k = vk + luk t̃kk ��� u′
k = vk +uu

k t̃kk0 �� ;����($���6 &��7,��$� vk

&��.;���65��$�� �&+ $- .*�.- vk = t̃k1j
u
1 + t̃k2j

u
2 + . . . + t̃k(k−1)j

u
k−1� ��/ �� ��$��'-$� 

�ju ∈ Ju ��$����6.$��$�� �&+ $- .*�.- �ju = T̃−1�j′0

• 8��
 A� T����J���GE 	D
 F��H	D
U

����������% �� �&�9),�%�� $- ;�7.*�.- $(� �&/� .$� ��$�.*-��$�.���� */��� �

9('��.���� ��+*� &�% �� $�� ;��$��8�� �� &��&�� �� �*�� �- ����;��6� ����0 ��

����$� �%$7 c1, c2, . . . , cn &��.;���65��$�� 7��.� �&+ $-� ��� $�% &6���� T 0 �.*)���

ck = t̃kk0

• 8��
 C� X
	���	H�	��� 	D
 ��	�F��	�
 ���J
��U

����� �� &���� �7�� ��97��.- $- ��$��'-$� �j ��$����6.$�$�� �� �7.- $� ��$�.*-��M

$�.�+ T � ;-'0 �j = T−1�j′0



AV 8
6�
� 9����
 :���
6��1�1 8�40�1

�
�"!����
 7	F R.$( � 9('��.���� ��+*� $�% �*���$� !0n� &�% �&���'���7��$�� �;/

,�� '+,�% �%��'6� u

��� �j1�
� j1 ≤�� j1���

��� �j2�
� j2 ≤�� j2���

��j1�j2����j1���j2��


�����


�����

�9���+5�%�� .$� ��+*� �%$+ $�� �-M��������;��6� ��$�.*-��$�.�+ T =

⎡⎢⎢⎣ 1 0

3 3

⎤⎥⎥⎦ 1det(T ) =

340 	�� $-� &���,(,� $�% �/;��� $�% ��$�.*-��$�.����% 9('��.����% ��+*�%� ���')�%��

$�� T .$� ,��+���� ��+ ��������;��6�% &6���� ��� ��+ &6���� .� ���� ;-'0 T = T̃U �

�&+$� �*�%��

⎡⎢⎢⎣ 1 0

3 3

⎤⎥⎥⎦ =

⎡⎢⎢⎣ 1 0

2 3

⎤⎥⎥⎦
⎡⎢⎢⎣ 1 0

1
3 1

⎤⎥⎥⎦0 v�� T̃ =

⎡⎢⎢⎣ 1 0

2 3

⎤⎥⎥⎦ ��� U =

⎡⎢⎢⎣ 1 0

1
3 1

⎤⎥⎥⎦0
8��
 5� 
9�) U−1 =

[
1 0

−1
3 1

]
� � ��-�-$��+ */�� �� &���,�79�$�� �&+ $� .).$-��⎛⎜⎜⎝

1 0
−1

3 1
−1 0

1
3 −1

⎞⎟⎟⎠( ju
1

ju
2

)
≤

⎛⎜⎜⎝
3
4
0
0

⎞⎟⎟⎠0

v�� $� +��� $�% */��% �%$�) �� �6��� lu1 = 0� lu2 = 1
3ju

1 � uu
1 = 3 ��� uu

2 = 4 + 1
3ju

1 0

8��
 7� �.*)�� v2 = t̃21j
u
1 = 2ju

1 0 R$.�� $� +��� $�% $�'���) */��% �� �6��� l′1 = lu1 t̃11 =

0×1 = 0� l′2 = v2 + lu2 ×3 = 2ju
1 +1ju

1 = 3ju
1 � u′

1 = 3 ��� u′
2 = v2 + t̃22u

u
2 = 2ju

1 +3(4+ 1
3ju

1 ) =

3ju
1 +120 �.*)�� �&6.- T̃−1 = 1

3

⎡⎢⎢⎣ 3 0

−2 1

⎤⎥⎥⎦� �&����( ju
1 = j′1 ��� $�'��7 &���&7�( ��9�7.�� 

,6���$�� l′1 = 0� l′2 = 5j′1� u′
1 = 3 ��� u′

2 = 3j′1 + 120

8��
 A� �� ����$� $(� ��+*(� ;6���$�� �&+ $- ;��,/��� $�% &6���� T̃ � ;-'0 c1 = t̃11 = 1

��� c2 = t̃22 = 30



��$ �����"�� 0)1��� ��� 
�	���
��	����!�2� &"������!�2� �����2� AQ

8��
 C� �.*)�� T−1 = 1
3

⎡⎢⎢⎣ 3 0

−3 1

⎤⎥⎥⎦� �&����( j1 = j′1 ��� j2 = −j′1 + 1
3j′20

� $�'��+ ��$�.*-��$�.���� �/;��� �6��� ( �8� u

��� �j′1�
� j′1 ≤�� j′1���
��� �j′2���j′1� j′2 ≤�����j′1� j′2����

��j′1��j′1�
1
3j′2����j′1����j′1�

1
3j′2����


�����


����� �

(	)	/ ���
� ��
�����- !"��
��#�$

�d �%$� $-� ��+$-$� �� ���9����)�� .$-� &���,(,� �/;��� ,�� */��% �&���'�N�(� &�%

�*�%� ��$�.*-��$�.$�6 �� $� ��$�.*-��$�.�+ %&���+��(�0 ����75�%�� �%$+ $�� �/;���

�������G ��	��
���	����
� ������0 �� $-� �9����,� ��+ ��$�.*-��$�.��) %&���+��(�

H .� ��� */�� J � &���)&$�%� � �/�� �&���+��(� JS � � �/�� �&���'�N�(� �&���+���%

1]\S4 ��� � �/�� 
�*/� $(� �&���+��(� 1]rS40 �$-� ��+$-$� !0l ;�68��� +$� � ��$�M

.*-��$�.�+ %&���+��(� �6��� ��� ��$�.*-��$�.�+ Zn −→ Z2n� �7$� &�% .-��6��� +$�

��� .-��6� �j ∈ J ��$�.*-��$65�$�� .� ��� ;%7;� nM;�7.$�$(� &���,+�$(� 1�ja, �jb4� +&�% $�
�ja &��.;���65�� $�� %&���+��� .$�� �&�6� ������ $� .-��6� 1�ja ∈ JS4� ��� $� �jb �����65��

$� .%�$�$�,���� $�% .-��6�% ( &�� $-� ��*� $�% %&���+���% 1�jb ∈ TIS40 � .������+ 

��$�.*-��$�.���� �/;��� ���;��$7..�� $- .���7 ;�7.*�.- $(� ��+*(� +&( �%$� �&��7'M

'�$�� �&+ $� ��*��+ &�+,������ - �&�6� ��$�'�,�� �� �*�� $- ���9�u � ! �"!#$ %&'()*+,-

./- 01(- 2&'()*+,34 JS� 5 $60 6$ 7! 689$ ! 67: $6;7$< ": 7:2 2=$<":9>:20 �)�9(�� ��

$� &���&7�(� � .������+ ��$�.*-��$�.���� �/;��� �� �&�$�'�6$�� �&+ 2n 9('��.����% 

��+*�% 0 �� n �8($����+$���� ;��.*65�%� $� �/�� �&���+��(� JS � *�-.���&��/�$� $� 

��$��'-$� �'�,*�% tS1 , tS2 , . . . , tSn ��� �� n �.($����+$���� &��.&�'�)��%� $� .-��6� .$� �.(M

$����+ $�% $��*��$� %&���+���% &�% %&�,���)�%� $� tS1 , tS2 , . . . , tSn � *�-.���&��/�$� $� 

��$��'-$� �'�,*�% j′1, j′2, . . . , j′n0 �%���'65�%�� �� lSk � uS
k $� �7$( ��� 7�( +��� ��$6.$��*�

$- ��$��'-$� �'�,*�% tSk 0 ������ .%���'65�%�� �� l′k� u′
k $� �7$( ��� 7�( +��� ��$6.$��M

*� $- ��$��'-$� �'�,*�% j′k0 �� +'� $� &���&$/.�� $� �7$( +��� Lk �6��� $- ���9� 

Lk = max(lk,0, lk,1, . . .) ��� $� 7�( +��� $- ���9� Uk = min(uk,0, uk,1, . . .)� +&�% lk,j� uk,j

�6��� ,������� .%���$�.�� $(� �8($����+$��(� ��$��'-$/� �'�,*�%0 
� %&�'�,6.�%�� $�% 
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&��7,��$� lS1 , . . . , lSn � uS
1 , . . . , uS

n � l′1, . . . , l
′
n ��� u′

1, . . . , u
′
n� $+$� �� ;��.*6.�%�� $� ��$�.*-M

��$�.���� */�� +&( %&�,���)�� � ��$�.*-��$�.�+ %&���+��(�0

�� &���&7�( &�+�'-�� �&���6 �� ;��*(��.$�6 .� ;)� %&�&���'���$�u $- ;�7.*�.- $�%

�/��% �&���+��(� JS ��� $-� &��.&�'�.- $(� .-��6(� .$� �.($����+ $(� %&���+��(�� ��

.)�9(�� �� +.� ���9���-��� &���&7�(� .$�� %&�'�,�.�+ $(� �7$( ��� 7�( ��6(� $(� n

�8($����+$��(� ��$��'-$/� �'�,*�% tS1 , tS2 , . . . , tSn ��� $(� �7$( ��� 7�( ��6(� $(� n �.($�M

���+$��(� ��$��'-$/� �'�,*�% j′1, j′2, . . . , j′n0 �� GQE=P@D ��� \@AB=AQ wG\32x �;(.�� �6� ').-

.$� .%,��������� &�+�'-��� ��$�.��%75��$� ��� .).$-�� ���.�$�$(� ,�� �7�� %&�&�+�'-M

��0 ����������% �� ;��.*6.�%� $� �/�� �&���+��(� JS � ;-���%�,�6$�� $� &�/$� .).$-���

�� $- .%���(.- $(� ���.�$�$(� &�% &���,�79�%� $�� ��*��+ */�� ;���$/� ��� $(� ���.�$�M

$(� &�% &���,�79�%� $� ��$�.*-��$�.�+ %&���+��(� 1
��.+$-$� 1!0p440 
&+ $-� ��+$-$�

!0l ,�(�65�%�� +$� ��� .-��6� �j ∈ J &�% ������ .� ���� %&���+��� �� ��*� $� �j0 ∈ TOS�

�&�'-��)�� $� .).$-�� ���.�$�$(� S(�j − �j0) ≤ �s0 �.*)�� �&6.- �j0 = P �jS � �&����( $�

&��-,�)���� .).$-�� ,6��$��u

(
−gI gH

gI −gH

)(
�jS

�j

)
≤ �s0 �&�&�+.��$�� $� .-��6� �j ∈ J

�&�'-��)�� $� .).$-�� ���.�$�$(� &�% &���,�79�� $�� ��*��+ */��� B�j ≤ �b0 � .%�;%�.�+ 

$(� ;)� �%$/� .%.$-�7$(� ;6���u

⎛⎜⎝ 0 B

−gI gH

gI −gH

⎞⎟⎠( �jS

�j

)
≤
(

�b

�s

)
1!0m4

����������% �� ;��.*6.�%�� $� �.($����7 .-��6� $(� %&���+��(�� $� &���&7�( .).$-��

�&���6 �� ,��9�6 �� $- ���9�u

⎛⎜⎝ B

gH

−gH

⎞⎟⎠�j ≤

⎛⎜⎝ �b

(g − 1)�1 + g �jS

�0 − g �jS

⎞⎟⎠ 1!034

+&�% $� ;�7�%.�� �jS ;6��� $� .%�$�$�,���� $�% %&���+���% $�% �&�6�% $� .-��6� �� &��M

.&�'�.$�)�0 �� GQE=P@D ��� \@AB=AQ &��$�6��%� $- *��.- $- ���+;�% YUj .$� &���&7�(

.%.$���$� ,�� $-� �8�,(,� ��9�7.�(� &�% �� �&�$��&�%� $- ;�7.*�.- $�% ��$�.*-��$�.����%

9('��.����% ��+*�% �� ��� 2nM;�7.$�$� 9('��.���� ��+*�0
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��6 �� &���*��6 �/;��� ,�� $� 9('��.���� ��+*� ��� $� ��$�.*-��$�.�+ %&���+��(� $�%

����;�6,��$� !0#0 �� .).$-�� ���.�$�$(� 1!0m4 .d �%$� $-� &��6&$(.- ,6��$��u⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 0 1 0
0 0 0 1
0 0 −1 0
0 0 0 −1

−20 0 4 −2
0 −20 −1 3

20 0 −4 2
0 20 1 −3

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎝
jS
1

jS
2

j1

j2

⎞⎟⎟⎠ ≤

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

39
29
0
0
19
19
0
0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠


� �9���+.�%�� $- ����;� YUj� $� .).$-�� &�% &���)&$�� �6��� $� �8� u

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0
−1 0 0 0

1 4 0 0
0 1 0 0
3 2 0 0

−1 −4 0 0
−3 −2 0 0

0 −1 0 0
−5 0 1 0

0 20 1 0
−6 −4 1 0

0 0 1 0
0 −20 −1 0
5 0 −1 0
6 4 −1 0
0 0 −1 0
0 0 0 1
0 −20 −1 3

10 0 −2 1
0 0 0 −1

−10 0 2 −1
0 20 1 −3

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎝
jS
1

jS
2

j1

j2

⎞⎟⎟⎠ ≤

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

7
3
14
4
19
4
4
2
19
87
9
39
19
0
0
0
29
19
0
0
9
0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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1 ��� jS

1 ≤�� jS
1 ��	
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2 �
���

−4−jS
1

4


−4−3jS

1
2


��	� jS
2 ≤ 
���

14−jS
1

4
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1

2
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2 ��	

��� �j1�
���������j
S
2 
�j

S
1 
�j

S
1 ��j

S
2 
�	� j1 ≤ 
�������jS

1 
�����j
S
2 
���j

S
1 ��j

S
2 
��	� j1��	

��� �j2�
����
���j
S
1 ��j1��


20jS
2 +j1
3

	� j2 ≤ 
�����

19+20jS

2 +j1
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���jS
1 ��j1	� j2��	

��j1
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��L \�����GJ��� ��+ 9('��.����% ��+*�% �6��� - ;��;���.6� �&���+��.- $(� �&���M

'�N�(� $�% ��+*�% .� ;��9���$��� *������ .$�,�� 0 ���&+ $- *������ ;����'+,-.- 

�6��� - �)��.- $�% ��,�.$�% &���''-'�.��)� �$.� /.$� �� ����)��� +.� $� ;%��$+� &���..+M

$��� � *�+�� ��$�'�.- $�% ��+*�%� *(�6 +�( �� �''78�� - '�,��� ��� $� �&�$�'�.��$�

$- ���'�%����� ��� ��$�'�.- 0 �� 7''� '+,��� �7�� *������ ;����'+,-.- &��&�� �� �6���

�,�%�-� ;-'�;� �� ��$�&65�� ,�� �7�� *������ .$�,�� +'� ���6�� $� .$�,��+$%&�M�&���'�N�� 

$�% 9('��.����% ��+*�% &�% �&���)� �� ��$�'�.$�)� $�%$+*����� ;��$-�/�$� +�( $� 

.*�.�� �8��$�.�(� &�% �6*� ��*��7 � 9('��.���� ��+*� 0 R$.�� �� ;)� �&���'�N�� $�%

9('��.����% ��+*�% �j1 ��� �j2 �*�%� �87�$-.- ��$�8) $�% � ;-'�;� �.*)�� �j2 = �j1 + �d� $+$�

- �87�$-.- �%$� &��&�� �� ;��$-�-��6 ��$7 $- *������ ;����'+,-.- $�% ��+*�%� ;-'�;� $�

.$�,��+$%&� �j2 &��&�� �� $�&���$-��6 *�����7 ��$7 $� .$�,��+$%&� �j10 � $%&��+ ���.�+ $- 

*������ ;����'+,-.- ;6��$�� .$- .%��*���u

>��6�4� 7	Q a��
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GE CD������
�� F�G
�� �
��HP�	�� � ��
H�	��� s :

J → N 	�	��� ��	�( J�� ������L��	� P��J�E �����D
 �j1( �j2( 
� ��
��� s(�j2) > s(�j1)( �


�j2 = �j1 + �d( G��� �d ∈ DU
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&���)&$�� �� $-� �9����,� ��� ,������� .%�7�$-.- .$� .$�,��+$%&� ��+ 9('��.����%
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>��6�4� 7	5E c������L a��
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GE CD������
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��
��L ������GJ��� sΠ 	�	��� ��	�( J�� �HI� �j ∈ J : sΠ(�j) = �Π�jT +c
dispΠ 	( G��� Π ∈ Z1×n

��� dispΠ = min{Π �dT
i : �di ∈ D}( c = t0 = −min{Π�jT : �j1 ∈ J}U

�$�� &���&7�( ���.�+ $� ;�7�%.��M,����� Π �6��� $� J������G ��H
���� ������GJ���E

1HAQJO@ IECJLPHAQB KJED=@4� - .$����7 t0 '�,�$�� �	�I��H �
��Q�E ��� - .$����7 dispΠ �	�I��H

��	�	G����E0

(&9 ��!�#
� �
	��2:�
!

�%��N65��$� � �� &���%.�7.�%�� $� ���$�'� $(� �',��6��(� .$�% �&�6�% ���9���$�� -

&���).� ��,�.6�0 R$.�� �� �',+������ &�% �� �9���)� �*�%� $� �8� �;�+$-$� u

• �6��� 	����� CD������
�� F�G
��0 ���65�%�� �;/� +$� � ��$�.*-��$�.�+ %&���+��(�

�*�� &��$���6 ,�� $�'��� 9('��.����% ��+*�% 0

• �� �8��$�.�� $�% 9('��.����% ��+*�% �6��� �	�I���E 1E=QIDOQD4 ��� ����G���C�E 1PQAM

^=@W40 � &������.�+ �%$+ $6��$�� ,�� �� �6��� ;%��$� - �%$+��$- &���,(,� $(�

.%�+'(� �&�����(�6� 1��97'��� n40

• � �',+����� �*�� n ,������7 ���87�$-$� ;���).��$� �87�$-.- 0 ��+���$�� ;-'�;� ,��

�	
�
	�� ��+*�% 0 
� $� ,������7 ���87�$-$� ;���).��$� �6��� '�,+$��� �&+ n� $+$� �

9('��.���� ��+*� �&���6 �� ��$�.*-��$�.$�6 �$.� /.$� �� &����*�� �	
�� ��+*�% ���

�&����( �&���)� �� �9����.$�)� 7''� ����;�� &���''-'�&�6-.- ,�� $-� �&6$�%8-

�&�;�$���) &���''-'�.��) ��� ;�� �6��� �&���6$-$- - �9����,� $�% ��$�.*-��$�.��)

%&���+��(�0

• �� ��,��� $(� ;���%.�7$(� �87�$-.- �6��� ����+$��� �&+ $� ��,��� $(� %&���+�M

�(�� �&����( $� ;���).��$� �87�$-.- .%�;��%� .-��6� &�% ��6.���$�� �6$� .$� �.(M

$����+ ��+ %&���+���% � .� %&���+���% &�% �97&$��$��0 R$.�� ��(��)�� +$� $�
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��$�.*-��$�.���� ;���).��$� �87�$-.- �dS &����*�%� �+�� �-;����7 ��� ���7;� 0 �

&���;�*� �%$� �6��� �&�')$( '�,���� �9�) .$-� &�78- $� ��,��� $�% %&���+���% �6���

$78�� ��,���% ��,�')$��� �&+ $� ��,��� $(� ;���%.�7$(� �87�$-.- 0 �$- .%�$��M

&$��� &'���N-96� $(� &���&$/.�(�� �� �8��$�.�� �9���)� ,��$����7 .-��6� $�% */��%

�&���'�N�(�0 
�$6��$�� ��� %&���+��� &���������% �� ��.(��$/.�� ����+ +,�� %&�M

'�,�.��)� /.$� �� ���(��6 - �&��7�%�.- '+,( �&�����(�6� � &���'���7��� ���$��$7;� 

� ��� *�'�7;� �&���'�N�� 0

• ��� %&7�*�%� ��$��8��$�.�� ��� �8��$�.�� �8+;�%0 k�(��)�� ;-'�;� +$� �7�� .$�,M

��+$%&� $(� ;���$/� $�% ��+*�% ,�79�� .� ����;��+ .-��6� $- ����- 0 	����7� �� ��$��M

8��$�.�� ��� �� �8��$�.�� �8+;�% ��+ �',��6���% �&���)� �� �&�'��9��)� w<Vs}3mx0

• �� ��+*�� &����*�%� �6� ��$�'� ��7��.- .� ���� &6���� ;�;����(�0 � &���;�*� �%$�

,6��$�� ,�� �� �&'�&��-��)� �� .%���'�.��6 ��� �� ��9�7.�� &�% *�-.���&���)�$�� .$-�

&���).� ��,�.6�0 �'� �� $�*���� &�% &��$�6���$�� �&���)� �)��'� �� �&��$���)� .�

&���..+$��� ��$�'� ��7��.- ��� &6���� ;�;����(�0

�� �7.- $� &���&7�( �� �',+������ &�% �� �&�.*�'�)� �� �*�%� $- ���9�u

��� �j1�l1� j1 ≤ u1� j1��c1�

��� �j2�l2� j2 ≤ u2� j2��c2�

���

��� �jn�ln� jn ≤ un� jn��cn�

��?w(�j)������?w��j� �d1���. . .� ��?w��j� �dq����
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�����


�����

�$�� &���&7�( �/;���� A �6��� � &6���� ;�;����(�� fw : Zn → Zk �6��� - .%�7�$-.-

�,,��9� .$�� &6���� A ��� �d1 . . . �dq $� ;���).��$� �87�$-.- $�% �',��6���% 1q ≥ n40 �$-

.%��*��� ;6��$�� � ���.�+ $�% �/��% ��;����(� 1VODO S>OEJMVS4 ��+ 9('��.����% ��+*�%

.�� �%$+� &�% &���,�7N��� &���&7�(0
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�/;��� &�% %&���)�%� .$� ���$�'� &�% &���%.�7.$-��� .%���$/�$�� &�') .%*�7 ��$7 $-�

�����-$��� �&6'%.- �����/� ;��9����/� �8�./.�(�0 ��� .%,���������� &���'���$� ;�7*%.- 

����+$-$� � ��$7;�.- ;%������)� &���'���$� ��%.$�;%������ �0'0&0 ���$�'�&���)�$��

.�� &���'���$� �����/� ;��9����/� �8�./.�(� ��*��/� �����/� .%��-�/�� $� �&�6� �&�')�M

�$�� �����-$��7 �� $- ������� 9('��.���(� ��+*(� &�% �*�%� $� &���&7�( *����$-��.$��70

�$� ���7�$-�� X &���%.�75�%�� &��$� $�$���% �/;��� �� �&�6�� �� *�-.���&��-��)� ���

.$� &���7��$� $�% ��9�'�6�% l0
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�βk �pi ≥ g−1

g
�βk �pi

h��CD
� �� 	�
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;��%�%���� */��� �''7 ������ �&+ $� �.($����7 $�% .-��6� ;�� ������ .$�� ��*��+ */��0

���9��/ $� ,�,��+ �%$+ �6��� ���&��)�-$� ���/ &��.��$�� �&�&'��� ;��.*6.�� %&���+�M

�(� ��$7 $-� ��$�'�.- $�% $�'���) �/;���0 �&��;� +�( �� &'���75��$� %&���+���� �6���

&�') '6,�� .$�� �����+ ��� .� .%�;%�.�+ �� $� ,�,��+ +$� ;�� �� ;��.*�.$�)� $� �.($����7

$�% .-��6� 1+&( �� 9���6 .$-� �&+���- ��+$-$�4� $� �+.$� $- ;�7.*�.- $(� �&�&'���

�%$/� %&���+��(� �6��� �-;����+0 
%$+ &�% �&�$%,*7��%�� $�'��7� �6��� �� ;-���%�,�.�%M



��� #� ����
 /�������"! ;Q

���
�
��� �������� �� �p1 ���
�
��� �������� �� �p2 ����"���

�β1 < 0 < 0 −�p1β̂1 − �p2β̂1

�β2 > 0 > 0 −
�β3 < 0 < 0 −�p1β̂3 − �p2β̂3

�β4 < 0 > 0 −�p1β̂4

�6���� #0!u �'�.��.�� $�% ��*���) */��% ,�� $� �*��� #0n

�� ��� &�') ����+$��� .).$-�� ���.�$�$(� .� .*�.- �� $� 1!0m4� &�% &���'���7��� +'�% 

$�% &�� ;�7.*�.- %&���+���% � �� ����;��+ �������$-�� $- ;�7.*�.- &�') �����) ������)

�&�&'��� %&���+��(�0

�
�"!����
 A	5 k� ;��.*6.�%�� $� �/�� �&���+��(� JS &�% ;-���%�,�6$�� �&+ $� ��$�M

.*-��$�.�+ %&���+��(� &�% &���,�79-�� .$� ����;�6,��$� !0# ��� !0n0 �� �7.- $-� &��.�,M

,�.- &�% &���,�7N���� &��&�� �� ��$�.��%7.�%�� $� .).$-�� ���.�$�$(� 1#0#4 *�-.���&��/M

�$� $-� ��9��.- 1#0240 � ��9��.- 1#024 .$-� &��6&$(.� �� ;6��� �b′ =
[

39 29 9.5 9.5

]T

��� �$.� $� .).$-�� 1#0!4 ,6��$��u

⎛⎜⎜⎝
6 4
2 8

−6 −4
−2 −8

⎞⎟⎟⎠( jS
1

jS
2

)
≤

⎛⎜⎜⎝
39
29
9.5
9.5

⎞⎟⎟⎠

� ;��)�%�.- $(� ��6(� $�% &���;�6,��$� �%$�) 9�6��$�� .$� �*��� #0#0 �6� &�+*���-

�9����,� $- ���+;�% YUj &�''�&'�.�75�� $- ,����� 2 �� $- ! ��� $- &��.��$�� .$- ,�����

n0 R$.�� &�6���%�� 10jS
1 ≤ 87.5 ⇒ jS

1 ≤ 80 ����� &�6���%�� jS
1 ≥ −40 �&����( � ��+*� 

&�% �� ;��.*65�� $� ��*� $(� %&���+��(� ,�� $� &��7;��,�7 �� �� �*�� $- ���9�u

��� �jS
1 ���� jS

1 ≤�� jS
1 ���

��� �jS
2 ��@A��−9.5−6jS

1
4 �, �−9.5−2jS

1
8 ��� jS

2 ≤����� 39−6jS
1

4 	, � 29−2jS
1

8 	�� jS
2 ���

. . .



FE �
�
���� �����

�� ?��
60��
��6��1��  B!�




�����


�����

�� %&���+���� (8,−3) ��� (−4, 4) �6��� &'���75��$� 1�*��� #0#40 �

*&* /������� '���2
! ��� ,�
������ �
! ������� 
!

�$-� ��+$-$� �%$� �� &���%.�7.�%�� �6� ��� ����;� ,�� $-� &���,(,� �/;��� &�% ;��.*65��

$� �.($����7 .-��6� $(� %&���+��(�0 R$.�� �� �7.- $� +.� �*�%� ��&(��6 ( $/��� .��&+ 

$- ���+;�% �6��� � ������.�+ $(� ��6(� $(� n �.($����+$��(� ��+*(� $�% .�������) ��$�M

.*-��$�.����% �/;���0 �&����( � ,�� �7�� ��$��'-$� �'�,*�% j′k� &��&�� �� %&�'�,6.�%��

$� �7$( ��� 7�( +��7 $- l′k ��� u′
k0 �� GQE=P@D ��� \@AB=AQ ,�� $� .%,��������� &�+�'-��

&��$�6��%� $-� ��$�.��%� $�% .%.$���$� 1!0p4� $� �&�6� �&�'-��)�$�� �&+ $� .-��6� .$�

�.($����+ $(� %&���+��(�� ��� $� .%�;%�.�+ $�% �� $� .).$-�� 1!0!4� &�% &���,�79�� $��

��*��+ */��0

�&( ���9���-�� ��� &��-,�%���( � - &���&7�( ;��;���.6� ;-���%�,�6 ��,7'� �����+

&�78�(� .$-� �&�$6�-.- $(� ��6(� $�% ��+*�%0 � &��$���+���- ����;� �&'�&���6 $� ��9�7M

.�� �&�$6�-.- $(� ��6(� $�% ��+*�%� ��$�.*-��$65��$� $�% �-M����,/���% %&���+���% 

.� ����,/���% 0 R$.�� ,�� $- ;�7.*�.- ��+ �-M����,/���% %&���+���%� ;��.*65�%�� $�� ��$6M

.$��*� ����,/��� ��� ��$�.*-��$65�%�� $� ��$��'-$� �'�,*�% /.$� �� &��.&�'7.�%�� $�

��$7''-'� .-��6�0 ��-.���&��/�$� $-� ���'�,6� &�% ��.�*�- .$-� ��+$-$� !0l� �%.��.$��7

��$�.*-��$65�%�� $� �/�� �&���'�N�(� �&���+���% 1]\S4 .� ��� ����,/��� */��� $� ��M

$�.*-��$�.���� �/�� �&���'�N�(� �&���+���% 1]@OQI^=@WJL ]AHJ \DJ@ODA=Q S>OEJM]]\S40

���.*65�%�� $�� ����,/��� ]]\S ��� ��$�.*-��$65�%�� $� ��$��'-$� �'�,*�% /.$� ��

��$�9����)�� .$� ��$7''-'� .-��6� $�% ]\S0 � &���&7�( ;��;���.6� $��&�&���6$�� ��$7'M

'-'� /.$� �� ;��.*6.�%�� $� �.($����7 .-��6� �&���%;�&�$� %&���+���% ��� ��;��7 �%$/�

&�% ;�� �6��� &'���� � �&��;� ��6.���$�� .$� +��� $�% ��*���) */��% �&���'�N�(�0 � ����M

;� �&���6 �� *(��.$�6 .� $�6� ����$�u $�� &��.;����.�+ $�% ��$�.*-��$�.��)� $- ;�7.*�.-

$�% �/��% �&���'�N�(� �&���+���% ��� $- ;�7.*�.- +'(� $(� .-��6(� $�% ��*���) */��%

�&���'�N�(�0 �� ����$� �%$7 �� &���%.��.$�)� .$� ��+$-$� &�% ���'�%��)�0
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��-"! �	� ��"	����� 	"! /�������"! F5
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������

	�� �� ��$�.*-��$6.�%�� $� �/�� �&���'�N�(� �&���+���% .� ��� ����,/��� */�� ��� ��$�M

.$�+9( � ���5-$�)�� ��� 5�),� ��$�.*-��$�.�/� 1P ′� H ′4u TTIS
P ′−→ TIS ��� TIS

H′−→
TTIS 1�*��� #0l40 ����.�-$��7� �&��$�)�� � P ′ �� �6��� &��7''-'� .$� &'�%�� $�% %&��M

�+���%� ;-'�;� $� ;���).��$�M.$�'� $�% P ′ �� �6��� &��7''-'� .� �%$7 $�% P 0 �.�;)�����

�� �7.- $�� ���.�+ $(� &��7�(� H ��� P � �&��$�)�� $� ;���).��$�M,����� $�% &6���� H ′

�� �6��� &��7''-'� .$� ;���).��$�M,����� $�% H0 �&�&�+.��$�� �&��$�)�� $� &'�,�� $�%

H ′ �� �6��� */�� �����6(�� �)$( /.$� �� �&���6 �� ;��.*�.$�6 �&+ ��� 9('��.���� ��+*�0

�%&��7� ���5-$�)�� ��� nM;�7.$�$� ��$�.*-��$�.�+ H ′� � �&�6� �� �����&���6 $� �8� ;)�

�&��$�.�� u

20 L(H ′) ⊆ Zn

!0 H ′ = V H� +&�% V �6��� ��� n × n ;��,/��� &6���� 

�� '���� &�% ���'�%��6 �&�;����)�� +$� - &�/$- �&�6$-.- �.*)�� �� ��� �+�� �� � H ′ �6���
������� 0

P’

H’

j
1

j
2

j'
1

j'
2

Χώρος Επαναλήψεων
Υπερκόµβου (TIS)

Μετασχηµατισµένος Χώρος
Επαναλήψεων Υπερκόµβου (ΤTIS)

�*��� #0lu ��$�.*-��$�.�+ $�% �/��% �&���'�N�(� �&���+���% .� ����,/��� */��

����
 A	7 �j′ = A�j ∈ Zn ∀ �j ∈ Zn �
 ��� �G
� �
 � A ��
�� ��
���E ������D
U
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3�4!���� A	7 X
 � A ��
�� ��
���E ������D
 	G	� ��
�� ���C�
�E G	� �j′ ∈ Zn ∀ �j ∈ ZnU

c�� 	�
 ��G���Q� 	�� �
	��	�GC�� ���I�	���� G	� �j′ ∈ Zn ∀ �j ∈ ZnU j� ������Q���� G	� � A

��
�� ��
���E ������D
U aD��E F�HF� 	�E J�
��G	�	�E( �����J���� 	� �j 
� ��
�� �j = ûk( G���

ûk ��
�� 	� k9�	G ��
������ ��H
����( ûk = (uk1, . . . , ukn)( ukk = 1, ukj = 0, j �= kU eG	�(

���CD
� �� 	� �����H
D( I� ��
��� Aûk = [
∑n

i=1 a1iuki
,
∑n

i=1 a2iuki
, . . . ,

∑n
i=1 aniuki

]T =

[a1k, a2k, . . . , ank]T ∈ ZnU _����L ��	G ��
��� J�� G�� 	� ûk, k = 1 . . . n( ��������
���� �DE

� A ��
�� ��
���E ������D
U �

�&���)�� �� ��$�.��%7.�%�� $�� &6���� V �� $�� �8� $�+&�u �7�� ;��,/��� .$��*�6�

vkk �6��� � ����+$��� ��$��+ ������� $�$��� /.$� � vkk
�hk �� �6��� ������� � +&�% �hk �6���

- kM.$� ,����� $�% &6���� H0 �d �%$+� $�� $�+&�� ��� �� ;)� �&��$�.�� ,�� $�� &6���� H ′ ��
�����&���)�$��0 �6��� &��9��� +$� .$- ,����� &��6&$(.- � H ′ �6��� ��� �-M��������;��6� 

��$�.*-��$�.�+ 0 
%$+ .-��6��� +$� � ��$�.*-��$�.���� �/�� �&���'�N�(� �&���+���%

�� &����*�� �&� 0 �� �&� .$� �*��� #0l �&�����65��$�� �� '�%�7 .-��6�0

/	/	( 1��� ��� ��� 2���� 0"
$
��3��$ !"��
��#�� 456�7

�&( ���9���-�� ��� &��-,�%���( � ,�� �� ;��.*6.�%�� $� �/�� �&���'�N�(� �&���+���%�

�� ;��.*6.�%�� $� ��$�.*-��$�.���� �/�� �&���'�N�(� �&���+���% ��� �� �&�.$��N�%��

.$� ��*��7 .-��6� �� $�� ��$6.$��9� ��$�.*-��$�.�+0 �%.��.$��7� &��&�� �� ,����.�%��

��� nM;�7.$�$� 9('��.���� ��+*� �� ��$��'-$� �'�,*�% j′1, j
′
2, . . . , j

′
n� ,�� �� ;��.*6.�%�� $�

*/�� &�% &���)&$�� �&+ $-� �9����,� $�% �-M��������;��6�% ��$�.*-��$�.��) H ′ .$� �/��

�&���'�N�(� �&���+���%0 k� �&���).� �� �9����.$�6 - ����;�'�,6� &�% &���%.�7.$-��

.$-� ��+$-$� !0o0!� � �7&��� �&+ $� ����;�'�,6� $(� ��,�.�/� wsOW3!x� wsOW3lx� w{PJ3nx�

wgA3#x� wYg}3lx0 �$-� &��6&$(.� �� � '+,( $- �������+$-$� $(� %&���+��(�� $� &�7,��$�

�6��� &�� �&'7 ��� �$.� - &���,(,� $�% 5-$�)����% �/;��� �&�$%,*7��$�� ���'�%�/�$� $�

&����7$( $�6� ����$� ��� �7'�.$� *(�6 �� �6��� ���,��6� - �9����,� $- ���+;�% YUj0

• 8��
 5� T����J���GE 	D
 ���D
 	�� W�	��
���	����
�� a���� _��
��LM�D
 T���9

�G�F��U



��� #� ����
 �
��-"! �	� ��"	����� 	"! /�������"! FA

�� '���� &�% ���'�%��6 ;6��� $� 5-$�)���� +��� $�% ��$�.*-��$�.����% �/��% �&�M

��'�N�(� �&���+���%0

����
 A	A X
 �j′ ∈ TTIS 	G	� I� ��
��� 0 ≤ j′k ≤ vkk − 1, k = 1, . . . , nU

3�4!���� A	A X�G 	�
 �����G 	�� a���� _��
��LM�D
 T����G�F�� J
D��P���� G	�

J�� 	� ������ �j ∈ TIS ��
��� �H�j	 = 0( L �����
��� 0 ≤∑n
i=1 hikjk < 1, k = 1 . . . , nU

b���������HP�
	�E �� vkk I� �
���� 0 ≤ vkk
∑n

i=1 hikjk < vkkU X�G 	�
 �����G 	��

W�	��
���	����
�� a���� _��
��LM�D
 T����G�F�� ��
��� j′k = vkk
∑n

i=1 hikjk( H��

0 ≤ j′k < vkk ⇒ 0 ≤ j′k ≤ vkk − 1U �

• 8��
 7� T����J���GE F��H	D
 ��� ��
���
 	���
 J�� 	�E ��	�F��	�E ���J
��U

�� ����$� ��� �� ��*��� $��� $(� ��$��'-$/� �'�,*�% ;�� �6��� �&���6$-$� ����;��6�

��� �-;����7 ��$6.$��*�0 
%$+ .-��6���� &( �� �6� ��$��'-$� �'�,*�% �%8-��6 ��$7

���� ck� +'� �� ��$��'-$� j′k+1, . . . , j
′
n �� &��&�� �� ��*���&��-��)� .� �7&��� ��*��� 

$��� a(k+1)k, . . . , ank0

�&���$�%�� &( ,�� ��� ;�7�%.�� �&���'�N�(� �j′ .$� ��� ��+*� �.*)�� P ′�j′ ∈ Zn0 ��

&�/$� ��/$-�� �6��� &+.� &��&�� �� �%8�.�%�� $-� �.($����+$��- ��$��'-$� �'�,*�%

j′n� �$.� /.$� $� �&+���� .-��6� &�% �� .��(��6 �� �6��� �������0 �%&��7� ���5-$�)�� $�

�'7*�.$� cn ∈ Z� �$.� /.$� P ′
[

j′1 j′2 . . . j′n + cn

]T ∈ Zn0 ��$7 $�� ������.�+ $�%

cn� $� �&+���� ���� �6��� �� %&�'�,6.�%�� $� ���� $- ��$��'-$� �'�,*�% j′n−1 �$.�

/.$� $� �&+���� .-��6� �� �6��� �������0 �d �%$� $-� &��6&$(.-� �6��� ;%��$+� - ��$�M

�'-$� �'�,*�% j′n �� &��&�� �&6.- �� $���6 .� �6� ��*��� $��� an(n−1) : 0 ≤ an(n−1) < cn0

�$- ,����� &��6&$(.- $�% ;�6�$- j′k� &��&�� �� �����6.�%�� $� ck, a(k+1)k, . . . , ank �$.�

/.$�u P ′
[

j′1 . . . j′k + ck j′k+1 + a(k+1)k . . . j′n + ank

]T ∈ Zn0 �7�� ��$��'-$�

�'�,*�% j′k �*�� k − 1 ;��9���$��� ��*��� $��� aki� ��7'�,� �� $� &��� �&+ $� k − 1
�8($����+$��� ��$��'-$� �'�,*�% �*�� �+'� �%8-��60 
%$� �� ��*��� $��� �6���

ak1, . . . , ak(k−1)0 �� '���� &�% ���'�%��6 �&�;����)�� +$� $� ����$� ck ��� �� ��*��� 

$��� akl� 1k = 1 . . . n OQL l = 1 . . . k − 14� �&���)� �� &���)N�%� �&�%��6� �&+ $-�

���-$���� �������� ���9� $�% &6���� H ′� &�% .%���'65�$�� �� H̃ ′ 1�*��� #0o40
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����
 A	C X
 H̃ ′ ��
�� � _`W 	�� ��
��� H ′ ��� �j′ = (j′1, j
′
2, . . . , j

′
n) ��
�� 	� ��H
�9

��� ���
��LM�D
 ��� 
�����������	�� J�� 
� ����
���� 	� ����FL ������ 	�� L(H ′)(

	G	� 	� FL�� 	�� ����	� j′k I� ��
�� ck = h̃′
kk ��� �� ��
���E 	���E I� ��
�� akl = h̃′

kl(

/k = 1 . . . n ��� l = 1 . . . k − 15U

3�4!���� A	C X�G 	� j�D�L��	� 3U? ��� 3U3 J
D��P���� G	� L(H ′) = L(H̃ ′)U [	��(

�0 ∈ L(H ′) ��� �� �	L��E 	�� H̃ ′ �����E �
L���
 �	� L(H ′)U j� ���Q���� �DE �


Q���
L����� ��G �
� ������ ��� �
L��� �	� L(H ′)( 	G	� 	� ������ ��� I� �����9

M�� ����I�	�
	�E ������L��	� ��9����
��G( ��Q���J��C��H ����G	��� ��H
���� ��G 	�

���
����	�9�	L��E 	�� H̃ ′ ��
 I� �
L��� �	� L(H ′)U W� H��� �GJ��( 	� FL��	� ���

�� ��
���E 	���E 	�� P�	����
�� F�G
�� ��
 I� ������
 
� �����M��
 ��G ���
����9

	� ��Q���J��C��H ����G	��� 	D
 �	���
 	�� H̃ ′U aD��E F�HF� 	�E J�
��G	�	�E( I�

I�D�L����� �DE 	� 	��
�
 ������ ��� L�� �
L��� �	� L(H ′) ��
�� 	� �0U [�	D 	�

��H
���� �x ∈ Zn/�0 �� 	�E ��G���I�E ���G	�	�ER xi = 0 J�� i < k ��� 0 ≤ xi ≤ h̃′
ik

J�� k ≤ i ≤ nU b��C�
�E ��
��� �x ≤ h̃′
k( G��� h̃′

k 	� k9�	G ��H
���� �	L�� 	�� H̃ ′U

X���� 
� ������Q���� �DE �x /∈ L(H ′)U X
 ���I������ G	� �x ∈ L(H ′)( 	G	� I� ��
���R

∃ �j ∈ Zn : H̃ ′�j = �xU _����L � H̃ ′ ��
�� �
�E �H	D9	��JD
��GE ��9��
�	��GE ��
���E

I� ��
���R x1 = h̃′
11j1 = 0 ⇒ j1 = 0U k����( ji = 0 J�� i < kU [	�� I� ��
���R

xk = h̃′
kkjkU h��CD
� �� 	� �����H
D I� ��
��� �����ER 0 ≤ xk = h̃′

kkjk ≤ h̃′
kk ⇒

0 ≤ jk ≤ 1U _����G�I�	�( 0 ≤ xk+1 = h̃′
(k+1)kjk + h̃′

(k+1)(k+1)jk+1 ≤ h̃′
(k+1)kU X�G

	�
 �����G 	�E _`W 	�� ��
��� J
D��P���� �DE h̃′
(k+1)(k+1) > h̃′

(k+1)k ⇒ jk+1 = 0U
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k����( ji = 0 J�� i > k + 1U _����
DE �x = �0( L �x ��
�� � k9�	L �	L�� H̃ ′( �����L

��
 ������ 
� ��H�Q�� ��9����
��G ��Q���J��C��H ����G	��� ��H
���� ��G 	�
 k9�	L

�	L�� 	�� H̃ ′ ��� 
� �
L��� �	� L(H ′)U b��C�
�E( ��
 ������ 
� ��H�Q��
 ��Q���J��9

C��H ��J���	��� ���
����	� ��G 	�E �	L��E 	�� H̃ ′ ��� 
� �
L���
 �	� L(H ′)( ��	GE

��G J��������E ��
�������E 	D
 �	���
 	�� H̃ ′U X�	G ���F��
�� J��	� �HI� ��Q���9

J��C��H ��J���	��� 	�� h̃′
k ��H
���� ��	D �x′ I� ������ 
� J��C�� ��
 �x′ = λh̃′

k + �x(

G��� �x ��Q���J��C��H ����G	��� 	�� h̃′
kU b��C�
�E λh̃′

k ∈ L(H ′)( H�� ���CD
� �� 	�

�����H
D �x′ = λh̃′
k + �x /∈ L(H ′)U �

�� �7.- $-� &���&7�( ��7'%.-� $� .-��6� &�% �� ;��.*�.$�6 �&+ $� �&+���� .$�,��+M

$%&� $(� ��$��'-$/� �'�,*�%� %&�'�,65�$�� �� �7.- $� $��*�� .$�,��+$%&�� �9�) $�

����$� ��� �� ��*��� $��� &��.$6���$�� .$� $��*�%.� ��$��'-$� 0 ��;��� �������

&��&�� �� '-9��6� /.$� �7�� 9��7 &�% ��$��7''�$�� $� ;�7�%.�� �j′ = (j′1, . . . , j′n)� $�

��� ;�7�%.�� �j′ �� %&�'�,65�$�� .�� 7����.�� $�% $��*��$� �j′ ��� ��+ &�''�&'7.��%

$�% ��+ ;���).��$� M.$�'- $�% H̃ ′0 R$.�� �9+.�� ,�� $� $��*�� .$�,��+$%&� �.*)��
�j′ ∈ L(H ′)� �8�.9�'65�%�� &( $� �&+���� .$�,��+$%&� �� &�������� .$� L(H ′)0

• 8��
 A� X
	���	H�	��� 	D
 ��	�F��	�
 ���J
��U

�� ��$��'-$� �'�,*�% ��$����6.$��$�� �� �7.- $- .*�.- �j = P ′�j′0

�� ��/�-�� &�% ���'�%��6 .%��N65�� $-� &���&7�( ;��;���.6�0
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9�B���
 A	5 � &����7$( nM;�7.$�$� 9('��.���� ��+*� ;��.*65�� +'� $� .-��6� �j ∈

TIS ��� �+��� �%$70

��� �j′1�
� . . . � j′n�
� j′1 ≤ v11��� j′1��h̃′
11� . . . � j′n��h̃′

n1�

��� �j′n���−j′2
h̃′22

� ∗ h̃′
n2� . . . � j′2���−j′2

h̃′22
� ∗ h̃′

22� j′2 ≤ v22��� j′2��h̃′
22� . . . � j′n��h̃′

n2�

. . .

��� �j′n��� −j′n
h̃′

nn
� ∗ h̃′

nn� j′n ≤ vnn��� j′n��h̃′
nn�

�j = P ′�j′�
. . .


�����

. . .


�����


�����

3�4!���� A	5 X���� 
� ���Q���� G	� � �����H
D CD������
�E F�G
�E ����
�P�� G�� 	� ��9

���� 	�� ++)-( ��I�E �GJD 	�E �
���E �j = P ′�j′ �����
��� I� ����
�P�
	�� ��� G�� 	�

������ 	�� +)-U c�� 
� ����
�P�� � F�G
�E G�� 	� ������ 	�� ++)- ��� �G
�
 ��	H( I�

������ 
� ������Q���� 	� �QLER

?U h��CD
� �� 	� lL��� @U@( J�� �HI� ��	�F��	L ���J
�� I� ������ 
� ��
��� 0 ≤ j′k ≤

vkk − 1U

3U e� ������ ��� ����
�P�
	�� ��
�� ����FL ������U

@U \�
 ��H�
�� ������ 	�� ++)- ��� ��
 ����
�	�� ��G 	�
 �����H
D F�G
�U

?U X�G 	� H
D G��� 	�� CD������
�� F�G
�� ��
�� ���C�
�E �DE � ��	�F��	L ���J
�� jk ��


����F��
�� 	� vkk − 1U `�� J�� 	� �
��� j′kmn�−j′k
h̃′

kk
� ∗ h̃′

kk ��� ��I���P�� 	� �H	D G��� 	�E

��	�F��	LE ���J
�� ��
��� j′km�−j′k
h̃′

kk
� ∗ h̃′

kk ≥ 0U o��( 0 ≤ j′k ≤ vkk − 1U

3U K �����H
D CD������
�E F�G
�E Q���
H ��G 	� ������ �0 ��� ���C�
�E ��
�� ����F�E



��� #� ����
 �
��-"! �	� ��"	����� 	"! /�������"! FD

������U e� ��G��
� ������ ��� ����
�P�	�� �HI� C��H ������	�� �� FH�� 	�E ��C�H���E

j′kmnh̃′
kk, . . . , j

′
nmnh̃′

nk ��� j′nmn�−j′k
h̃′

kk
�∗h̃′

nk, . . . , j
′
kmn�−j′k

h̃′
kk
�∗h̃′

kkU V ��C���� j′kmn� −j′k
h̃′

kk
�∗

h̃′
kk I�	�� 	� ��	�F��	L ���J
�� j′k �	�
 ��H
��	� I�	��L 	��L( ��	� 
� �������
���� �� ����9

F�E ������ ��� �� ��C�H���E j′nmn� −j′k
h̃′

kk
� ∗ h̃′

nk, . . . , j
′
k+1mn� −j′k

h̃′
(k)(k)

� ∗ h̃′
(k+1)(k) ��	�FH���


��	H����� 	�E ��	�F��	�E j′n, . . . , j′k−1 J�� 
� ���������	��
 �	�
 �����H
D 	����������U

`�� �� ��� �����H
D ��C�H���E ��	�FH����
 	� j′ ��	H �
� �������H��� ���E �	L��E 	��

H̃ ′U \�����
�� G	� Q���
H�� �H
	� ��G ����F�E ������( I� ��	��LJ���� �H
	� �� �����E

����F�E ������ /F�U ��� lL��� @UB5U

@U X���� 
� ���Q���� G	� ∀k = 1, . . . , n( � CD������
�E F�G
�E �� FHI�E k ����
�P�� G�� 	�

����������� ��H�	���E n−kU c�� ���H���J�� � �QD	����G	���E F�G
�E /FHI�E ?5 I� ����
�9

P�� G�� 	� ����������� ��H�	���E n − 1 ��� �
L���
 �	�
 ++)-( � ����DE ��D	����G	���E

G�� 	� ����������� ��H�	���E n − 2 ��� �
L���
 �	�
 ++)- �U�U�U

[�	D � 	�
���E F�G
�E �� FHI�E kU W� FH�� 	� CD������
� F�G
� 	�� I�D�L��9

	�E( �HI� ����������� ��H�	���E k − 1 ��� I� ����
��	�� ������	�� �� FH�� 	�E ��C�H���E

j′kmnh̃′
kk, . . . , j

′
nmnh̃′

nk( ��� ������	��H ���	����
 	�
 ��G�I��� 	�� k9�	�� ���
����	�E

�	L��E 	�� H̃ ′U X�G 	� lL��� @UB J
D��P���� �DE ��
 ������ 
� ��H�
��
 ����������� ���


� ������	��
 ��G �H���� ��H
���� ��Q���J��C��H ����G	��� ��G 	� h̃′
kU o�� J�� G�� 	�

k = 1, . . . , n � �����H
D CD������
�E F�G
�E ����
�P�� ��� 	� ����������� ��H�	���E n− k

��� �
L���
 �	�
 ++)-( �����
DE ����
�P�� G�� 	� ������ 	�� ++)-U �
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2'ha 21

~

21 ==

5'hc 22

~

2 ==

1'hc 11

~

1 ==

j'
1

j'
2

�*��� #0ou X���$� ��� ��*��� $��� .$�� ]]\S +&( &���)&$�%� �&+ $-� ���-$���� ����M
���� ���9� $�% H ′

�
�"!����
 A	7 k� ;��.*6.�%�� $� .-��6� &�% �����%� .$� �/�� �&���'�N�(� �&��M

�+���% $(� &��-,�)���(� &���;��,�7$(�0 �&���%�65�%��� +$� H =

⎡⎢⎢⎣ 1
5 − 1

10

− 1
20

3
20

⎤⎥⎥⎦0 ��

��� $(� &�������.$/� $- &�/$- ,����� $�% H �6��� 10 ��� $- ;�)$��- 20� ���

�$.�� �� �7.- $-� ��7'%.- $- ��+$-$� #0#02� �� �*�%��u H ′ =

⎡⎢⎢⎣ 2 −1

−1 3

⎤⎥⎥⎦ ��� V =

⎡⎢⎢⎣ 10 0

0 20

⎤⎥⎥⎦0 
�7'�,�� P ′ =

⎡⎢⎢⎣ 3
5

1
5

1
5

2
5

⎤⎥⎥⎦0 � ���-$���� �������� ���9� $�% &6���� H ′ �6M

��� H̃ ′ =

⎡⎢⎢⎣ 1 0

2 5

⎤⎥⎥⎦ =

⎡⎢⎢⎣ 2 −1

−1 3

⎤⎥⎥⎦
⎡⎢⎢⎣ 1 1

1 2

⎤⎥⎥⎦ ��� �$.�� +&( 9�6��$�� ��� .$� �*��� #0o�

c1 = h̃′
11 = 1� c2 = h̃′

22 = 5� a21 = h̃′
21 = 20 �&����( � � �/;��� &�% ;��.*65�� $� .-��6�

$�% �/��% �&���'�N�(� �&���+���%� .)�9(�� �� $� k�/�-�� #02� �6���u

��� �j′1��
 j′2��� j′1 ≤�� j′1���
 j′2���	

��� �j′2���−j′2
5

���� j′2 ≤��� j′2���	(
j1
j2

)
=

[
3
5

1
5

1
5

2
5

](
j′1
j′2

)
�

��j1
j2����j1��
j2������j1��
j2����
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%$+ &�% �&������� �6��� �� &��.���+.�%�� ��$7''-'� $� 9('��.���� ��+*� $�% k�(����M

$� #02� &�% ;��.*65�� $� .-��6� $�% �/��% �&���'�N�(� �&���+���%� /.$� �� �&���6 ��

;��.*6.�� $� �.($����7 .-��6� .� �&����;�&�$� %&���+���0 
� �j′ ∈ TTIS �6��� $� .-��6�

&�% &���)&$�� �&+ $� ��$��'-$� �'�,*�% $�% 9('��.����% ��+*�% $�% k�(����$� #02 ���
�jS ∈ JS �6��� � %&���+��� $�% �&�6�% $� �.($����7 .-��6� ��'�%�� �� ;��.*6.�%��� ��

�.*)�� �j = P �jS + P ′�j′ ⇒

�j = �j0 + P ′�j′ 1#0m4

+&�% �j0 = P �jS ∈ TOS� �6��� - ��*� $�% %&���+���% ��� P ′�j′ ∈ TIS �6��� $� ��$6.$��*� $�% �j′

.-��6� .$�� TIS0 ��'� � ��;��� &��.�*� &��&�� �� ;(��6� /.$� $� .-��6� &�% ;��.*65��$�� ��

�-� &��.&����)� $� +��� $�% ��*���) */��%0 �&( ���9���-�� &��-,�%���( � ��� .-��6�
�j ∈ J �����&���6 $� .).$-��u B�j ≤ �b0 
�$�����.$/�$� $� �j �&+ $-� &���&7�( �86.(.-

�*�%��u B(�j0 + P ′�j′) ≤ �b ⇒

BP ′�j′ ≤ �b − B�j0 1#034

�9���+5��$� $- ����;� YUj .$� &���&7�( .).$-�� ���.�$�$(�� &���)&$�%� ��$7''-'� 

��9�7.�� ,�� $� �j′� �$.� /.$� �� �-� &��.&���/�$�� $� +��� $�% ��*���) */��%0 �d �%$+�

$�� $�+&� ��$���$(&65�$�� ��� $� &�+�'-�� $(� &'����5+�$(� %&���+��(� $- &��-,�)���- 

��+$-$� � ���/ $� .-��6� �%$/� $(� %&���+��(� ;�� �&�'-��)�%� $� &���&7�( .).$-�� ���

�&����( ;�� �� ;��.*�.$�)�0

�
�"!����
 A	A ����������% �� ;��.*6.�%�� $� �.($����7 .-��6� �&���%;�&�$� %&���+�M

��% ��$�.��%75�%�� $�� &6���� [BP ′|�b|B] =

⎛⎜⎜⎝
3
5

1
5 39 1 0

1
5

2
5 29 0 1

−3
5 −1

5 0 −1 0
−1

5 −2
5 0 0 −1

⎞⎟⎟⎠0 � ����;� YUj
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.d �%$+� $�� &6���� ;6���

⎛⎜⎜⎜⎜⎜⎜⎝

1 0 78 2 −1
3
5

1
5 39 1 0

1
5

2
5 29 0 1

−1 0 29 −2 1
−3

5 −1
5 0 −1 0

−1
5 −2

5 0 0 −1

⎞⎟⎟⎟⎟⎟⎟⎠0 �&����( � � �/;��� &�% �� ;��.*65��

$� .-��6� ,�� �&����;�&�$� %&���+��� $�% */��% �� �6���u

(
j01
j02

)
=

[
6 4
2 8

](
jS
1

jS
2

)
�

lb1�
����
�����j01 �j02	�

ub1�
����  � v11�� � 
����j01�j02	�

��� �j′1�lb1
 j′2�lb1��� j′1 ≤ ub1� j′1���
 j′2���	

lb2�
����
��j
′
1��j01
�−j′1−5j02

2
�	�

ub2�
�����  � v22�� � 
��j′1��j01����
�−j′1−5j02+145

2
�	�

��� �j′2��� lb2−j′2
5

� ∗ 5� j′2 ≤ ub2� j′2���	(
j1
j2

)
=

(
j01

j02

)
+

[
3
5

1
5

1
5

2
5

](
j′1
j′2

)
�

��j1
j2����j1��
j2������j1��
j2����

������

������ �

*&- '�	����� �� �� �#:��� �
! <=>?@AB ��� CADE?D=

� ����;� &�% &���%.�7.$-��� &'�����$�6 .� .),���.- �� �%$� $(� GQE=P@D ��� \@AB=AQ� $+.�

.$� *�+�� ��$�,'/$$�.- +.� ��� .$-� �&�;�$��+$-$� $�% &���,+����% �/;���0 � ;��9��7

.$� *�+�� ��$�,'/$$�.- &���)&$�� �&+ $� ;��9���$��+ ��,��� $(� .%.$-�7$(� ���.�$�$(�

&�% *�-.���&���)�$�� ,�� $�� %&�'�,�.�+ $(� ��6(� $�% 9('��.����% ��+*�% &�% ;��.*65��

$�% %&���+���% 0 �&( ���9���-�� ��� .$-� ��+$-$� #0!� � .).$-�� ���.�$�$(� &�%

&��$�6��%�� ,�� $- ;�7.*�.- $(� %&���+��(� 1.).$-�� 1#0!44� �6��� &�') ����+$��� �&+ �%$+

&�% &��$�6��%� �� GQE=P@D ��� \@AB=AQ 1.).$-�� 1!0m440 �%,���������� �� � ��*��+ */�� 

�6��� nM;�7.$�$� ��� &���,�79�$�� �&+ p ���.+$-$� 1�� ,����� $�% &6���� B �6��� p4� $+$�

$� .).$-�� 1!0m4 �&�$�'�6$�� �&+ 2n+ p ���.+$-$� $(� 2n ��$��'-$/�� ��/ $� &��$���+����

.).$-�� 1#0!4 �6��� &�') ����+$���� ���/ �&�$�'�6$�� �&+ p ���.+$-$� $(� n ��$��'-$/�0


%$� - ��,7'- ;��9��7 .$� ��,��� $(� ;)� .%.$-�7$(�� �;-,�6 .� &7�� &�') ��,7'- ;��9��7
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H�	��� �j′′ = map(�j′, t) DE �QLER

�j′′ = map(�j′, t) =
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j′′k = j′k/h̃′
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mm − (

∑m−1
l=1 xlh̃′

ml)/h̃′
mm

G��� 	� t ���F���P�� 	�
 	��
�
	� �����G�F� ��� �����J�P�	�� ��G 	�
 ��C���� t = (j′′m −

offm)h̃′
mm/vmmU

3�4!���� C	7 X���� 
� ���Q���� G	� �� ��
��	L���E map() ��� map−1() ��
�� �
	��	��C�E

��
��	L���EU p����
���( ������ 
� ������Q���� G	�R

?U (�j′, t) = map−1(map(�j′, t))U

3U �j′′ = map(map−1(�j′′))U

?U (�j′, t) = map−1(map(�j′, t)) ⇔

⎧⎪⎪⎪⎨⎪⎪⎪⎩
t = �

((� tvmm+j′m
h̃′

mm
�+offm)−offm)h̃′

mm

vmm
	 (α)

j′k =
k∑

i=1
h̃′

kiyi (β)
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�
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G���R⎧⎪⎪⎪⎨⎪⎪⎪⎩
yi = ((� j′i

h̃′
ii

	 + offi) − offi) − �
i−1∑
l=1

h̃′
ilyl

h̃′
ii

	, i �= m

ym = ((� tvmm+j′m
h̃′

mm

	 + offm) − offm − tvmm

h̃′
mm

) − �
m−1∑
l=1

h̃′
mlyl

h̃′
mm

	

⎫⎪⎪⎪⎬⎪⎪⎪⎭⇔ yi = � j′i
h̃′

ii

	 − �
i−1∑
l=1

h̃′
ilyl

h̃′
ii

	

• /�5 b����� 
� ���Q���� G	� ��
��� t = �
((� tvmm+j′m

h̃′
mm

�+offm)−offm)h̃′
mm

vmm
	 ⇔ t = t +

�
� j′m

h̃′
mm

�h̃′
mm

vmm
	U X�G 	�
 �
��G	�	� 0 ≤ j′m < vmm ⇒ 0 ≤ � j′m

h̃′
mm

	 < vmm

h̃′
mm

⇒

0 ≤ � j′m
h̃′

mm

	h̃′
mm < vmm ⇒ 0 ≤ �

� j′m
h̃′

mm
�h̃′

mm

vmm
	 < 1 ⇒ �

� j′m
h̃′

mm
�h̃′

mm

vmm
	 = 0U [	��(

t = t + �
� j′m

h̃′
mm

�h̃′
mm

vmm
	 ⇔ t = t + 0( ��� ��
��� �H
	�U

• /F5 X�G 	�
 ��C���� yi = � j′i
h̃′

ii

	−�
i−1∑
l=1

h̃′
ilyl

h̃′
ii

	 ⇒ � j′i
h̃′

ii

	 = yi+�
i−1∑
l=1

h̃′
ilyl

h̃′
ii

	 = �
i∑

l=1

h̃′
ilyl

h̃′
ii

	 ⇒

h̃′
ii�

i∑
l=1

h̃′
ilyl

h̃′
ii

	 ≤ j′i ≤ h̃′
ii�

i∑
l=1

h̃′
ilyl

h̃′
ii

	 + h̃′
ii − 1U h	� ��H�	��� ��	G ��H�
�� �G
� �
�

����F�E ������ �j′ /�C�� h̃′
ii ��
�� 	� FL�� 	�� j′i ��������
�� 
� �����M�� �����E

����F�E ������5( 	� ����� ��
�� 	�
i∑

l=1

h̃′
ilylU _����
DE( ��
��� G	� j′i =

i∑
l=1

h̃′
ilylU

3U

�j′′ = map(map−1(�j′′)) ⇔

⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
j′′k = �

k∑
l=1

h̃′
klzl

h̃′
kk

	 + offk, k �= m

j′′m = �
tvmm+

m∑
l=1

h̃′
mlzl

h̃′
mm

	 + offm

⎫⎪⎪⎪⎪⎬⎪⎪⎪⎪⎭ 1n0!4

G���R

⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
zl = j′′l − offl − �

l−1∑
i=1

h̃′
lizi

h̃′
ll

	, l �= m

zm = j′′m − offm − tvmm

h̃′
mm

− �
m−1∑
i=1

h̃′
mizi

h̃′
mm

	

⎫⎪⎪⎪⎪⎬⎪⎪⎪⎪⎭⇒

⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
j′′l = offl + �

l∑
i=1

h̃′
lizi

h̃′
ll

	, l �= m

j′′m = offm + tvmm

h̃′
mm

+ �
m∑

i=1
h̃′

mizi

h̃′
mm

	
1n0#4
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W� 	� F�LI��� 	�E /BU@5( � /BU35 ��	��
���	�P�	�� �����
��� DE �QLER⎧⎪⎪⎪⎪⎨⎪⎪⎪⎪⎩
offk + �

k∑
i=1

h̃′
kizi

h̃′
kk

	 = �
k∑

l=1
h̃′

klzl

h̃′
kk

	 + offk, k �= m

offm + tvmm

h̃′
mm

+ �
m∑

i=1
h̃′

mizi

h̃′
mm

	 = �
tvmm+

m∑
l=1

h̃′
mlzl

h̃′
mm

	 + offm

	� ����� ���C�
�E ��
��� �H
	�( �
 �HF���� ��: GM�
 G	� 	� vmm ��
�� �������H���

	�� h̃′
mmU

W�	H 	�
 ��G���Q� 	D
 /?5 ��� /35( ������	�� G	� 	� lL��� BU3 ��
��� �H
	�U �

� .%�7�$-.- map(�j′, t) $�% �����$� n02� �����65�� $- ��.- ����- .$�� ��&��+ �/��

��;����(�� +&�% �� �&��-��%$�)� $� ;�;����� &�% %&�'�,65��$�� .$-� �&��7'-N- �j′ ∈ TTIS

1�*��� n0#40 ���9��/ � - .%�7�$-.- map−1(�j′′) $�% �����$� n0! %&�'�,65�� $� .-��6� �j′ ∈
TTIS ��$7 $� �&�6� %&�'�,6.$-�� $� �j′′ ∈ LDS0 
865�� �� .-���(��6� +$� +'� �� ;�����.�� 

.$� &���&7�( ��9�7.�� �6��� ������� ;�����.�� 0 � .%�7�$-.- loc(�j) .$�� �6���� n02

*�-.���&���6 $-� map(�j′, t) ,�� �� ��$�&6.�� $=� �&�8��,�.$� �pid ��� $- ��.- ����- �j′′ ∈
LDS +&�% �&��-��)��$�� $� ;�;����� &�% �� ��$�'�)�$� ��$7 $-� �&��7'-N- �j ∈ J $�%

��*���) */��%0 
�$�.$�+9( � � �6���� n0! ;�6*��� $- .���7 $(� �-�7$(� &�% �&��$�)�$���

&���������% �� ��$�&6.�%�� .� &��+ .-��6� $�% ��*���) */��% �j ∈ J � ��$�.$��*�6 $� .-��6�
�j′′ ∈ LDS &�% ��6.��$�� .$-� $�&��� ����- $�% �&�8��,�.$� �pid0 �&����( � - .%�7�$-.-

loc−1() ��'�6$�� �&+ $�% �&�8��,�.$� .$� $�'� $(� %&�'�,�.�/� $�% ,�� �� ��$���)�

�&+ $�� ��&��+ �/�� ��;����(� $�% .$�� ��*��+ */�� �&���'�N�(� J 0 �$- .%��*��� $�

��$6.$��*� .-��6� $�% ��*���) �/��% ��;����(� DS &���)&$�� �� $- ������� $- .%�7�$-.- 

fw 1�*��� n0n40

�� �7.- $� .*��� ��$����� ;�;����(� &�% &���%.�7.$-��� �7�� �&�8��,�.$� ;�.��)��

�����/ $� ��,��� $- ����- &�% �� *�-.���&���.�� ,�� $-� �&�����%.- $(� %&�'�,�.��M

�(� ;�;����(� ��� $(� ;�;����(� �&�����(�6� 0 
865�� �� $���.$�6� +$� - �&�%��6� ;�.��%.-

����- .$�� ��*��+ �/�� ��;����(� DS �� �;-,�).� .� .&�$7'- */��% ����- � ���/ 

,�� �� .%���6 �%$+� �� �&��&� �� ;�.��%$�6 �'+�'-�- - ����,/��� &����*� &�% &����'�6�� ���

,����7 �-M����,/��� */�� ;�;����(� 1�*��� n0l40 
�+�� ��� �� *�-.���&��-��6 ����,/M

��� ��$�.*-��$�.�+ %&���+��(�� .$- ,����� &��6&$(.- '+,( $- fw� � */�� ;�;����(�

&�% *�-.���&���6 ��� %&���+��� ;�� �6��� ����,/��� wG~f3lx0 �� $- ����;� +�( &�%

&���%.�7.$-��� %&�*��/��%�� �7�� �&�8��,�.$� �� ;�.��)�� ����,/��� */�� ����- � ���M
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j̃′′ = map(j̃′, t)
j′′k = j′k/h̃′

kk + offk, k �= m

j′′m = (tvmm + j′m)/h̃′
mm + offm

(j̃′′, p̃id) = loc(̃j)
�jS = �H�j	

�j′ = H ′(�j − P �jS)
�j′′ = map(�j′, jS

m − lSm)
�pid = (jS

1 , . . . , jS
m−1, j

S
m+1, . . . , j

S
n )

�6���� n02u �)��.- $- ���+�� $�% .-��6�% �j ∈ J .$�� ��&��+ �/�� ��;����(� 1LDS4
��+ �&�8��,�.$� �� $- ������� $- .%�7�$-.- loc()

j̃′ = map−1(j̃′′)
t = (j′′m − offm)h̃′

mm/vmm

xk = j′′k − offk − (
∑k−1

l=1 xlh̃′
kl)/h̃′

kk, k �= m

xm = j′′m − offm − tvmm/h̃′
mm − (

∑m−1
l=1 xlh̃′

ml)/h̃′
mm

�j′ = H̃ ′�x

j̃ = loc−1(j̃′′, p̃id)
�j′ = map−1(�j′′)

�jS = (pid1, . . . , pidm−1, t + lSm, pidm+1, . . . , pidn)
�j = P �jS + P ′�j′

�6���� n0!u �)��.- $- ���+�� $�% .-��6�% �j′′ ∈ LDS 1$�% �&�8��,�.$� �pid4 .$�� ��*��+
*/�� J �� $- ������� $- .%�7�$-.- loc−1()

87�$-$� �&+ $� .*��� $�% ��$�.*-��$�.��) %&���+��(� &�% �*�� *�-.���&��-��60 ��'� �

;�;�����% +$� �� */��� ;�;����(� $(� �',��6��(� &�% �� �&�.*�'�)� �6��� ,����7 &�')

��,7'��� - .%�&6�.- $�% $�&���) */��% ;�;����(� /.$� �� &���)N�� � gVS ��6��$�� ,����7

���,��6�0 ��'��7� �%$+ �;-,�6 .� ��� .%�����.�+ ��7��.� .$� */�� ;�;����(� ��� $-�

%&�'�,�.$��� &�'%&'��+$-$�� ���/ &��&�� �� *�-.���&��-��)� �� .*�$��� ��9�7.�� ,��

�� ��$���)�� .$�� gVS0 �� �+.$� �%$/� $(� ��9�7.�(� +�( ��(��6$�� ���'-$�� ��� ;��

�&-��75�� .-���$��7 $� *�+�� ��$�'�.- $�% &���''-'�&��-����% �',��6���%0
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)( ypidLDS

J

)( xpidLDS

loc()

loc–1()

f
w
()

DS

loc()

loc–1()

j
2

j
1

w
1

w
2

j
2
''

j
2
''

j
1
''

j
1
''

�*��� n0nu ��$��7.�� ��$�8) $�% �/��% ��;����(� 1DS4� $�% �/��% �&���'�N�(� 1J4
��� $(� ��&��/� �/�(� ��;����(� 1LDS4

-&- ����	
	� ��
��	�!�! �
���
! ,�����!
!2��

�� $-� ��7��.- $(� %&�'�,�.�/� .� �&�8��,�.$� ��� $-� ��$����� $(� ;�;����(� &�% &�M

��%.�7.$-�� .$� &��-,�)���� ��+$-$� � �6��� ;%��$+� �7&��� ;�;����� &�% �*�%� �,,��9�6

.$-� $�&��� ����- ��+ �&�8��,�.$� �� *���75��$�� ,�� $�% %&�'�,�.��) .� �7&���� ,��M

$����+ �&�8��,�.$�0 ��� .%,���������� �� �7.- $� ���$�'� $(� �8��$�.�(� &�% ���'�%��)�

�� �',+������ &�% �� �&�.*�'�)�� $� ;�;����� &�% ;���75�� ��� �&�8��,�.$� �&���6 ��

%&�'�,65��$�� �&+ �7&���� 7''�0 �d �%$� $� &���&$/.�� � �� �&�8��,�.$� &��&�� �� �&����M

�(��.�%� ��$�''7..��$� �-�)��$�0 �� ;)� ��.��7 5-$���$� &�% &��&�� �� ��$���$(&�.$�)�

��$7 $-� �%$+��$- &���,(,� $(� &�($�,��/� �'�.�(� ��$�''�,� �-�%�7$(�� �6��� � ��M

����.�+ $(� ;�;����(� &�% �� �&�.$�'�)� .� �7�� ���%�� 1.)��'� �&�����(�6� 4 ��� $(�

�&�8��,�.$/� &�% �� �&�����(��.�%�0

9	9	* 8�$��
 0"�
��$�$-
�

�� .-��6� �&�����(�6� �&+ $� �&�6� &���)&$�%� $� ��$6.$��*� ;�;����� &�% &��&�� �� �&�M

.$�'�)� &���)&$�%� �&+ $�� ��+'�%�� ���.�+0
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w
1

w
2

DS

Χώρος µνήµης που δεσµεύεται για
τις ανάγκες µιας οµάδας

Χώρος µνήµης που
χρησιµοποείται από µία οµάδα

�*��� n0lu �&�$7'- .� */�� ����- ,�� $- ;�.��%.- ����- ��+ �-M����,/���% %&���+���%

>��6�4� C	7 [�	D m � ��H�	��� �����G
���E ��� � �dS ∈ DS ��
�� ��� �QH�	��� �����G�9

FD
 ��� �������� ��� �QH�	��� /��
����5 ��	�Q� ���Q��J��	�
( �����L ��
��� ∃ l �= m :

dS
l �= 0U [
� ������ �j′ ∈ TTIS ��
�� ������ ������
D
��E ��	H 	� ����I�
�� 	�� �dS( �


��� �G
� �
 	� ������
� ��� �����J��	���
 �	�
 ���
H��M� �j = P �jS + P ′�j′ ��
�� �
�J����

J�� 	�
 �����J���G �H����� ������� ��� �
L��� �	�
 �����G�F� �jS + �dS( G��� �jS ∈ JS ���

�jS + �dS ∈ JSU


865�� �� .-���(��6� &( �9d +.�� $� ;�7�%.�� �dS %&�;-'/��� �87�$-.- ��$�8) �&�8��,�.$/��

�� %&���+���� �jS ��� �jS + �dS �� %&�'�,65��$�� .� ;��9���$���) �&�8��,�.$� 0 �&6.- � �7��

.-��6� �&�����(�6� ��65�$�� .� .*�.- �� �7&��� ;�7�%.�� �87�$-.- ��$�8) %&���+��(�
�dS 0 �� 7''� '+,��� $� .-��6� �&�����(�6� .$�� TTIS ��$�.$��*�)� .� �&���'�N�� .$� 

�&�6� %&�'�,65��$�� ;�;����� &�% &��&�� �� �&�.$�'�)� .� �7&���� 7''� �&�8��,�.$� .$-

;��)�%�.- $�% �dS 0 ��� .d �%$�� $-� &��6&$(.- ����$�''�%+��.$� $-� �������+$-$� $�% TTIS

,�� �� �87,�%�� �&'7 ���$���� %&�'�,�.��) $(� .-��6(� �&�����(�6� � +&( &���)&$�� �&+

$� '���� &�% ���'�%��60

����
 C	A [
� ������ �j′ = (j′1, . . . , j′n) ∈ TTIS �
	��	��
�� �� �
� ������ ������
D
��E



��� �����"�� ��"	���!)! 0����"! ������!"!-�� VD

�	� ����I�
�� 	�E �QH�	���E �����G�FD
 �dS = (dS
1 , . . . , dS

n) ∈ DS �
 ��� �G
� �
 ��
���R

j′k ≥ dS
k (vkk − max

�d′∈D′
{d′k})

G��� k = 1, . . . , n, �d′ ∈ D′,D′ = H ′D.

3�4!���� C	A c�� 
� ��
�� 	� �j′ ������ ������
D
��E ��	H 	�
 k9�	L ��H�	���( ������
����

��� �����	����ER

?U dS
k = 0U `�I�E ��
 ��H�
�� �QH�	��� �����G�FD
 �� ��	L 	� ����I�
��( ��
 ���P�	��

���������GE J�� 	� j′kU [	�� I� ��
��� 0 ≤ j′k ≤ vkk − 1U

3U dS
k = 1U h: ��	L 	�
 �����	D��( I� ������ 
� ��H�
�� ��� �QH�	��� �	�
 TTIS �d′ ∈ D′

	�	��� ��	� 	� k9�	G �	��
��� 	�� �j′ + �d′ 
� Q����
H 	� �
	��	��
� G��� 	�� TTIS(

�������
	�E �	�� �
HJ�� J�� ������
D
�� �	�
 k9�	L ��H�	���U

h��CD
� �� 	� �����H
D I� ������ 
� ��
���

j′k + d′k > vkk − 1 ⇒ j′k + d′k ≥ vkk ⇒ j′k ≥ vkk − d′k

J�� �H���� �d′ ∈ D′ L �����
���

j′k ≥ vkk − max
d′∈D′{d

′
k}

V �
D�� 	D
 ��� �����H
D ���	H��D
 ��
�� 	� P�	����
� ���	������U �
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>��6�4� C	A e� ��H
���� ������
D
��E �CC ���P�	�� DE �CC = (cc1, . . . , ccn) G���

cck = vkk − max
d′∈D′{d

′
k}

��� k = 1, . . . , n( d′ ∈ D′( D′ = H ′DU

�6��� &��9��� +$� $� ;�7�%.�� �CC �&���6 �)��'� �� %&�'�,�.$�6 ��$7 $- ;�7����� $- 

��$�,'/$$�.- 0 �)�9(�� �� $� ����� n0#� $� ;�7�%.�� �CC �&���6 �� *�-.���&��-��6 ,�� ��

�����6.�� $� .-��6� �&�����(�6� u

�4��6�
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[
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9��7 $(� ���+;(� G\ ��� s\ .$- ,����� &��6&$(.-0 
865�� �� $���.$�6 �&�&�+.��$�� +$� �

�+'� ��+ �%$+��$�% &���''-'�&��-$�M��$�,'($$�.$� �6��� �� ,����.�� �&�;�$��+ �/;���

,�� �&���;�&�$� &��6&$(.-0

� �6���� l02 ;�6*��� $�% */��% �&���'�N�(� &�% *�-.���&����-��� ,�� $� &���7��$�0
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�� $��� &�/$�� */��� 1S>OEJ2MS>OEJ#4 �6��� ;�.;�7.$�$��� ��/ �� �&+����� �&$7 1S>OEJnM

S>OEJ2"4 �6��� $��.;�7.$�$��0 �&7�*�%� ;�79��� .*���$� */�(�� ,�� &��7;��,�� �� */���

S>OEJ2 ��� S>OEJn �6��� ����,/����� ��/ �� %&+'��&�� */��� .� �7�� ;�7.$�.- �*�%� &��M

�;�%$��7 &�� &��6&'��� .*���0 �7�� ��� �&+ $�% &���&7�( */��% ��$�.*-��$6.$-��

*�-.���&��/�$� ;�79���% ��$�.*-��$�.��) %&���+��(� &�% ��65��$�� �&+ �7&��� &6����

P 0 	����7 &���$-��.��� +$� � *�+�� ��$�,'/$$�.- ��� � &���,+���� �/;��� �&-��75�M

�$�� &7�� &�') �&+ $� .*��� $�% */��% �&���'�N�(� ��� $� .*��� $�% ��$�.*-��$�.��)

%&���+��(�0 �%,���������� +.� �%87��%�� $�� �����+ $(� �-M�-;����/� .$��*�6(� .$�% 

&��7,��$� $(� &��7�(� B ��� P � $+.� &���..+$��� *�����+�� ,6��$�� - ;��;���.6� ��$�M

,'/$$�.- 0 
%$+ �8-,�6$�� �&+ $� ,�,��+ +$� ��$7 $-� �&�'��9� $(� .%.$-�7$(� 1!0m4 ���

1#0!4 �� $- ����;� YUj� - &���%.6� ��,7'�% ������) �-;����/� .$�% &6���� B ��� P �

����.$7 $- ;��;���.6� &�') &�� .)�$��-0 R�� 7''� .$��*�6� &�% &���$-���-�� ��$7 $-�

�9����,� ;�79��(� ��$�.*-��$�.�/� %&���+��(� .$�% */��% �&���'�N�(�� �6��� - ��M

,7'- ��$���'� $�% ������) $(� ,�����&�78�(� ��� $�% .%��'���) *�+��% ��$�,'/$$�.- �

&�% &����'�6 ��� ����� ��$���'� .$�% .%�$�'�.$� $�% &6���� P 0 ��� �%$+ $� ,�,��+ 

�8-,�6$�� �&+ $- 9).- $- ���+;�% YUj0 �;/ &���%.�75�%�� ��;���$��7 �&�$�'�.��$� �&+

$-� �9����,� $��/� ��$�.*-��$�.�/� %&���+��(� 1P1−P34 .$�% ;�.;�7.$�$�% */��% ���

$-� �9����,� �&$7 ��$�.*-��$�.�/� %&���+��(� 1P4 − P104 .$�% $��.;�7.$�$�% */��% 0

�� &6���� P1 − P10 ;6���$�� .$� ���7�$-�� 	0

j1 j2 j3

� 	"  !" � 	"  !" � 	"  !"
���� ���� ���� ���� ���� ���� F ���!���*�"!

BGH9I� −1999 4999 −1999 4999 � � 48986001

BGH9I� −1999 4999 −1999 4999 + 2i1 � � 69983001

BGH9I� −4999 4999 −4999 + 3i1 4999 + 2i1 � � 99980001

BGH9I� 0 399 0 399 0 399 64000000

BGH9I. 0 399 0 399 + i1 0 399 95920000

BGH9I$ 0 399 −i1 399 + i1 0 399 127840000

BGH9IJ −99 149 −99 − i1 149 + i1 −99 149 + 2i2 22904099

BGH9I3 0 399 −i1 399 + i1 i1 79 + 2i2 117635018

BGH9IK −99 149 −99 − i1 149 + i1 −99 − i1 149 + i1 + 2i2 31129399

BGH9I�L 0 59 −i1 59 + i1 −i1 − 3i2 59 + i1 + 2i2 1994462

�6���� l02u �/��� �&���'�N�(� &�% *�-.���&����-��� .$� &���7��$�
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7> M> 7>'NOI@H 7> M>

,������� +��� PP2Q (��!�� 
�	���)		��
� PP2Q

BGH9I� 37 10 22.56 0.28 0.27

BGH9I� 33 10 21.56 0.28 0.27

BGH9I� 34 10 22.78 0.29 0.26


���� ,������� +��� 
���� (��!�� 
�	���)		��
�

P1 31 10 18.88 0.27 0.26

P2 35 10 22.30 0.28 0.27

P3 55 12 37.63 0.36 0.3

�6���� l0!u 	�����&�78�� $- ���+;�% YUj ��� *�+�� ��$�,'/$$�.- 1ms4 ,�� ;�.;�7M
.$�$�% �',��6���% 

=�41�� ?��
��B���6��

�&( ���9���-�� ��� &��-,�%���( � .� �7�� */�� �&���'�N�(� $�% �6���� l02 �9���+M

.$-��� �� ��$6.$��*�� ��$�.*-��$�.��6 %&���+��(�0 �&��;� - ;��;���.6� ��$�,'/$$�.- 

�%����*�6$�� �&+ $� ,�����&�78�� $- ���+;�% YUj� ��$��.��� $� ,�����&�78�� ��� $�

.%��'��+ *�+�� ��$�,'/$$�.- $(� ���+;(� G\ ��� s\0 �&�&�+.��$�� ��$��.��� ��� $� *�+��

��$�,'/$$�.- ,�� $�� rWJBO <OHEPHOD=@� �%�6( .�� ��$�� .),���.- ,�� $-� �&�$�'�.��M

$��+$-$� $�% ��,�'�6�% &�% %'�&���6 $� ���+;�% G\ ��� s\0 �� �&�$�'�.��$� ,�� $�% 

;�.;�7.$�$�% */��% 9�6���$�� .$�� �6���� l0! ��� ,�� $�% $��.;�7.$�$�% */��% .$��

�6���� l0#0 ����%.�75�%�� $�� �����+ $(� ,�����&�78�(� ��� $� .%��'��+ *�+�� ��$�,'/$M

$�.- ,�� $�� ��$�.*-��$�.�+ P2 .$�% ;�.;�7.$�$�% */��% ��� ,�� $� ��$�.*-��$�.�+ P3

.$�% $��.;�7.$�$�% � ��/ &���%.�75�%�� $� ��.� �����+ ,�����&�78�(� ��� $� ��.� *�+��

��$�,'/$$�.- ,�� �7�� &6���� ��$�.*-��$�.��) Pi .� +'�% $�% */��% 0

����$-��)�� +$� .� +'� $� &���&$/.�� - ����;� s\ �&�;6;�� ��')$��� �&+ $- ����;�

G\ .� .*�.- �� $� *�+�� ��$�,'/$$�.- 0 �7'�.$� - ;��9��7 �&+ $� *�+�� ��$�,'/$$�.- 

$�% rWJBO <OHEPHOD=@ �6��� ��9��� � �7$� &�% �&�;����)�� +$� ��� .� �&+'%$� $��� � - �&+M

;�.- $�% ��,�'�6�% �%$+��$- &���,(,� �/;��� �6��� &�') ��'�0 � ;��9��7 .$� *�+��

��$�,'/$$�.- ;�����'�,�6$��� +&( ���9���-�� ��� .$-� ��+$-$� #0n� �&+ $- ;��9��7 .$��

�����+ $(� ���.�$�$(� ��� $(� �,�/.$(� $(� �8�./.�(� 1!0m4 ��� 1#0!4 &�% *�-.���&���)�$��

.$- ����;� G\ ��� s\ ��$6.$��*�0 � ;��9��7 �%$� .$� .%.$���$� �;-,�6 ��� .� &�') ��,7'-

;��9��7 .$�� �&��$�)���� �����+ ,�����&�78�(� ��$7 $-� �&�'��9� YUj� +&( 9�6��$�� ���

.$�% �6���� l0! ��� l0#0 
865�� �� .-���(��6� +$� .$� �&�$�'�.��$� &�% &���%.�75��$��

;�� �*�� �9����.$�6 - JbOED ����;� �&'�&�6-.- 1�'0 ���7�$-�� 
40 � ;��9��7 .$� *�+M

�� ��$�,'/$$�.- �� $-� �9����,� $- �&'�&�6-.- �%$� �6��� ;����$��� .$-� &��6&$(.-
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7> M> 7>'NOI@H 7> M>

,������� +��� PP7Q (��!�� 
�	���)		��
� PP7Q

BGH9I� 264 28 235.55 1.33 0.49

BGH9I. 578 34 367.78 6.0 0.52

BGH9I$ 508 42 1, 188.72 4.24 0.55

BGH9IJ 1411 38 911.38 40.78 0.54

BGH9I3 1522 42 2, 099.32 51.31 0.56

BGH9IK 379 38 370.47 2.61 0.55

BGH9I�L 419 42 527.3 3.08 0.56


���� ,������� +��� 
���� (��!�� 
�	���)		��
�

P4 88 22 51.87 0.51 0.43

P5 105 22 67.2 0.58 0.44

P6 265 38 276.14 1.67 0.53

P7 726 38 814.36 15.62 0.54

P8 5382 36 2, 901.14 1, 746.64 0.53

P9 3767 35 2, 921.1 781.04 0.53

P10 59563 41 2, 531.58 356, 508.91 0.56

�6���� l0#u 	�����&�78�� $- ���+;�% YUj ��� *�+�� ��$�,'/$$�.- 1ms4 ,�� $��.;�7M
.$�$�% �',��6���% 

$- ���+;�% G\ 1� *�+�� ��$�,'/$$�.- 9$7��� &��6&�% $- �6� /��4� ��/ $� ���;� .$-�

�&+;�.- $�% &���,+����% �/;��� �6��� &�') ����+ 1#� ��$7 ��.� +�� ��� 2"� $� ��,�.$�40


�+�� +�( ��� �� $-� �9����,� $- JbOED �&'�&�6-.- � � *�+�� ��$�,'/$$�.- $- ���+M

;�% s\ &�������� $- $78- $(� *�'��.$/� $�% ;�%$���'�&$�%0 �&����( � - JbOED ����;� 

�&'�&�6-.- �&���6 �� �9����.$�6 &���$��7 .$- ����;� s\� /.$� �� ��'$�(��6 &����$��( -

�&�;�$��+$-$� $�% $�'���) �/;���0

���7 $� ,�,��+ +$� - ����;� s\ �6��� &�') $�*)$��- $- G\� .$� ;�.;�7.$�$� ��� $��.M

;�7.$�$� &���'���$� &�% &���%.�75�%��� 9�6��$�� +$� ��� �� ;)� ����;�� �*�%� &�') ����+

*�+�� ��$�,'/$$�.- 0 �� ��,�')$��� ;��.$7.�� +�( ��*65�%� �� &���%.�75��$�� .����7

&���'���$� ��$7 $- ;��;���.6� $- ��$�,'/$$�.- � $+.� .$- ����;� G\ +.� ��� .$�� rWJBO

<OHEPHOD=@0 ��$�'�.��� ��� ��,7'� �����+ �&+ $�$��;�7.$�$� &���'���$� ��� ��$d ��*��

&���$-��.��� +$� � *�+�� ��$�,'/$$�.- $- ���+;�% G\ �%87��$�� ;����$��7 ��� ,6��$��

�&�,���%$��+ 0 �����7 &���;�6,��$� *���7.$-��� ����$� /�� � ��+�� ��� ���� ,�� ��

�'��'-�/.�%� $- ��$�,'/$$�.� $�% 0 
�+�� &�� .����� +�( �$�� - &���$��-.-� +$� - ��M

��;� G\ ;�� �$�� .� ��.- �� �'��'-�/.�� $- ��$�,'/$$�.- 1�%.��.$��7 $-� �&�'��9� YUj4

.$� ��.� �&+ $� &���&$/.�� '+,( �''��N- ����- 0 �&���%�65�%�� +$� - ����;� YUj �6���

;�&'7 ����$��� ��� .� */��� �$.� .� ����$7 $�$��;�7.$�$� &���'���$� ��+�� ��� 2i_?DJ ��M

������ ����- ;�� �$�� ����$+ ,�� �� ��')N�� $� ��7,�� $- YUj .� ����-0 
&+ $-� 7''-
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��� � rWJBO <OHEPHOD=@ &���%.6�.� ����$7 &���'���$� .� $�$��;�7.$�$�% �',��6���% 1.�

����+$��� ����+ �&d +$� - ����;� G\4 ���/ ��� �;/ .*�;+� .$� l"� $(� &���&$/.�(� -

�&�'��9� YUj ;���+&-�� '+,( %&��*�6'�.- 0 ���9��/ � ��$7 �&+ ��� &�') ��,7'� �����+

,�����&�78�(� �7&���� �&+ $�% .%�$�'�.$� $�% .%.$���$� 8�&���.�� $� ��,�.$� �������

$- ��*�$��$����� 0 �� +'� $� &���&7�( &���&$/.�� � - ����;� s\ �'��'��(.� $- ;��;�M

��.6� &���,(,� �/;��� ��.� .� '6,� ;�%$��+'�&$� .$- *���+$��- &��6&$(.-0 �&6.- �865��

�� .-���(��6� +$� $� $�$��;�7.$�$� &���'���$� �6��� ����$7 .%*�7 .$-� &�78-� �&��$/�$��

,�� &��7;��,�� .$- ��'�$- $- $�*)$-$� ��� ��%.$/� �&+ ��� $��.;�7.$�$� ��$���6���� �

.$-� �)��.- $�% ;%������) .� ��� $��.;��.$�$� */��0

=�41�� �
����6��

����������% �� �8��'�,�.�%�� $-� �&�;�$��+$-$� $�% �/;��� &�% &��7,�%� �� ����;�� G\ ���

s\� �''7 ��� � rWJBO <OHEPHOD=@� ��$�'�.��� $�% .�������) ��$�.*-��$�.����% �/;��� 

&�% ,�����-��� �&+ $� &���&7�( &���;�6,��$�0 ��65�%�� ( ]rY 1]AHAQB rKJ@CJOL YOED=@4

$� '+,�u

TOF =
��+�� ��$�'�.- $�% ��������) ��$�.*-��$�.����% �/;���

��+�� ��$�'�.- $�% 
�*���) �/;���

�� ./�� $�% ��+*�% .� �7�� &��6&$(.- �6��� ��� �&'� ��$�'� ��7��.- .� ��� &6���� ���

�&����( � *�+�� &�% ��$�7�� �6��� �%.��.$��7 � *�+�� �&�$6�-.- $(� ��6(� $�% 9('��M

.����% ��+*�%0 �&6.- � $� ��,��� $�% &6���� �6��� ����+ ��� $� ��,��- $(� %&���+��(�

;�� �6��� �&�'�,���� ,�� �� �&�$%,*7��%� $�&��+$-$� .$- '���7��%.� ����-� �$.� � .�����M

�+ ��$�.*-��$�.���� �/;��� ;�� ��&����*�� �7&��� ��'$�.$�&�6-.- '+,( �&�;�$��+$��- 

*��.- $- '���7��%.� ����- 0

� &��7,��$� ]rY ��9�75�� $� �&�&'��� �+.$� &�% �&�9���� � ��$�.*-��$�.�+ %&��M

�+��(� .$� ��� +��� $�% ��+*�%0 
� � ]rY �6��� &�') ��,7'� � $+$� �� �6��� &�') ;).��'-

- �&6$�%8- �&�$7*%�.- ��$7 $-� &���''-'�&�6-.- $�% ��+*�%0 �� �;����+ �6��� � ]rY ��

$�6��� .$- ���7;�� �7$� &�% .-��6��� +$� � ��$�.*-��$�.�+ %&���+��(� �&����)��� �'7*�.$�

$�� ��*��+ �/;���0 �$�� �6���� l0n &���%.�75�%�� $�� &��7,��$� ]rY ,�� $� ;�.;�7.$�$�

��� $��.;�7.$�$� &���;�6,��$� $- &��-,�)���- ��+$-$� � ��/ .$� �*��� l02 9�6��$�� �

]rY .�� .%�7�$-.- $(� �-M�-;����/� .$��*�6(� $�% &6���� P 0

����$-��)�� +$� - %&���*� $- ���+;�% s\ ( &�� $- ����;� G\ �''7 ��� $�� rWJBO
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7>'NOI@H 7> M> 7>'NOI@H 7> M>

TOF (2D) (P2) Avg. TOF (2D)

BGH9I� 6.27 4.55 1.61 P1 2.85 1.03 1.31

BGH9I� 6.12 4.62 1.63 P2 6.62 4.78 1.69

BGH9I� 7.45 5.16 1.82 P3 8.23 6.41 3.75

TOF (3D) (P7) Avg. TOF (3D)

BGH9I� 15.50 9.86 4.65 P4 1.99 1.26 1.17

BGH9I. 16.09 10.05 5.14 P5 4.96 3.44 1.88

BGH9I$ 16.20 10.10 5.29 P6 9.55 7.16 4.62

BGH9IJ 12.67 9.04 4.80 P7 13.90 9.47 5.17

BGH9I3 12.72 8.92 4.65 P8 11.24 9.14 3.60

BGH9IK 11.80 8.95 4.84 P9 10.74 8.78 5.51

BGH9I�L 12.29 9.38 6.84 P10 13.62 11.07 5.62

�6���� l0nu ]rY ,�� ;�.;�7.$�$� ��� $��.;�7.$�$� &���'���$�
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T
O

F

# of non-zero elements in P

Avg. TOF in 3D problems

using Omega calculator
using AI method
using RI method

�*��� l02u ��.� ]rY ,�� $��.;�7.$�$� &���'���$�

<OHEPHOD=@ �6��� ��9��� .� +'� $� &���&$/.�� � ��$+ �&+ $�� ����,/��� */�� ��� $��

����,/��� ��$�.*-��$�.�+ .$� ;)� ;��.$7.�� 0 �$� ;�.;�7.$�$� &���'���$� - ����;� s\

�*�� ��.� ]rY 2.25� ��/ - ����;� G\ ��� � rWJBO �*�%� 4.07 ��� 5.09 ��$6.$��*�0 R*�%��

;-'�;� 1.8 ��� 2.6 9��� ,�-,��+$��� �/;��� �� $- ����;� s\ �&+ +$� �� $- ����;� G\ ��� $��

rWJBO ��$6.$��*�0 
�7'�,- ���+�� �*�%�� ��� .$� $��.;�7.$�$� &���'���$�� +&�% - ����M

;� s\ &��7,�� 1.8 9��� ,�-,��+$��� �/;��� �&+ $-� G\ ��� 2.4 9��� ,�-,��+$��� �&+ $��

rWJBO0 �&( ���9���-�� ��� .$-� ��+$-$� #0n� $� �&�$�'�.��$� �%$7 �6��� ������+�����

���/ - ����;� s\ &��7,�� &�� �&'� ��9�7.�� ,�� $- ;�7.*�.- $(� .-��6(� .$� �.($����+

$(� %&���+��(�0 �� �*��� l02 ;6��� �&6.- ��;��9���%.� &'-��9��6� ,�� $- .%�&���9��7

$(� ;)� ���+;(� ��� $�% rWJBO� .� .*�.- �� $� .*��� $�% ��$�.*-��$�.��) %&���+��(�0
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����$-��)�� +$� ,�� ����,/���% ��$�.*-��$�.��) %&���+��(� 1$�6� �- �-;����7 .$��*�6�

.$- ;��,/��� $�% &6���� P 4 � &��7,��$� ]rY� &�������� ����+ ��� .$� $��� &���&$/.�� �

�� $�� �/;��� $- ���+;�% s\ �� �*�� ]rY &�% &'-.�75�� &�� ���$7 .$- ���7;�0 �.� $�

.*��� $�% ��$�.*-��$�.��) %&���+��(� ,6��$�� &�� &��6&'��� 1&��.$6���$�� �-;����7 .$��

&6���� P 4� $+.� � &��7,��$� ]rY ��,�'/���0 � ����;� s\ +�( ;�6*��� �� ;��$-��6 $��

&��7,��$� ]rY .� *��-'7 �&6&�;� ��+�� ��� ,�� &6���� ��$�.*-��$�.�/� P �� '6,� �

���+'�% �-;����7 .$��*�6�0 �%�&���6��%�� +$� - ����;� s\ .%�&���9���$�� .*�;+� �;���M

�7 .$�% ����,/���% ��$�.*-��$�.��) %&���+��(� ��� ;��$-��6 $-� �&�;�$��+$-$� $�%

&���,+����% �/;��� ��+�� ��� .$�% &'��� &��6&'���% ��$�.*-��$�.��) 0

;	*	( ��
��
��
&� 0=
����&�

� $�'�%$�6� .���7 ��$��.�(� &�% �9���).� $� .������+ ��$�.*-��$�.���� �/;���� �,��� .�

&��,��$��� �9����,� 0 �%,��������� *�-.���&����-��� �� �/;��� qOE=_A� Srs� GV\� ]S

��� TVj &�% &���%.�75��$�� .$� ���7�$-�� X0 �� ��$�.*-��$�.��6 %&���+��(� H &�%

*�-.���&����-��� &���)&$�%� �&+ $�� �/�� %&���+��(� $�% &���'���$� 0 �$� &���&$/.�� 

$(� &���'-�7$(� Srs� qOE=_A ��� TVj� � �/�� %&���+��(� &���'���7��� $�..��� ;���)M

.��$�0 �� .%�;%�.��6 $(� ;���%.�7$(� �%$/� ��7 $�6� ;6��%� $�% &6���� H1−H4 .� �7��

&��6&$(.-0 �'�� �� �/;��� ��$+ �&+ $�� GV\ ��� $�� ]S� *���75�$�� �� ��$�.*-��$�.$�)�

�� �''�,� �'6.- ,�� �� �&���6 �� �9����.$�6 ����,/��� ��$�.*-��$�.�+ %&���+��(�0 ��

�&�$�'�.��$� �&+ $-� �9����,� $(� ���+;(� s\ ��� G\ .$�% &���&7�( �/;��� 9�6���$��

.$�� �6���� l0l0

����$-��)�� +$� .� +'� $� &���;�6,��$� � *�+�� ��$�,'/$$�.- �6��� &�') ����+ ���

�$.� - �&�'�,� ��7��.� .$� ���+;�% � ���9����7 �� �%$+ $� ���$����� ;�� �*�� �;��6$��- .-M

��.6�0 �� ,�,��+ �%$+ $� ���������� ���/ �� */��� �6��� $��.;�7.$�$�� ��� ����,/�����

��/ .$-� &'����+$-$7 $�% �� ��$�.*-��$�.��6 %&���+��(� ;�� �6��� &��6&'����0 � �&+;�.-

+�( $- ���+;�% s\� .� .*�.- �� $-� &��+$-$� $�% &���,+����% �/;��� �6��� ��.�-$7 ��M

')$��-0 �&( 9�6��$�� ��� .$� ���;�,�7���$� $�% �*���$� l0!� .� +'� $� &���&$/.�� 

- ����;� s\ �*�� ����+$��� &��7,��$� ]rY �&+ $- ����;� G\ ��� $�� rWJBO0 � ;��9��7

�%$� .� �����7 &���;�6,��$� �6��� �;��6$��� .-���$���� &0*0 .$�� �',+����� qOE=_A - ����M

;� s\ �&�$%,*7��� .*�;+� 60% ����+$��� ]rY ��� .$- ����;� GV\ .*�;+� 110% ����+$���

]rY .� .),���.- �� $- ����;� G\0 
%$+ &�% �&6.- &���%.�75�� ��;��9���� .$�� �6���� l0l

�6��� +$�� - �)8-.- $�% ������) $(� ,�����&�78�(� ��$7 $- ��$�,'/$$�.-� - �&�6� ,����7

&����*�$�� �&+ &��6&'��� .*���$� .$�% ��$�.*-��$�.��) %&���+��(� ���h� .$�% */M
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,������� +��� (��!�� 
�	���)		��
� PmsQ RNS

7> M> 7>'NOI@H 7> M> 7>'NOI@H 7> M>

H1 99 22 53.03 0.50 0.42 1.47 1.20 1.05
BNM H2 107 22 50.27 0.53 0.42 1.50 1.21 1.01

H3 118 22 49.01 0.57 0.42 1.75 1.63 1.05
H4 165 40 90.04 0.77 0.5 1.80 1.78 1.30

H1 99 22 42.09 0.53 0.41 1.59 1.29 1.06
BNM H2 107 22 40.60 0.53 0.42 1.60 1.29 1.06

TUIVIW H3 118 22 57.9 0.57 0.42 1.90 1.73 1.12
H4 165 40 91.97 0.77 0.51 1.95 1.86 1.34

H1 645 28 346.99 5.3 0.46 2.08 1.91 1.57
XH9:Y? H2 645 28 347.96 5.26 0.47 2.09 1.92 1.60

H3 800 28 362.5 8.86 0.47 2.06 1.90 1.56
H4 3207 46 1, 353.55 194.88 0.53 5.58 5.09 2.10

H1 645 28 251.885 4.93 0.48 1.99 1.88 1.44
XH9:Y? H2 645 28 248.27 4.98 0.47 1.98 1.87 1.46
TUIVIW H3 800 28 229.34 8.19 0.48 2.02 1.89 1.45

H4 691 28 238.82 5.95 0.47 2.01 1.88 1.43

7E> H1 180 28 47.42 0.85 0.46 1.46 1.47 1.07

RB H1 1014 22 49.96 3.32 0.55 1.3 1.12 1.11

RB PTUIVIWQ H1 286 22 26.72 1.27 0.54 1.06 1.02 1.01

H1 868 22 40.8 2.84 0.55 1.31 1.09 1.07
CEZ H2 1014 22 49.91 3.31 0.55 1.29 1.08 1.07

H3 1342 22 49.16 4.35 0.55 1.58 1.34 1.12
H4 3481 368 90.8 11.64 1.71 1.64 1.51 1.19

H1 1086 22 44.66 3.51 0.54 1.36 1.08 1.07
CEZ H2 1260 22 40.63 4.1 0.55 1.42 1.35 1.09
TUIVIW H3 275 22 26.75 1.27 0.54 1.06 1.06 1.06

H4 2249 212 50.38 7.21 1.22 1.47 1.51 1.13

�6���� l0lu 	�����&�78�� � *�+�� ��$�,'/$$�.- ��� ]rY ,�� &��,��$��� �9����,� 

��% �&���'�N�(�� �;-,�6 ,����7 .� '�,+$��� �&�;�$��+ �/;���0 ��� �%$+ $� ,�,��+ �6���

������+����� ���/ �� ��� ,�����&�78�� �,����)�� ���.+$-$� &�% &��&�� �� &���'-9��)�

��$7 $-� �&�$6�-.- $(� ��(� ��6(� $�% ��$�.*-��$�.����% ��+*�%0
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����

�� ����;�� &���,(,� .�������) ��$�.*-��$�.����% �/;��� ��� $�'���) &��7''-'�% �/;����

&�% &���%.�7.$-��� .$� ��97'��� # ��� n� �9���+.$-��� .$-� ��$�.��%� ��+ ��,�'�6�% �%M

$+��$- &���,(,� &��7''-'�% �/;���0 �� ��,�'�6� �%$+ &��7,�� <�� �/;��� �� �'�.�� 

.� ��%$6�� $- ���'�����- $�% UT\0 �� $- ������� $�% ��,�'�6�% �%$�) �&���)�� �� ,��M

��.�%�� �%$+��$� STUV �/;��� ,�� 9('��.����% ��+*�% &�% �*�%� ��$�.*-��$�.$�6 ��

�&����;�&�$� ��$�.*-��$�.�+ &�% ��65�$�� �&+ �7&��� &6���� H � P 0 
865�� �� $���.$�6 +$��

�&+ $- ��'�$- $- .*�$��� ���'��,��96� � ;�� �*�� %&�&�.�� .$-� ��$6'-N� �� - )&��8- �7M

&���% ��$6.$��*�% ��,�'�6�% &�% �� &��7,�� &��7''-'� �/;��� ,�� ,�����) � �-M����,/���% 

��$�.*-��$�.��) %&���+��(�0

���&+ $(� &�����7$(� �%$� $- ��+$-$� �6��� �� �&������(��)� &��-,�)���� ���%�-$�M

�� ��,�.6� .*�$��7 �� $-� �&�'�,� $�% .*���$� $�% ��$�.*-��$�.��) %&���+��(�0 �&( 

���9���-�� ��� .$-� ��+$-$� #02� �� ��,�.6� w|S"!x ��� w|<Y"#x &��$�6��%� $-� �&�'�,� $�%

.*���$� $�% ��$�.*-��$�.��) %&���+��(� �&+ $-� �&�97���� $�% �/��% %&���+��(� $�% �'M
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,��6���%0 � �/�� %&���+��(� �6��� �7��$� .$�� �/�� $(� �8��$�.�(� 1�*��� #0240 	�� $�

.��&+ �%$+ �� �9���+.�%�� ����,/���% ��� �-M����,/���% ��$�.*-��$�.��) %&���+��(�

.� �6� .���7 &��,��$��/� �9����,/�� &�% &���%.�75��$�� .$� ���7�$-�� X0 �� ��+$-$� 

&�% ���'�%��)� &���%.�75�%� $� &������$��7 �&�$�'�.��$� ��� $� .*�$��7 .%�&��7.��$�

,�� $�% �/;��� qOE=_A� Srs� GV\� ]S ��� TVj0

Εργαλείο
Παραλληλοποίησης MPICC, gcc

Αρχικός

Σειριακός

Κώδικας

SPMD κώδικας

(C++,MPI)
Τελικός Παράλληλος

Κώδικας Μηχανής

�*��� l0#u ����,(,� $�'���) &��7''-'�% �/;��� �-*��� �� $- *��.- $�% %'�&��-����%
��,�'�6�% ��� $(� W>A<< ��� BEE

� &��7''-'� �/;��� ��$�'�.$-�� .� �6� .%.$��*6� 2o +���(� %&�'�,�.$/� �� �&�8��M

,�.$� TJQDAPW \\\� .%*�+$-$� '��$�%�,6� l""U|Z ��� ����- sGU !lo�X0 �� '��$�%�,��+

.).$-�� $(� �+��(� �6��� gAQPb �� &%���� !0n0!"0 �� ;6�$%� ;��.)�;�.- $�% .%.$���$� 

�6��� YOID jDCJ@QJD0 � ��$�,'/$$�.- $�% &��7''-'�% �/;��� &�% &��7,�� $� ��,�'�6� .�

,'/..� �-*��� � ,6��$�� �� $�� W>A<< &�% *�-.���&���6 ��� $�� BEE K0!03l0n0 1�*��� l0#40

��-.���&����-�� $� ;�)$��� �&6&�;� ��'$�.$�&�6-.- .$�� BEE 1Mr! =>DA=Q40

;	(	* >?@ABC

� &�/$� �',+����� &�% &���''-'�&����-�� �� $- ������� $(� $�*���/� &�% &���%.�7M

.$-��� .$-� &���).� ��,�.6�� �6��� - ����;� �&6'%.- �����/� ;��9����/� �8�./.�(� $�%

qOE=_A0 �'-��9��6� ,�� $�� �',+������ ���/ ��� - ��7'%.- &�% �9��7 $� �8��$�.�� $�%�

;6���$�� .$� ���7�$-�� X0 	�� �� &��,��$�&���.�%�� �6� .�9� .),���.- ��7��.� .� ���

����,/��� ��� ��� �-M����,/��� ��$�.*-��$�.�+ %&���+��(�� ;��87,�%�� $� &���7��$� .$�

��$�.*-��$�.���� �� �''�,� �'6.- */��� +&�% - �9����,� $�% ����,/���% ��$�.*-��$�M

.��) %&���+��(� �6��� �,�%�- 1�'0 ���7�$-�� X40 �d �%$+ $� */��� � �/�� %&���+��(�

�6��� � C =

⎡⎢⎢⎢⎢⎣
−3 1 1

1 −1 1
−1 −1 1
−1 1 1

⎤⎥⎥⎥⎥⎦0 �)�9(�� �� $� ��,�.6� w|S"!x ��� w|<Y"#x� $� ��'$�.$� .*�M

�� $�% ��$�.*-��$�.��) %&���+��(� &���)&$�� �� �&�'�,�)� ;���).��$�M,����� ,�� $��
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&6���� H �&+ $-� �&�97���� $�% �/��% �%$�)0 ��;�����% +$� � ����,/��� ��$�.*-��$�M

.�+ %&���+��(� ��9�75�$�� �� ���� &6���� $- ���9� Hr =

⎡⎢⎣
1
x 0 0
0 1

y 0

0 0 1
z

⎤⎥⎦ 1x, y, z ∈ Z+4�

- .),���.- �� ��� �-M����,/��� ��$�.*-��$�.�+ &�% �� &����%&$� ,�� &��7;��,�� �&�'�M

,��$� $��� ,����� �&+ $�� &6���� C �� �$�� ;).��'-� ���/ .d �%$� $-� &��6&$(.- ,��

�7�� ��$�.*-��$�.�+ �� �6*��� ;��9���$��+ ��,��� %&���+���% ��� ;��9���$��+ +,�� �&�M

����(�6� ��7 %&���+���0 �&�'�,�%�� .�� �-M����,/��� ��$�.*-��$�.�+ %&���+��(� ���

��$�.*-��$�.�+ &�% ;��$-��6 $� ;)� &�/$� ,����� $�% Hr� ��/ .�� $�6$- ,����� �&�'�M

,�%�� $-� $�6$- ,����� $�% C0 R$.� �*�%�� Hnr =

⎡⎢⎣
1
x 0 0
0 1

y 0

−1
z −1

z
1
z

⎤⎥⎦0 
� �&�'�8�%�� �����) 

&��7,��$� x� y ��� z ,�� $�% ;)� &6���� Hr ��� Hnr� $+$� $� ��,��- $(� %&���+��(� &�%

&���)&$�%� �6��� 6.�� �9�) Vcomp(Hr) = 1
|det(Hr)| = xyz ��� Vcomp(Hnr) = 1

|det(Hnr)| = xyz0

�&�&�+.��$�� �� �&�����6.�%�� %&���+���% ��$7 ���� $- $�6$- ;�7.$�.- .$�� 6;�� �&�M

8��,�.$�� $+$� ��� � +,�� �&�����(�6� ��7 %&���+��� .� �7�� &��6&$(.- �6��� � 6;�� 

1Vcomm(Hr) = Vcomm(Hnr)� �'0 �*�.- !0o40 �� �%$+ $�� $�+&�� - ;��9��7 .$� .%��'��+

*�+�� ��$�'�.- &�% $%*+� �� &���)N��� �� �9�6'�$�� �&��'��.$��7 .$- ;��9��7 $�% 7��,�%

*�+��% $(� �&�8��,�.$/� &�% �&�9���%� $� ;��9���$��7 .*���$� $(� %&���+��(�0

	�� �� �&��$�.�%�� ��� &�� ��(�-$��� �&$��� $(� ������+���(� �&�$�'�.�7$(�� �� &��,M

��$�&���.�%�� ��� �&'�&��-���- ��(�-$��� ��7'%.-0 
� %&���.�%�� +$� $� '�8���,��9��7

��,�')$��� .-��6� $�% ��*���) */��% �6��� $� jmax = (T, I, J)� $+$� $� .-��6� �%$+ ��$7

$� ��$�.*-��$�.�+ �''�,� �'6.- �� ��$�.*-��$�.$�6 .$� j′max = (T, T + I, T + J)0 ��

j′max ��$7 $� ��$�.*-��$�.�+ %&���+��(� �� ������ .$�� %&���+��� �Hj′max	0 ��-.���M

&��/�$� .�� ,������+ ;�7�%.�� ;����'+,-.- $� Π = [1, 1, 1]� $+$� $� .-��6� j′max ��

��$�'�.$�6 $- *������ .$�,�� tr = Π�Hrj
′
max	 = T

x + T+I
y + T+J

z �� $�� ����,/��� ��$�.*-M

��$�.�+ %&���+��(� ��� $- *������ .$�,�� tnr = Π�Hnrj
′
max	 = T

x + T+I
y + T+J

z − T
z − T+I

z

�� $�� �-M����,/��� ��$�.*-��$�.�+ %&���+��(�0 ���9��/ tnr < tr� 7�� �������%�� �

�-M����,/��� ��$�.*-��$�.�+ � �� �&�$)*�� ����+$��� .%��'��+ *�+�� ��$�'�.- �&+ $��

����,/���0

���,��$�&���.��� ��$��.�� ,�� $� .%��'��+ *�+�� ��$�'�.- .� $�..��� ;��9���$���) 

*/��% �&���'�N�(�0 �� �7�� &��6&$(.- �&�'�8��� ��$7''-'� $� &�����$��% x ��� y� /.$�

� �����+ $(� �&��$�)���(� ;���,�.�/� �� &�������� .$����+ ��� ��$��7'��� $-� &��7��$��

z� ,�� �� ���/.�%�� � �� �%8�.�%�� $� ��,��� $�% %&���+���%0 �� �&�$�'�.��$� $(�

.%��'��/� *�+�(� ��$�'�.- .$�% $�..��� */��% �&���'�N�(�� ,�� $�� ����,/��� ��� $�



.�� �������	�� 4��	������	� 	�2 A�����% ��� ��
��2 0)1��� 55A

�-M����,/��� ��$�.*-��$�.�+ 9�6���$�� .$� �*��� l0n0

 0

 5

 10

 15

 20

 25

 0  5  10  15  20  25  30  35

T
i
m
e
 
(
i
n
 
s
e
c
)

Tile Size (in K)

Iteration Space 128x128x128

Rectangular Tiling
Non-Rectangular Tiling

 0

 5

 10

 15

 20

 25

 30

 35

 0  5  10  15  20  25  30  35

T
i
m
e
 
(
i
n
 
s
e
c
)

Tile Size (in K)

Iteration Space 128x128x256

Rectangular Tiling
Non-Rectangular Tiling

 0

 5

 10

 15

 20

 25

 30

 35

 40

 0  10  20  30  40  50  60  70  80

T
i
m
e
 
(
i
n
 
s
e
c
)

Tile Size (in K)

Iteration Space 128x256x128

Rectangular Tiling
Non-Rectangular Tiling

 0

 10

 20

 30

 40

 50

 60

 0  10  20  30  40  50  60  70  80

T
i
m
e
 
(
i
n
 
s
e
c
)

Tile Size (in K)

Iteration Space 256x128x128

Rectangular Tiling
Non-Rectangular Tiling

�*��� l0nu qOE=_Au ��+��� ��$�'�.- ,�� ����,/��� 1@JEDOQBPHO@4 ��� �-M����,/��� 1Q=QM
@JEDOQBPHO@4 ��$�.*-��$�.�+ .� $�..��� */��% �&���'�N�(�

����$-��)�� +$�� +&( ������+$��� .� +'�% $�% */��% ��� ,�� +'� $� ��,��- %&���+�M

�(�� � �-M����,/��� ��$�.*-��$�.�+ �&�$%,*7��� ����+$���% .%��'���) *�+��% ��$�'�M

.- �&+ $�� ����,/���0 � �6���� l0o .%��N65�� $� &������$��7 �&�$�'�.��$�0 � �'7*�.$� 

*�+�� ��$�'�.- .� �7�� */�� �&�$%,*7��$�� �&+ $� �-M����,/��� ��$�.*-��$�.�+ ��� �7M

'�.$� �� .-���$��� ;��9��7 �&+ $�� ����,/���0 �;��6$��� .-���$��� �6��� ��� - ;��9��7 .$�

��.� *�+�� ��$�'�.- &�% 9$7��� ��*�� $� 36.7% .$� */�� 256 × 128 × 1280 �� ,�,��+ 

�%$+ �6��� �;��6$��� ��$%&(.���+� ���/ �%$� - ��,7'- ��6(.- .$� .%��'��+ *�+�� ��$�'�.- 

&���'�� �� ��� ����� �''�,� .$� .*��� $�% ��$�.*-��$�.��) %&���+��(�0
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()��� tr tnr [ tr tnr [
���!���*�"! O?8 O?8 W?\� H]@� H]@� W?\�

128 × 128 × 128 11.75 10.01 17.3 13.77 12.06 14.2

128 × 128 × 256 21.59 19.11 13 23.26 21.14 10

128 × 256 × 128 19.02 17.55 8.4 24.7 19.2 28.6

256 × 128 × 128 30.98 24.32 27.4 38.3 28.02 36.7

�6���� l0ou qOE=_Au �'7*�.$�� ��� ��.�� *�+��� ��$�'�.- 1IJE4 ,�� $�% $�..��� */��% 
�&���'�N�(�

;	(	( �DE

� ����;� iOPII SPEEJIIAKJ rKJ@MsJHObODA=Q 1Srs4 *�-.���&���6$��� +&( ��� - ����;� 

$�% qOE=_A� ,�� $-� �&6'%.- �����/� ;��9����/� �8�./.�(�0 ��� .d �%$� $-� &��6&$(.-�

�&��;� � ��*��+ */�� &����*�� �8��$�.�� �� ���-$���) &��7,��$� � �&��$�6$�� �9����,�

$�% ��$�.*-��$�.��) �''�,� �'6.- � ,�� �� �6��� ;%��$� - �9����,� ����,/���% ��$�.*-M

��$�.��) %&���+��(�0 R$.�� ��� �;/ �� .*�$��� ��$��.�� ��� .%,��6.�� �� ,6��%� .$�

��$�.*-��$�.���� */��0 �$� */�� �%$+ � �/�� %&���+��(� �6��� � C =

⎡⎢⎢⎢⎢⎣
1 0 0
0 1 0

−1 0 1
−2 1 1

⎤⎥⎥⎥⎥⎦0

� �-M����,/��� &6���� Hnr =

⎡⎢⎣
1
x 0 0
0 1

y 0

−1
z 0 1

z

⎤⎥⎦ �6��� &��7''-'� .$-� �&�97���� $�% �/M

��% %&���+��(�0 
��'�%�/�$� &��+���� ��7'%.- �� $-� &��6&$(.- $- ���+;�% qOE=_A�

&���)&$�� +$� $� .-��6� jmax = (T, I, J)� &�% .$� ��$�.*-��$�.���� */�� ,6��$�� j′max =
(T, T + I, T + 2J)� �� ��$�'�.$�6 $- *������ .$�,�� tr = T

x + T+I
y + 2T+J

z �� $�� ����,/M

��� ��$�.*-��$�.�+ ��� $- *������ .$�,�� tnr = T
x + T+I

y + 2T+J
z − T

z = tr − T
z �� $��

�-M����,/���0 ���9��/ ��� �;/ �.*)�� tnr < tr ��� �&����( �������%�� � �-M����,/��� 

��$�.*-��$�.�+ �� �*�� ����+$��� .%��'��+ *�+�� ��$�'�.- �&+ $�� ����,/���0

�$� �*��� l0l 9�6���$�� �� *�+��� ��$�'�.- $�% �',��6���% Srs .� $�..��� */��% ,��

;�79��� ��,��- %&���+��(�0 ��� .d �%$� $-� &��6&$(.-� +&( ������+$��� � �-M����,/��� 

��$�.*-��$�.�+ �&�9���� �&�$7*%�.- .$-� ��$�'�.- $�% &���''-'�&��-����% �/;���0 �$��

�6���� l0p &���$-��)�� .%��&$��7 $- ��'$6(.- .$-� �&6;�.- $- &��7''-'- ��$�'�.- '+,(

$�% .*���$� $�% ��$�.*-��$�.��) %&���+��(�0 ��� �;/ �;��6$��� ��$%&(.���+ �6��� $�

,�,��+ � +$� �''75��$� ��� �+�� &��7,��$� .$�� &6���� ��$�.*-��$�.��) H �&�$%,*7��%��

��$7 ��.� +�� 25% ��'$6(.- .$� */�� 256 × 128 × 1280
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�*��� l0lu Srsu ��+��� ��$�'�.- ,�� ����,/��� 1@JEDOQBPHO@4 ��� �-M����,/��� 1Q=QM
@JEDOQBPHO@4 ��$�.*-��$�.�+ .� $�..��� */��% �&���'�N�(�

;	(	/ F�6

� $�6$- �9����,� &�% &���''-'�&����-��� &����*�$�� ��� �%$� �&+ $� &�;6� $- �����-$��� 

��7'%.- ��� .%,��������� �&+ $-� �&���'-&$��� �&6'%.- �����/� ;��9����/� �8�./.�(�0

�&( 9�6��$�� ��� .$� ���7�$-�� X� $� ;���).��$� �87�$-.- .$�� ��*��+ */�� &���'���7M

��%� �-M���-$��� .%�$�$�,���� ��� �$.� � ����,/��� ��$�.*-��$�.�+ %&���+��(� �6���

�,�%�� .$�� ��*��+ */��0 � �/�� %&���+��(� .$� */�� �%$+ �6��� C =

⎡⎢⎣ 1 −1 −1
0 1 0
0 0 1

⎤⎥⎦0
�9���+.��� $��� ;��9���$���) �-M����,/���% ��$�.*-��$�.��) %&���+��(� .$� */M
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()��� tr tnr [ tr tnr [
���!���*�"! O?8 O?8 W?\� H]@� H]@� W?\�

128 × 128 × 128 12.65 11.76 7.5 15.77 13.56 16.3

128 × 128 × 256 22.5 21.31 5.6 23.51 22.89 2.7

128 × 256 × 128 22.54 18.68 20.6 24.63 21.21 16.1

256 × 128 × 128 40.85 30.37 34.5 41.63 33.15 25.5

�6���� l0pu Srsu �'7*�.$�� ��� ��.�� *�+��� ��$�'�.- 1IJE4 ,�� $�% $�..��� */��% 
�&���'�N�(�

�� �%$+0 �� ��$�.*-��$�.��6 &���,�79��$�� �&+ $�% &6���� Hnr1 =

⎡⎢⎣
1
x − 1

x 0
0 1

y 0

0 0 1
z

⎤⎥⎦�
Hnr2 =

⎡⎢⎣
1
x 0 − 1

x

0 1
y 0

0 0 1
z

⎤⎥⎦ ��� Hnr3 =

⎡⎢⎣
1
x − 1

x − 1
x

0 1
y 0

0 0 1
z

⎤⎥⎦0 � $�6$� ��$�.*-��$�.�+ �6���

&��7''-'� .$-� �&�97���� $�% �/��% %&���+��(� ��� �&����( ��(��6$�� ��'$�.$� 0 
��M

'�%�/�$� ��7'%.- +���� �� &��-,�%���( � %&�'�,65�%�� $�% ��(�-$���) *�+��% $�%

����,/���% ��� $(� �-M����,/��(� ��$�.*-��$�.�/�0 R*�%�� jmax = (T, I, J)� ��� �$.�

tr = T
x + I

y + J
z � tnr1 = tr − I

x � tnr2 = tr − J
x ��� tnr3 = tr − I

x − J
x 0 �-'�;� �.*)��

tnr3 < tnr1, tnr2 < tr0 
������%�� ;-'�;� � ��$�.*-��$�.�+ Hnr3 �� �&�9���� ����+$���

*�+�� ��$�'�.- �&+ $�% Hnr1 ��� Hnr2 �� �&�6�� �� $- .���7 $�% �� �*�%� ����+$��� *�+��

��$�'�.- �&+ $�� ����,/��� ��$�.*-��$�.�+ Hr0 �&6.- � �� I = J �������%�� +$� �� Hnr1

��� Hnr2 �� �*�%� $�� 6;�� *�+�� ��$�'�.- 0

�d �%$� $-� &��6&$(.- �&�����65�%�� $�% %&���+���% $- &�/$- ;�7.$�.- .$�� 6;��

�&�8��,�.$�0 �� �%$+ $�� $�+&� �&�$%,*7��%�� 6;�� ��,��� %&���+���% ��� 6;�� +,�� �&����M

�(�6� ��7 %&���+��� ��� ,�� $�% $�..��� ��$�.*-��$�.��) 0 ��$7 $-� &���''-'�&�6-.-

$�% �/;��� GV\� ;��$-��.��� $� &�����$��% y ��� z 6.� ��� .$����� ��� ��$��7''���

$-� &��7��$�� x ,�� �� �%8����/.�%�� $� ��,��� $�% %&���+���%0 R$.�� �� $%*+� ;��9��� 

.$� *�+�� ��$�'�.- �� �9�6'��$�� �&��'��.$��7 .$- ;��9���&�6-.- $�% 7��,�% *�+��% $(�

�&�8��,�.$/�0 �$� �*��� l0o &���%.�75�%�� $�% *�+��% ��$�'�.- $(� $�..7�(� ��$�M

.*-��$�.�/� .� $�..��� */��% �&���'�N�(� ,�� $�% �&�6�% �.*)�� I = J ��� ,�� ;�79���

��,��- %&���+��(�0 ��� .$-� &��6&$(.- $- ���+;�% GV\ $� �&�$�'�.��$� �6��� +&( $�

���������0 � ��'$�.$� �-M����,/��� ��$�.*-��$�.�+ Hnr3 �&�$%,*7��� $�% ����+$���% 

*�+��% ��$�'�.- � ��/ ���'�%��)� �� ;)� 7''�� �-M����,/���� ��$�.*-��$�.��6 Hnr1 ���

Hnr2 �� �&�6�� �7'�.$� �*�%� ��� .*�;+� 6;��% *�+��% ��$�'�.- � ,�,��+ &�% �&������/���
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�*��� l0ou GV\u ��+��� ��$�'�.- ,�� ���� ����,/��� 1@JEDOQBPHO@4 ��� $��� �-M
����,/���% 1Q=QM@JEDOQBPHO@ 2M#4 ��$�.*-��$�.��) .� $�..��� */��% �&���'�N�(� 1I =
J4

$� ��(�-$��7 ������+���� �9�) I = J 0

�;��6$��� ��;��9���� &���%.�75�� .$-� &��6&$(.- $�% GV\� - ��'�$- $- �&6;��.- $�%

.*���$� $�% */��% �&���'�N�(� .$�� $�'��+ *�+�� ��$�'�.- 0 ����..+$��� '�&$������� 

,�� $�� &��7,��$� �%$+ ;6���$�� .$� ��,�.6� w|S3mx ��� w|S"!x0 �� �7.- $� �&'�&��-��M

�� ���$�'� ��(�-$��� ��7'%.- &�% *�-.���&���)�� �;/� �������%�� +$� �� I > J � $+$�

tnr1 < tnr2 ��� �7'�.$� �� I >> J $+$� tnr1 → tnr3 ��� tnr2 → tr0 
�$�.$�+9( � ,��

J > I� $+$� tnr1 > tnr2 ��� ,�� J >> I tnr2 → tnr3 ��� tnr1 → tr0 	�� �� �8�$7.�%�� $-�

�&6;��.- $�% ��,���% ��� $�% .*���$� $�% */��% �&���'�N�(� .$�� $�'��+ *�+�� ��$�'�M

.- � &7�$� .� .%�7�$-.- �� $� .*��� $�% ��$�.*-��$�.��) %&���+��(�� &��,��$�&���.���

��� .���7 &�����7$(� .� $�..��� */��% ,�� $�% �&�6�% �.*)�� I �= J 0 �� �&�$�'�.��M

$� 9�6���$�� .$� �*��� l0p0 ����$-��)�� +$� $� &������$��7 �&�$�'�.��$� �&�'-��)�%�
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�*��� l0pu GV\u ��+��� ��$�'�.- ,�� ���� ����,/��� 1@JEDOQBPHO@4 ��� $��� �-M
����,/���% 1Q=QM@JEDOQBPHO@ 2M#4 ��$�.*-��$�.��) .� $�..��� */��% �&���'�N�(� 1I �=
J4

�� ��,7'- ���6���� $� ��(�-$��7 ������+����0 �$� */�� 128 × 64 × 128 &�7,��$� �*�%��

tnr3 < tnr1 < tnr2 < tr� ��/ .$� */�� 128 × 128 × 64 �� *�+��� tnr1 ��� tnr2 ��$�.$��9��$���

�&+$� �.*)�� tnr3 < tnr2 < tnr1 < tr0 �$� */�� 128 × 64 × 256� +&�% - ;��9��7 $(� I ���

J �6��� &�') ��,7'-� &���$-��)�� +$� tnr2 → tnr3 ��� tnr1 → tr ��� ��$6.$��*� .$� */��

128 × 256 × 64 �*�%�� tnr1 → tnr3 ��� tnr2 → tr0 � �6���� l0m .%��N65�� $� �&�$�'�.��$�

��� ,�� $�% ��$/ */��% �&���'�N�(�0 �-���/��$�� +$� - � ;��9��7 &�% &���%.�75�$���

�9��7 $- ;��9��7 ��7��.� .$� ��'$�.$� �-M����,/��� ��$�.*-��$�.�+ Hnr3 ��� .$�� ����M

,/��� Hr0 ����$-��)�� +$� �;/ �� ;��9��� �6��� ��+�� ��,�')$��� .� +'�% $�% */��% 

��� 9$7��%� ��+�� ��� $� 72% .$� */�� 128 × 256 × 2560



.�� �������	�� 4��	������	� 	�2 A�����% ��� ��
��2 0)1��� 55Q

()��� tr tnr1 tnr2 tnr3 [ tr tnr1 tnr2 tnr3 [
���!���*�"! O?8 O?8 O?8 O?8 W?\� H]@� H]@� H]@� H]@� W?\�

64 × 128 × 128 2.1 2.02 2.06 1.63 28.8 2.88 2.31 2.33 1.75 64.3

128 × 128 × 128 3.95 3.75 3.77 3.19 23.8 5.69 4.51 4.53 3.32 71.5

128 × 256 × 256 15.67 15.03 15.03 12.7 23.4 22.8 17.82 17.82 13.25 72.1

256 × 128 × 128 7.41 7.15 7.14 6.37 16.3 8.95 7.76 7.78 6.57 36.2

128 × 64 × 128 3.7 3.67 3.46 3.19 16 4.78 4.44 3.65 3.29 31

128 × 64 × 256 14.27 14.75 12.44 12.51 14.1 17.35 12.52 12.76 12.95 34

128 × 128 × 64 3.73 3.46 3.74 3.18 17.3 4.80 3.64 4.46 3.29 45.9

128 × 256 × 64 14.34 12.44 14.75 12.51 14.6 17.4 12.8 17.5 12.95 34.1

�6���� l0mu GV\u �'7*�.$�� ��� ��.�� *�+��� ��$�'�.- 1IJE4 ,�� $�% ��$/ */��% �&���M
'�N�(�

;	(	9 5�

� �',+����� ]S *�-.���&���6$�� .$-� �&�8��,�.6� ���+�� 0 �$�� &6���� �8��$�.�(� $�%

��*���) 9('��.����% ��+*�% %&7�*�%� ���-$���6 &��7,��$� ��� ,�� $� '+,� �%$+ � */�� 

&��&�� �� ��$�.*-��$�.$�6 �� �''�,� �'6.- ,�� �� �&���)�� �� �9���+.�%�� ����,/��� ��M

$�.*-��$�.�+ %&���+��(�0 � �/�� %&���+��(� $�% ��*���) */��% �6��� � C =

⎡⎢⎣ 1 0 0
1 1 0
1 1 1

⎤⎥⎦
��/ .$�� ��$�.*-��$�.���� */�� � �/�� %&���+��(� �6��� � C =

⎡⎢⎣ 1 0 0
0 1 0
0 0 1

⎤⎥⎦0 ����$-M

��)�� &( .$� ��$�.*-��$�.���� */�� � ����,/��� ��$�.*-��$�.�+ %&���+��(� �6���

��'$�.$� 0 �&����( � .$� &��7;��,�� �%$+ ;�� %&7�*�� �7&��� �-M����,/��� ��$�.*-��M

$�.�+ &�% �� �;-,�6 .� ����+$��� *�+�� ��$�'�.- �&+ $�� ����,/���0 
%$+ &�% �*�� +�( 

��;��9���� �� �8�$7.�� ����6 .$- .%,��������- &��6&$(.-� �6��� �� *�+��� ��$�'�.- $�%

�-M����,/���% ��$�.*-��$�.��) %&���+��(� .$�� ��*��+ */�� ��� $�% ����,/���% ��$�M

.*-��$�.��) %&���+��(�� .$�� */�� &�% �*�� ��$�.*-��$�.$�6 �� �''�,� �'6.- 0 R$.��

�9���+.��� $�� �-M����,/��� ��$�.*-��$�.�+ Hnr =

⎡⎢⎣
1
x 0 0
1
y

1
y 0

1
z

1
z

1
z

⎤⎥⎦ .$�� ��*��+ */�� ���

$�� ����,/��� ��$�.*-��$�.�+� ��$7 $� ,�(.$7� Hr =

⎡⎢⎣
1
x 0 0
0 1

y 0

0 0 1
z

⎤⎥⎦ .$� ��$�.*-��$�.����

*/��0 
������%�� ��(�-$��7 �� ;)� &���&$/.�� �� �*�%� 6;�� .%��'��+ *�+�� ��$�'�.- �

��/ $%*+� ;��9��� �� �9�6'��$�� .$-� %'�&�6-.- $�% ��$�.*-��$�.��) %&���+��(� .$-�
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�*��� l0mu ]Su ��+��� ��$�'�.- ,�� ����,/��� 1@JEDOQBPHO@4 ��� �-M����,/��� 1Q=QM
@JEDOQBPHO@4 ��$�.*-��$�.�+ .� $�..��� */��% �&���'�N�(�

����$-��)�� +$�� +&( ������+$��� �� *�+��� ��$�'�.- .%�&6&$�%� .� &�') ��,7'� ����+

.$�% $��� �&+ $�% $�..��� */��% 0 
�+�� ��� .$� */�� 128 × 128 × 128 &�% %&7�*��

;��9��7 .$�% *�+��% ��$�'�.- �%$� ;�� 8�&���7 $� oMp�0 ��$+ �&+ $-� �&�����6(.- $(�

��(�-$��7 ������+���(� *�+�(� ��$�'�.- � �87,�%�� �&6.- $� .%�&���.�� +$� - �&�%��6� 

�9����,� $�% �-M����,/���% ��$�.*-��$�.��) %&���+��(� .$�� ��*��+ */��� �6��� $� 6;��

�&�;�$��� � ��� �&�;�$��+$��- �&+ $- ;��;�*��� �9����,� �''�,� �'6.- ��� ����,/���%

��$�.*-��$�.��) %&���+��(�0
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� �/;��� TVj *�-.���&���6$�� �� �%$+ ��$7 $-� �&6'%.- �����/� ;��9����/� �8�./.�(�0

R*�� ����7 ;���).��$� �87�$-.- ��� ���/ �����7 �&+ �%$7 &����*�%� ���-$��� .%�$�M

$�,���� � � ��*��+ */�� $�% &���'���$� ��$�.*-��$65�$�� �� �''�,� �'6.- 0 � �/�� 

%&���+��(� .$�� $�'��+ */�� �6��� � C =

⎡⎢⎢⎢⎢⎣
1 0 0
1 −1 1
0 1 0
0 0 1

⎤⎥⎥⎥⎥⎦0 ����$-��)�� &( � ����,/��� 

��$�.*-��$�.�+ ���;�&�6-.- �6��� &��7''-'� .� $�6� ;���).��$�M,����� $�% �/��% ���

�&����( �6��� ��(�-$��7 ��'$�.$� 0 � ;�)$��- ,����� $�% �/��% ���;�&�6-.- +�( ��.7M

,�� ��� �-M����,/���% ��$�.*-��$�.��) .�� %&�N�9��% ��'$�.$�% 0 �d �%$� $-� $�'�%$�6�

.���7 &�����7$(� �9���+.��� .$� &�+�'-�� ����,/��� ��$�.*-��$�.�+ ���;�&�6-.- &�%

+&( �*�� ��&(��6 &���,�79�$�� �&+ $�� &6���� Hr =

⎡⎢⎣
1
x 0 0
0 1

y 0

0 0 1
z

⎤⎥⎦ ��� $�� �-M����,/��� ��M

$�.*-��$�.�+ &�% &���)&$�� �&+ $-� ��$���$7.$�.- $- $�'�%$�6� ,����� $�% Hr �&+ $-�

$�6$- ,����� $�% �/��% ���;�&�6-.- 0 R$.�� Hnr =

⎡⎢⎣
1
x 0 0
0 1

y 0
1
z −1

z
1
z

⎤⎥⎦0 
� jmax = (T, I, J)

�6��� $� '�8���,��9��7 ��,�')$��� .-��6� .$�� ��*��+ */�� $+$� �� �7.- $� ��$�.*-��$�.�+

�''�,� �'6.- $� .-��6� �%$+ �� ��$�.*-��$�.$�6 .$� j′max = (T, 2T + I, 2T + I +J)0 ��$7

$� ,�(.$7� $� .-��6� �%$+ �� ��$�'�.$�6 $- *������ .$�,�� tr = T
x + 2T+I

y + 2T+I+J
z �� $��

����,/��� ��$�.*-��$�.�+ ��� $- *������ .$�,�� tnr = T
x + 2T+I

y + T
z − 2T+I

z + 2T+I+J
z 0

����)&$��� +$� &��7 $� ,�,��+ +$� �� ;)� ��$�.*-��$�.��6 �6��� ��(�-$��7 ��'$�.$��� � �-M

����,/��� �������$�� �� �6��� ��')$��� �9�) tnr < tr0 �$� �*��� l03 &���%.�75�%�� $�% 

*�+��% ��$�'�.- ,�� $�..��� */��% �&���'�N�(� ��� ;�79��� ��,��- %&���+��(�0

����$-��)�� ��� .d �%$� $-� &��6&$(.- +$� � �-M����,/��� ��$�.*-��$�.�+ �;-,�6 .�

.-���$��7 ����+$���% *�+��% ��$�'�.- �&+ $�� ����,/���0 � �6���� l03 .%��N65�� $� 

;��9��� �%$� 0 �� ;��9��� .$� .%,��������� &��7;��,�� �6��� &�') ��,7'� .$� �'7*�.$� 

$��� $�% *�+��% ��$�'�.- � �� �&�6� ��� �&�$%,*7���$�� ,�� ����7 ��,��- %&���+��(�0 ��

$-� �)8-.- $�% ��,���% $(� %&���+��(� �� ;)� ��$�.*-��$�.��6 9�6��$�� �� .%,�'6��%� .�

��,7'�% *�+��% ��$�'�.- 0 �����$-��.$��+ �6��� &7�$( � +$� .$� */�� 128 × 256 × 128 -

� ;��9��7 .$�� �'7*�.$� *�+�� ��$�'�.- 9$7��� $� 3!�n�0
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�*��� l03u TVju ��+��� ��$�'�.- ,�� ����,/��� 1@JEDOQBPHO@4 ��� �-M����,/��� 1Q=QM
@JEDOQBPHO@4 ��$�.*-��$�.�+ .� $�..��� */��% �&���'�N�(�

0&* '�����������


&+ $� �&�$�'�.��$� $(� &�����7$(� &�% &���%.�7.$-��� .$� ��97'��� �%$+� �&���)� ��

�8�*��)� $� �8� .%�&��7.��$�u �.�� �9��7 $� .������+ ��$�.*-��$�.���� �/;���� - ����M

;� &�% &��$7�-�� .$� ��97'��� #� �&'�&���6 .-���$��7 $- ;��;���.6� &���,(,� $�% .�����M

��) ��$�.*-��$�.����% �/;���� �7$� &�% �*�� 7��.� �&�$�'�.�� .$� *�+�� ��$�,'/$$�.- 0


� ��� � *�+�� ��$�,'/$$�.- ;�� �6��� &�($��*��� .-��.6� � ;�;�����% +$� ��� &�+,�����

��$�,'($$65�$�� �6� 9��7 ��/ ��$�'�6$�� &�''� � - ��6(.- $�% *�+��% ��$�,'/$$�.- �&���6

�� �6��� �;��6$��� .-���$��� .� ��$-,��6� �',��6��(� 1&0*0 $�..7�(� ;��.$7.�(� ��+*��4�

+&�% - ����;� G\ �&��$�6 ;��7;� /�� ,�� �� �'��'-�(��60 � �&'�&�6-.- $- ;��;���.6� 

��$�,'/$$�.- �&�$��&�� ��� $-� �'��'��(.- $- ��$�,'/$$�.- .� �',��6���% &�% ;�� ��

�$�� ;%��$+� �� ��$�,'($$�.$�)� '+,( �''��N- ����- � '+,( %&��*�6'�.- 0
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()��� tr tnr [ tr tnr [
���!���*�"! O?8 O?8 W?\� H]@� H]@� W?\�

128 × 128 × 128 40.7 27.22 49.5 46.67 41.78 11.7

128 × 128 × 256 56.42 43.5 29.7 63.67 57.91 9.9

128 × 256 × 128 73.31 37.99 92.4 81.7 61.78 32.23

256 × 128 × 128 115.59 81.56 41.7 125.04 110.25 13.4

�6���� l03u TVju �'7*�.$�� ��� ��.�� *�+��� ��$�'�.- 1IJE4 ,�� $�% $�..��� */��% 
�&���'�N�(�

� &'��� .-���$��� +�( .%���.9��7 $- ���+;�% &�% &��$7�-�� ,�� $-� &���,(,� $�%

.�������) ��$�.*-��$�.����% �/;���� �6��� .$-� �&�;�$��+$-$� $�% &���,+����% �/;���0


&+ $� &������$��7 �&�$�'�.��$� $- ��+$-$� l02 &���)&$��� +$� - ��'$6(.- .$� *�+��

��$�'�.- $�% .�������) ��$�.*-��$�.����% �/;��� &�% �&�9���� - &��$���+���- ����;� �6���

�;��6$��� .-���$���0 ���9��/ $� ,�,��+ �%$+ �6��� 5($��� .-��.6� � ���/ - �&6$�%8-

�&�;+.�(� ��$7 $-� &���''-'�&�6-.- ��+ �',��6���% �6��� � ��$���������+ .$+*� � ��� ��

&��&�� �� ���5-$7$�� .� +'� $� .$7;�� $- &���''-'�&�6-.- 0 
�+�� ��� �� &�� �8%&�� 

$�*���� ��(�-$��� &���''-'�&�6-.- �� �*�%� ���(���- �&+;�.-� �� - ����;� %'�&�6-.� 

$�% &��7,�� ���� &��+$-$� $�'��+ �/;���0

�.�� �9��7 $� &������$��7 �&�$�'�.��$� .� .*�.- �� $�� $�'��+ &��7''-'� �/;����

�&���)� �� �8�*��)� $� �8� .%�&��7.��$�u �� .*��� $�% ��$�.*-��$�.��) %&���+��(�

�*�� &�') ��,7'- �&6;��.- .$� .%��'��+ *�+�� ��$�'�.- ��+ ��$�.*-��$�.����% */��%

�&���'�N�(�0 �� ��,7'� �����+ �',��6��(�� */�(� �&��7'-N- ��� ��,��/� %&���+��(��

$� &������$��7 �&�$�'�.��$� �;��8�� +$� - �&�'�,� $�% .*���$� $�% ��$�.*-��$�.��) %&��M

�+��(� �&+ $�� �/�� $(� %&���+��(�� �6��� ;%��$+� �� ���/.�� $� *�+�� ��$�'�.- ��+��

��� .� &�.�.$7 &�% 9$7��%� $� 3"�0 � ��6(.- �%$� &����*�$�� �&+ $- ��6(.- $�% 7��,�%

*�+��% $(� �&�8��,�.$/� +&( ��(�-$��7 �*�� �&�;��*��6 .$� ��,�.6� w|S"!x ��� w|<Y"#x0

�� �&�$�'�.��$� �%$7 ���;����)�%� $-� �86� ��+ ��$�,'($$�.$� &�% �� �6��� .� ��.- ��

&��7,�� �/;��� ,�� ,�����) � ����,/���% ��� �-M����,/���% � ��$�.*-��$�.��) %&���+�M

�(�0
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&����������� ��� ���������

� �)��� .��&+ $- &���).� ;��$���� �$�� - ��7&$%8- �6� �&�;�$��� ���+;�% ,�� $-�

�%$+��$- &���,(,� &��7''-'�% STUV �/;���� ,�� 9('��.����% ��+*�% &�% �*�%� ��$�M

.*-��$�.$�6 �� $� ��$�.*-��$�.�+ %&���+��(�0 � $�'��� ��*�$��$����� $�% &���,+����%

�/;��� �6��� �6� ��*�$��$����� ��$����-���- ����- � - �&�6�� +&( ���9���-��� �&�$�'�6

$-� &�� ;).��'- $�'��� ��*�$��$����� ��$7 $-� �%$+��$- &���,(,� &��7''-'�% �/;���0 �

.��&+ �%$+ �&�$�)*�- ;6���$� �&�&�+.��$� �;��6$��- ��9�.- ��� .$-� �&�;�$��+$-$� $�%

&���,+����% �/;���0 �� .%�&��7.��$� &�% &���)&$�%� �&+ $-� ���%�� &�% �;�,-.� .$-�

��,�.6� �%$� .%��&$��7 �6��� $� �8� u

• �7�� ��$�.*-��$�.�+ .� ��� 9('��.���� ��+*� �&�9���� .$�� $�'��+ �/;��� �6� �&�M

�7�%�.- &�% �9�6'�$�� �����/ .$-� %'�&�6-.- $�% ��$�.*-��$�.��)0 �$-� &��6&$(.-

$�% ��$�.*-��$�.��) %&���+��(�� +&�% ��� ��*��+ QM;�7.$�$� ��+*� ��$�.*-��$6M

5�$�� .� ��� !QM;�7.$�$�� - �&��7�%�.- �%$� �&���6 �� �6��� �;��6$��� .-���$���� ��;��7

+$�� �9���+5�$�� ��� �-M����,/��� ��$�.*-��$�.�+ 0 
� .$-� &���&7�( &���$��-.-

&��.$���6 ��� $� ,�,��+ +$� - &���''-'�&�6-.- ��+ .�������) &��,�7���$� �&�9�M

��� �&�&'��� �&��7�%�.-� $+$� .%�&���6��� �)��'� ����6 +$� - &���,(,� &��7''-'�%

�/;��� ,�� ,�����) ��$�.*-��$�.��) %&���+��(�� �6��� �6� ;��;���.6� &�% &��&�� ��

,6��$�� �� ��,7'- &��.�*�� /.$� - �&�;�$��+$-$� $�% &���,+����% �/;��� �� �6���

�%$� &�% �������$�� ��$7 $-� &��7''-'- ��$�'�.� $�% .� �6� ��*�$��$����� %N-'/�

�&�;+.�(�0
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• � ����;� &�% &���%.�7.$-�� .$-� &���).� ��,�.6� ;6��� ��9�.- .$-� �&�;�$��+$-$�

$�% &��7''-'�% �/;��� �� ;)� $�+&�% u

20 ��$d ��*��� ��$7 $-� &���,(,� $�% .�������) ��$�.*-��$�.����% �/;��� �9��M

�+5�$�� ��� ��$7''-'� ��$�.*-��$�.�+ � � �&�6� �&'�&���6 .-���$��7 $� ��M

9�7.�� �&�$6�-.- $(� ��6(� $�% ��$�.*-��$�.����% ��+*�%� ��$�9����$� $-�

&�'%&'��+$-$� .� &�78�� ��$�8) �����6(� ��$+ $(� ��6(� $�% ��+*�%0 ��;�M

����% +$� �%$� �� &�78�� ��$�'�)�$�� &�') �&�;�$��7 .$�% ���$����% �&�8��M

,�.$� ��� ��'$�.$�&���)�$�� &�') &�� �)��'� �&+ $�% ��$�,'($$�.$� .� .*�.-

�� $� &�')&'��� .%���$�.�� �&�$6�-.- .$� +��� $(� ��+*(�� �&�$%,*7��$��

.-���$��� ��6(.- .$-� &�'%&'��+$-$� $�% &���,+����% �/;���0

!0 ��$7 $- 97.- $- &���''-'�&�6-.- $�% .�������) ��$�.*-��$�.����% �/;��� ���
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��6(� $(� ��+*(� &�% $� ;��.*65�%�0 ��� ,����+ .%�&���.�� �&���6 �� ��&(��6

+$� - &���''-'�&�6-.- $(� �-M����,/��� ��$�.*-��$�.���(� ��+*(� %'�&���6$��

��.9����$� .*�;+� $-� 6;�� �&��7�%�.- �� �%$� &�% �&�9���$�� ��$7 $-� %'�&�6-.-

����,/��(� ��$�.*-��$�.�/�0

• ���� �&+ $-� &��.&7���� ;��$��-.- $- �&�;�$��+$-$� $�% &���,+����% �/;��� .�

+.� $� ;%��$+� %N-'+$��� �&6&�;�� - ����;� &�% &���%.�7.$-�� ���/��� ;��.$��7 ���

$� *�+�� ��$�,'/$$�.- 0 ���7 $� ,�,��+ +$� � *�+�� ��$�,'/$$�.- �6��� ;�%$���)M

�%.� .-��.6� � .� �7&��� &���&$/.�� � *�+�� �%$+ �&���6 �� �6��� $+.� ��,7'� 
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��$6� �%$� $- &�'%&'��+$-$� �6��� �&6.- &����+� .� �7&��� &���&$/.�� �� �-�

�6��� ;%��$� - �'��'��(.- $- ���+;�%� '+,( �''��N- ����- � %&��*�6'�.- ��$7 �&+

&�') ��,7'� �����+ ,�����&�78�(�0 � &��$���+���- ����;� �%.��.$��7 �8�'�69�� $�

&���&7�( &���'���$�� $��9�;�$/�$� $- ����;� Y=P@AJ@MU=DZ[AQ �� &�') ����+$���

.%.$���$� ���.�$�$(� $� �&�6� �&�'�69��$�� .$- *���+$��- &��6&$(.- .� �����7 '�&$7

$- /�� � ���6 &�% - �;- &��$���+���- ����;� wG\32x �� �&��$�).� /�� � ��� ���� � �

;�� �� �$�� .� ��.- �� �'��'-�/.�� $- ��$�,'/$$�.-0
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��+ ��'$�.$�% .*���$� .$�� ��$�.*-��$�.�+ %&���+��(�0 �� $- ������� $�% ��,�M

'�6�% �%$�) ���.$�� ,�� &�/$- 9��7 .� ��.- �� �9���+.�%�� �-M����,/��� .*���$�

��$�.*-��$�.�/� ��� �� .%,��6��%�� $� .%��'��+ *�+�� ��$�'�.� $�% � �� �%$+� &�%

&���)&$�� �&+ $-� �9����,� $(� ����,/��(� ��$�.*-��$�.�/� &�% *�-.���&���)�$��

�( $/��0 
&+ $-� &���&7�( &������$��� ;��;���.6� &����%N�� &�') ��;��9����$� .%M

�&��7.��$� .� .*�.- �� $-� �&6;��.- $�% .*���$� $�% ��$�.*-��$�.��) %&���+��(�

.$� .%��'��+ *�+�� ��$�'�.- ��+ 9('��.����% ��+*�%0 �%,���������� $� &���7��$�

&�% ;��8�*�-.�� �&�����6(.�� $- ��(�6� �� �7.- $-� �&�6�� $� .*��� $�% ��$�.*-��$�M

.��) ���;�&�6-.- �� &��&�� �� &���)&$�� �&+ $�� �/�� %&���+��(� $�% �',��6���%0

�7'�.$�� �;��6$��� ��$%&(.���+ �6��� $� ,�,��+ +$� .� �7&��� &���&$/.�� � ��$��7'M

'��$� �+�� ��� � ;)� .$��*�6� .$�� &6���� ��$�.*-��$�.��) %&���+��(�� � .%��'��+ 

*�+�� ��$�'�.- $�% &��7''-'�% &��,�7���$� �&���6 �� ���(��6 .� &�.�.$7 &�% 8�M

&����)� $� #"� ��� �&���6 �� 9$7��%� ��+�� ��� $� p"�0

� &���).� ��,�.6� �&�$�'�6 �6� �'��'-�(���- &��.&7���� �%$+��$- &���,(,� &��7''-M

'�% �/;��� ,�� ,�����) ��$�.*-��$�.��) %&���+��(�0 ��� &����$�.- $- ���+;�% &�%

&���%.�7.$-��� &��$�6��$�� �� ;����%�-��)� $� �8� u

• � &��$���+���- ����;� � +&( ���9���-�� ��� .$-� ��+$-$� n0!� &���&���$�� $-� )&��M

8- �&���+��.$�% ������) ;���,�.�/�� �� �&�6� .$� .$7;�� $- ��$�'�.- �&+ $� UT\
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��6 �.����/ $� %&�'�,�.$��+ 9��$6�0 �6� ').- $�% &���'���$� �%$�) �6��� �� '-9��6

%&d +N- � ������ �����+ $(� �&�8��,�.$/� ��$7 $� .$7;�� $- ��$�,'/$$�.- ��� ��
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%&�'�,�.$��+ 9��$6�0
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��%� ��� .).$-�� ��$����-���- ����- 0 � ;��;���.6� &���,(,� &��7''-'�% �/;���
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&���������% �� &��7,�� �/;��� &�% �� ����$�''�)�$�� &���..+$��� $� *����$-��.$��7
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&��.;���6.�%� $� +��� $(� ��$��'-$/� �'�,*�% ��+ 9('��.����% ��+*�% &�% �� ;��.*6.��

$� &�')�;��0 
� A�x ≤ �α, �x ∈ Zn �6��� ��� .).$-�� p ���.�$�$(� &�% &���,�79�� ��� &�')M

�;�� .$� n ;��.$7.�� � $+$� �&���)�� �� ;��.*6.�%�� �%$+ $� &�')�;�� �� ��� nM;�7.$�$�

9('��.���� ��+*�� �� ,�� �7�� ���.+$-$� .$-� �&�6� &����*�$�� - ��$��'-$� xk� ��
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R.$( A�x ≤ �α, �x ∈ Zn� ��� .).$-�� ���.�$�$(� &�% &���,�79�� ��� nM;�7.$�$� &�')�;��� $�

�&�6� ��'�%�� �� ;��.*6.�%�� �� ��� 9('��.���� ��+*�0 
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$� +��� ��� $- x10 � ����;� YUj %'�&���6$�� ( �8� u
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� xk �6��� - ��$��'-$� $- �&�6� ��'�%�� �� &��.;���6.�%�� $� +���� $+$�

��$�.*-��$65�%�� $-� kM.$� .$�'- $�% &6���� A 1&�% &����*�� $�% &�''�&'�.��.$���) 

&��7,��$� $- ��$��'-$� xk4� /.$� �� &����*�� �+�� &��7,��$� +1,−1 � 00 �$�

$�'� �%$�) $�% ����$� $� .).$-�� $(� ���.�$�$(� �&���6 �� ;��*(��.$�6 .� $�6�
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A+�x ≤ �α+ A−�x ≤ �α− A0�x ≤ �α0
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A+�x ≤ �α+ ⇒ xk ≤ �α+ − (A+�x)

A−�x ≤ �α− ⇒ (A−�x) − �α− ≤ xk

+&�% � &6���� A+ &���)&$�� �&+ $�� &6���� A+ �� �9�6��.- $- .$�'- k ��� $�

;�7�%.�� �x &���)&$�� �&+ $� �x �� �9�6��.- $- ��$��'-$� xk0 
�7'�,� ��65��$�� ���

�� &6���� A− ��� A00

• 8��
 Au �� +��� $�% xk �6���u

max((A−�x) − �α−) ≤ xk ≤ min(�α+ − (A+�x)) 1
024

�&��;� $� +��� &�% &���)&$�%� �&+ $- �*�.- 
02 �&���6 �� �6��� �-M�������� ��/ $�

+��� $(� ��$��'-$/� �'�,*�% ��+ 9('��.����% ��+*�% &��&�� �� �6��� �������� *�-M

.���&���)�� $�� ���.( ����+$��� ������� .$� �7$( +��� ��� $�� ���.( ��,�')$���
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• 8��
 Cu 
&+ $- �*�.- 
02 ;-���%�,�)�� $� �8� .).$-�� ���.�$�$(�u

(A−�x) − �α− ≤ �α+ − (A+�x) 1
0!4

• 8��
 ;u �%�;%75�%�� �HI� ���.+$-$� �&+ $� ���.$��+ ��'� $- �*�.- 
0! �� �HI�
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A�x ≤ �α

�� .).$-�� �%$+ �� *�-.���&��-��6 ,�� $�� &��.;����.�+ $(� ��6(� $- ��$��'-$� 

xk−10

�� ����$� 124M1l4 �&���'���7���$�� ,�� k = n, . . . , 10
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 3	5 R.$( ��� &�')�;�� .$� $��� ;��.$7.�� &�% &���,�79�$�� �&+ $� .).$-��

A�x ≤ �α, �x ∈ Z3� +&�%u

A =

⎡⎢⎢⎢⎢⎢⎢⎣

0 −1 −3
0 0 −1

−1 0 6
0 1 3
0 0 1
1 0 −6

⎤⎥⎥⎥⎥⎥⎥⎦ ��� �α =

⎛⎜⎜⎜⎜⎜⎜⎝

−10
−1
−1
15
3

50

⎞⎟⎟⎟⎟⎟⎟⎠
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�� ��� $��.;�7.$�$� 9('��.���� ��+*�0

k = 3u
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$65�$�� .$�� &6����u
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−1
6 0 1 −1

6
0 1

3 1 5
0 0 1 3
0 0 −1 −1
0 −1

3 −1 −10
3

1
6 0 −1 50

6
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$�'�%$�6� $� A−�x ≤ �α−0 �d �%$� $-� &��6&$(.- $� .).$-�� A0�x ≤ �α0 �6��� ���+0 
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�7$( ,����� � &���)&$�� $� .).$-�� 1�,���)�� $-� $�6$- .$�'- &�% &����*�� �+�� �-;�����4u⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

−1
6 0 −7

6
−1

6 −1
3 −21

6
0 0 49

6
0 1

3 4
0 0 5

3
1
6

1
3

40
3

0 0 2
0 −1

3 −1
3

1
6 0 68

6

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

k = 2u

�� &���&7�( .).$-�� ��$�.*-��$65�$�� �)��'� .$- ���9�u⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 1 12
1
2 1 40

−1
2 −1 −21

2
0 −1 −1

−1 0 −7
0 0 49
0 0 5
0 0 2
1 0 68

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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&+ $� .).$-�� �%$+ &���)&$�%� $� 7�( ��� �7$( +��� $- ��$��'-$� x20 
�7'�,� ,��

k = 1 &���)&$�� $�'��7u ⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 78
1 68

−1 3
−1 −7

0 5
0 49
0 2
0 59
0 11

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

�&d +&�% %&�'�,65��$�� $� +��� $- ��$��'-$� x10 ��'��7� $� &�')�;�� �� ;��.*65�$�� �&+

��� ��+*� $- ���9� u

��� �x1��@A������� x1 ≤�������L��� x1���

��� �x2��@A���� 21−x1
2 ��� x2 ≤�������� 80−x1

2 	�� x2���

��� �x3��@A���� 10−x2
3 ���x1−50

6 ��� x3 ≤������� 15−x2
3 	��x1−1

6 	�� x3���

���


�����


�����


�����

�&( ��
���������

� ����;� YUj� +&( &���)&$�� ��� �&+ $-� ��7'%.- $- &���&7�( ��+$-$� � &��7,�� ��,7M

'� �����+ ���.�$�$(� &�% *�-.���&���)�$�� ,�� $-� �&�$6�-.- $(� ��6(� $�% 9('��.����%

��+*�%0 �7&��� �&+ $� ���.+$-$� �%$� +�( ;�� �6��� �&���6$-$� ,�� $- .(.$� ;�7.*�.-

$�% &�')�;��%0 �����$-��.$��7 .$� ���7;��,�� 
02� - ��9��.- max(−3, 7) �&�$��7$�� &7M

�$� .$-� $��� p� �7$� &�% .-��6��� +$� - ���.+$-$� −x1 ≤ 3 &�% &���)&$�� �&+ $-� �9����,�

$- YUj� ;�� �6��� �&���6$-$- ,�� $- .(.$� �&�$6�-.- $(� ��6(�0 �&��;� �� &'���75�%M

.� ���.+$-$� &��.��$�%� ��9�7.�� .$-� �&�$6�-.- $(� ��6(�� �� �&�6� �&����)��%� $-�

��$�'�.- $�% 9('��.����% ��+*�%� �6��� ,����7 .�+&��� �� ���.+$-$� �%$� �� �9����)�$��0

�8�$75�%�� ;)� ���+;�% �&'�&�6-.- $(� .%.$-�7$(� &�% &���)&$�%� ��$7 $-� �&�M

'��9� YUj0 � &�/$- ����75�$�� OL C=E �&'�&�6-.-� �*�� *��-'� &�'%&'��+$-$� �''7 ;��
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�&�$%,*7��� �� ��$�&6.�� +'� $� &'���75�%.� ���.+$-$� 0 � ;�)$��- ����75�$�� ������ 

1JbOED4 �&'�&�6-.-� ��$�&65�� +'� $� &'���75�%.� ���.+$-$� � �''7 �*�� �8����$��7 ��,7'-

&�'%&'��+$-$�� &�% ����.$7 .� ����$� &���&$/.�� $-� �9����,� $- �&�,���%$���0 �� ;)�

�%$� ����;�� �&���)� �� �9����.$�)� ;��;�*��7� &�/$� - OL C=E ��� .$- .%��*��� - ������ �

/.$� �� ���(��6 +.� $� ;%��$+� $� �+.$� $- �&'�&�6-.- 0 � ���,�/.$- �&���6 �� ����

'�&$������� ,�� $� ;)� ���+;�% .$-� ��,�.6� wze3lx0 �$- .%��*��� �� ;/.�%�� $- ,�����

�;�� �7�� ���+;�%0

� ����;� OL C=E �'�,*�� ;��;�*��7 $� +��� $(� ��$��'-$/� x1, . . . , xn ��� ���*��)�� �%$� 

$� ���.+$-$� � &�% ,�� $� .%,��������� +��� ;�� �&�'-��)��$�� &�$�0 
 %&���.�%�� +$� ,��

$� ��$��'-$� x1 ��� x2 ��+ 9('��.����% ��+*�% �.*)�� 1 ≤ x1 ≤ 8 ��� max(5x1 + 3, 3x1 +
3) ≤ x2 ≤ min(5x1 + 8, 8x1 − 4)0 	�� 1 ≤ x1 ≤ 8 �.*)�� &7�$� 5x1 + 3 > 3x1 + 3 �&����( 

- ���.+$-$� 3x1 + 3 ≤ x2 �6��� &'���75�%.�0 
�$6��$�� �� ���.+$-$� x2 ≤ 5x1 + 8 ���

x2 ≤ 8x1 − 4� �6��� ��� �� ;)� �&���6$-$� ,�� $-� �&�$6�-.- $�% 7�( ��6�% $- ��$��'-$� 

x20 	����7 - ����;� %&�'�,65�� ,�� �7�� ��$��'-$� xk $� .)��'� [lmin
k , umax

k ]0 
� ,��

�7&��� ���.+$-$� &���)N�� +$� ,�� $� �7$( +��� $- ��$��'-$� xk� �.$( l′� �.*)�� l′ > umax
k �

$+$� - ���.+$-$� �%$� �6��� &'���75�%.� ��� �9����6$��0 
�$6.$��*� &'���75�%.� �6��� ���

���.+$-$�� �� &���)N�� +$� ,�� $� 7�( +��� u′ $- ��$��'-$� xk� �.*)�� u′ < lmin
k 0

� OL C=E �&'�&�6-.- &���*�� �6� ,��,��- ��� �&�;�$��� ����;� ,�� $-� �9�6��.- &'�M

���5�%./� ���.�$�$(�0 �� .).$-�� �&���6 �� �&'�&��-��6 &����$��( �� $-� �9����,� $- 

������) �&'�&�6-.- 0 � ������ �&'�&�6-.- .$-�65�$�� .$-� &���$��-.-� +$� �6� ���.+$-$�

�6��� &'���75�%.� ��� +$�� ��$�.$��9�6� $� .).$-�� &�% �� &���)N�� �&+ $-� �9����,� $- 

YUj� ;�� &����*�� ������ &��,��$��+ .-��6�0 �6��� &��9��� +$� - ������ �&'�&�6-.- �6���

�8����$��7 &�')&'��- ��� *�����+��� ���/ �&��$�6 $-� �9����,� $- ���+;�% YUj ,�� �7M

�� �6� ���.+$-$� &�% %&7�*�� � ;-���%�,�6$�� ��$7 $-� �&�'��9� YUj0 �%���( $� ���;� 

.$-� �&�;�$��+$-$� $�% &���,+����% �/;��� �6��� &�') ����+ �� $-� �9����,� $- ������) 

�&'�&�6-.- � ��/ ��$6��$� � *�+�� ��$�,'/$$�.- �&���6 �� �%8-��6 ;����$��70

�&* ��
��
�������


&+ $-� &���%.6�.- $- ���+;�% YUj �6��� �7''�� ��9��� +$� - ����;� &���%.�75�� �;��6M

$��� %N-'� &�'%&'��+$-$�0 �%,���������� .$� X��� l �*�%�� .%�;%�.�+ ���.�$�$(� ,��

$-� &���,(,� ��(� ��� - ;��;���.6� �%$� �&���'���7��$�� n 9��� 0 
� ��'�%�� �� ;��.*6M

.�%�� ��� nM;�7.$�$� &�')�;�� &�% &���,�79�$�� �&+ p ���.+$-$� � $+$� - &�'%&'��+$-$�
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$- �&�'��9� YUj �*�� ( �8� u �$- *���+$��- &��6&$(.-� .$� X��� n ��$7 $�� &��.;��M

��.�+ $(� ��6(� $- ��$��'-$� xn� �� ;��*(�6.�%�� p/2 ���.+$-$� &�% &���,�79�%� $�

�7$( +��� $- xn ��� p/2 ���.+$-$� &�% &���,�79�%� $� 7�( +��+ $- 0 v�� �� .%�;%�.��6

$(� ���.�$�$(� �%$/� �� ;-���%�,�.�%� (p/2)2 ��� ���.+$-$� &�% �� *�-.���&��-��)� ,��

$�� &��.;����.�+ $(� ��6(� $- ��$��'-$� xn−10 
� ��� .d �%$� $-� &��6&$(.- �� ��.� 

���.+$-$� �9���)� $� 7�( ��� �� 7''� ��.� $� �7$( +��� $- xn−1� $+$� � .%�;%�.�+ 

$�% �� ;/.�� (p2/8)2 ��� ���.+$-$� 0 R$.�� ;�;�����% +$� .$- *���+$��- &��6&$(.- ��� ��

p ���.+$-$� �� &����*�%� n ��$��'-$� � - &�'%&'��+$-$� $- ���+;�% YUj �� �6���u

CFME = O

(
p2n−1

22n−2

)
≈ O

(
(
p

2
)2

n−1
)

v�� - &�'%&'��+$-$� $- ���+;�% YUj �6��� ;�&'7 ����$��� .$- ;�7.$�.- $�% &�')�;��%� �

��$6.$��*� .$� �7�� $�% 9('��.����% ��+*�%0
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��������� �

�)*���� ��� ������������

$&% GH>?ID

� ����;� qOE=_A �6��� ��� &���;�.���� �&���'-&$��� ����;� .$-� �����-$��� ��7'%.-�

&�% *�-.���&���6$�� ,�� $-� �����-$��� �&6'%.- &���'-�7$(� ��*��/�h.%������/� $��/�0

��$��� &���'���$� �� �&���).�� �� �6��� �%$7 $- ;�7*%.- ����+$-$� � ;%������) .� �6�

;�.;�7.$�$- �&�97����0 R$.�� .)�9(�� �� $�� �',+����� $�% qOE=_A� �� V n
ij �6��� $� ;%�����+

.$- ��.- �� .%�$�$�,���� ij $- *������ .$�,�� n� $+$� �� �.*)��u

V n+1
ij =

1
4
(V n

i+1,j + V n
i,j+1 + V n

i−1,j + V n
i,j−1 + ∆x2qij)

�6��� ;%��$+� �� &��.�,,6.�%�� �&���'-&$��7 $� $��� $�% ;%������) .� ��� .-��6� �� .%M

�$�$�,���� (i, j)� �&���'���7���$� $�� &���&7�( %&�'�,�.�+ ,�� ��,7'� �����+ �-�7$(�0

� 9('��.���� ��+*� &�% %'�&���6 $�� �',+����� qOE=_A ;6��$�� .$- .%��*���0 � ��$�M

�'-$� �'�,*�% t ��9�75�� $� ����$� �&��7'-N- $�% �',��6���%� ��/ �� i ��� j $� *(���� 

.%�$�$�,���� 0 � &6���� A &����*�� $� $��� $�% ;%������)0 k�(��6$�� +$� �;- �*�%�

&��,��$�&��-��6 ��*���&���.�� &�% %&�,���)��$�� �&+ $� ��*��� h������ .%����� $�%

&���'���$� 0
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��� �T��� T≤Y� T���

��� ����� �≤D� ����

��� �]��� ]≤^� ]���

��T���]��
������T�������]����T�����]������T�������]����T�����]�����


�����


�����


�����

� &6���� �8��$�.�(� $�% &���&7�( 9('��.����% ��+*�% �6���u D =

⎡⎢⎣ 1 1 1 1
1 0 −1 0
0 1 0 −1

⎤⎥⎦

��� � �/�� %&���+��(� &�% &���)&$�� �&+ $�� &6���� D �6��� C =

⎡⎢⎢⎢⎢⎣
−1 1 1

1 −1 1
−1 −1 1

1 1 1

⎤⎥⎥⎥⎥⎦0 �&��;�

$� ;���).��$� �87�$-.- $�% &���&7�( ��+*�% &����*�%� ��� ���-$��� .%�$�$�,���� � �

&���&7�( ��+*� ;�� �&���6 �� ��$�.*-��$�.$�6 �� ����,/��� ��$�.*-��$�.�+ %&���+��(�

1�.*)�� HD � 040 	�� $� '+,� �%$+ �9���+5�%�� .$�� &���&7�( ��+*� ��$�.*-��$�.�+

�''�,� �'6.- &�% &���,�79�$�� �&+ $�� &6���� T =

⎡⎢⎣ 1 0 0
1 1 0
1 0 1

⎤⎥⎦0
� ��$�.*-��$�.���� �/;��� �� �6���u

��� �T_��� T_≤Y� T_���

��� ��_�T_��� �_≤T_�D� �_���

��� �]_�T_��� ]_≤T_�^� ]_���

T�T_� ���T_��_� ]��T_�]_�

��T���]��
������T�������]����T�����]������T�������]����T�����]�����


�����


�����


�����

� ��� &6���� �8��$�.�(� �� �6��� D′ = TD =

⎡⎢⎣ 1 1 1 1
2 1 0 1
1 2 1 0

⎤⎥⎦0 ����$-��)�� +$� +'� ��

.%�$�$�,���� $�% ���% &6���� �8��$�.�(� �6��� ��$��� 0 � �/�� %&���+��(� .$� ��$�.*-M
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��$�.���� 9('��.���� ��+*� �6���u C =

⎡⎢⎢⎢⎢⎣
−3 1 1

1 −1 1
−1 −1 1
−1 1 1

⎤⎥⎥⎥⎥⎦0

$&( JH@KK �@>>LKKDML NMLA3OLPHQHBD?=R�NO

� ����;� Srs *�-.���&���6$�� .�� ��'$6(.- $- ���+;�% qOE=_A ,�� $-� �&���'-&$��� �&6'%M

.- &���'-�7$(� ��*��/�h.%������/� .%��-�/�0 �7�� �&��7'-N- $- ���+;�% &��,��$�&���6

��� &�78- $- ���9- u

V n+1
ij =

w

4
(V n

i+1,j + V n
i,j+1 + V n+1

i−1,j + V n+1
i,j−1 + ∆x2qij) + (1 − w)V n

ij

����$-��)�� ;-'�;�� +$� - ����;� Srs *�-.���&���6 .� �7�� ���� %&�'�,�.��) $� $��� 

&�% �*�%� �+'� %&�'�,�.$�6 .d �%$+ $� ����0 	�� $� '+,� �%$+� - ����;� Srs .%,�'6���

,�-,��+$��� �&+ $- ����;� qOE=_A0 � 9('��.���� ��+*� &�% %'�&���6 $�� �',+����� Srs

�6���u

��� �T��� T≤Y� T���

��� ����� �≤D� ����

��� �]��� ]≤^� ]���

��T���]��w
4 ���T�����]����T���]������T�������]����T�����]�����

���w���T�����]��


�����


�����


�����

� &6���� �8��$�.�(� $�% &���&7�( 9('��.����% ��+*�% �6��� D =

⎡⎢⎣ 0 0 1 1 1
1 0 −1 0 0
0 1 0 −1 0

⎤⎥⎦

��� � ��$6.$��*� �/�� %&���+��(� C =

⎡⎢⎢⎢⎢⎣
1 0 0
1 1 0
1 0 1
1 1 1

⎤⎥⎥⎥⎥⎦0 ��� .d �%$� $-� &��6&$(.- �&��M

$�6$�� ��$�.*-��$�.�+ �''�,� �'6.- � ,�� �� �6��� �,�%�- - �9����,� ����,/���% ��$�M

.*-��$�.��) %&���+��(�0 � ��$�.*-��$�.�+ �''�,� �'6.- &���,�79�$�� �&+ $�� &6����
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T =

⎡⎢⎣ 1 0 0
1 1 0
2 0 1

⎤⎥⎦0
� 9('��.���� ��+*� ��$7 $� ��$�.*-��$�.�+ �� ,6���u

��� �T_��� T_≤Y� T_���

��� ��_�T_��� �_≤T_�D� �_���

��� �]_��T_��� ]_≤�T_�^� ]_���

T�T_� ���T_��_�]���T_�]_�

��T���]��w
4 ���T�����]����T���]������T�������]����T�����]�����

���w���T�����]��


�����


�����


�����

� &6���� �8��$�.�(� $�% ���% 9('��.����% ��+*�% �� �6��� D′ = TD =

⎡⎢⎣ 1 0 1 1 0
1 1 0 1 0
2 0 2 1 1

⎤⎥⎦

��� � ��$6.$��*� �/�� %&���+��(� �6��� C =

⎡⎢⎢⎢⎢⎣
1 0 0
0 1 0

−1 0 1
−2 1 1

⎤⎥⎥⎥⎥⎦0

$&* <PBLA=HBD=E �DAL>BD?= CSTPD>DB C=BLEAHBD?=R<�C

� ����;� GV\ *�-.���&���6$�� ��� �%$� ,�� $-� �&6'%.- �����/� ;��9����/� �8�./.�(�0

�%.��.$��7 �&�$�'�6$�� �&+ ;)� ����$�� .$� &�/$� ;��87,��$�� &�78�� ��$7 ���� $- ;�7M

.$�.- i ��� .$� ;�)$��� ;��87,��$�� &�78�� ��$7 ���� $- ;�7.$�.- j0 
� ���&���.�%��

$� ;)� ����$� �%$7� &���)&$�� � �8� 9('��.���� ��+*� u

��� �T��� T≤Y� T���

��� ����� �≤D� ����

��� �]��� ]≤^� ]���

`�T���]��`�T�����]��`�T�����]��������]�ab�T�����]����

`�T�������]������]�ab�T�������]��

b�T���]��b�T�����]������]������]�ab�T�����]����

����]������]�ab�T�������]��


�����
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�����


�����

� &6���� �8��$�.�(� $�% �',��6���% �%$�) �6��� � D =

⎡⎢⎣ 1 1 1
0 1 0
0 0 1

⎤⎥⎦0 �� .%�$�$�,���� 

+'(� $(� ;���%.�7$(� �87�$-.- �6��� �- ���-$��� � �&����( ;�� �&��$�6$�� �''�,� �'6.- 

.$� .%,��������� &��7;��,�� ,�� $-� �9����,� ����,/���% ��$�.*-��$�.��) %&���+��(�0

� �/�� %&���+��(� .$� &��7;��,�� �%$+ �6���u C =

⎡⎢⎣ 1 −1 −1
0 1 0
0 0 1
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��� �T��� T≤Y� T���
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��T���]�� 1
9���T�����]����T�����]������T�����]����T�����]������T���]����

��T�����]������T�������]������T�������]����T�������]�����


�����


�����


�����

� &6���� �8��$�.�(� $�% &���&7�( 9('��.����% ��+*�% �6���

D =

⎡⎢⎣ 1 0 0 0 0 1 1 1 1
0 1 1 1 0 0 −1 −1 −1
0 1 0 −1 1 −1 1 0 −1

⎤⎥⎦� ��/ � �/�� %&���+��(� �6��� C =

⎡⎢⎣ 1 0 0
1 1 0
1 1 1

⎤⎥⎦0
� &���&7�( 9('��.���� ��+*� ��$�.*-��$65�$�� �� $- ������� $�% &6���� T =

⎡⎢⎣ 1 0 0
1 1 0
2 1 1

⎤⎥⎦0
� ��$�.*-��$�.���� �/;��� �� �6���u

��� �T_��� T_≤Y� T_���

��� ��_�T_��� �_≤T_�D� �_���
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D′ = TD =

⎡⎢⎣ 1 0 0 0 0 1 1 1 1
1 1 1 1 0 1 0 0 0
2 2 1 0 1 1 2 1 0
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⎡⎢⎣ 1 0 0
0 1 0
0 0 1
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V n+1
ij =

1
9
(V n

i,j + V n
i+1,j + V n

i+2,j + V n
i,j+1 + V n

i,j+2 + V n+1
i−1,j + V n+1

i−2,j + V n+1
i,j−1 + V n+1

i,j−2 + ∆x2qij)
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D =

⎡⎢⎣ 1 0 0 1 1 0 0 1 1
0 1 2 −1 −2 0 0 0 0
0 0 0 0 0 1 2 −1 −2

⎤⎥⎦ ��� � �/�� %&���+��(� �6��� C =

⎡⎢⎢⎢⎢⎣
1 0 0
1 1 0
1 0 1
1 1 1

⎤⎥⎥⎥⎥⎦0
�&��;� %&7�*�%� ���-$��7 .$��*�6� .$� ;���).��$� �87�$-.- � *�-.���&���)�� $�� &6����

T =

⎡⎢⎣ 1 0 0
2 1 0
2 1 1

⎤⎥⎦ ,�� �� ��$�.*-��$6.�%�� $�� &���&7�( 9('��.���� ��+*�0

� ��$�.*-��$�.���� �/;��� �� �6���u

��� �T_��� T_≤Y� T_���
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��T���]��f���T�����]����T�����]����T�����]����T�������]����T�������]��
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D′ = TD =

⎡⎢⎣ 1 0 0 1 1 0 0 1 1
0 1 2 −1 −2 0 0 0 0
0 0 0 0 0 1 2 −1 −2

⎤⎥⎦ ��� � �/�� %&���+��(� �� �6��� C =

⎡⎢⎢⎢⎢⎣
1 0 0
1 −1 1
0 1 0
0 0 1
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P1 =

[
10 0
0 15

]
P2 =

[
10 0
4 15

]
P3 =

[
10 3
4 15

]

7&( F����������� ��� 
�����

P4 =

⎡⎢⎣ 5 0 0
0 3 0
0 0 4

⎤⎥⎦ P5 =

⎡⎢⎣ 5 0 0
0 3 0
0 5 4

⎤⎥⎦ P6 =

⎡⎢⎣ 5 0 2
0 3 0
0 5 4

⎤⎥⎦ P7 =

⎡⎢⎣ 5 0 2
0 3 0
4 5 4

⎤⎥⎦ P8 =

⎡⎢⎣ 5 0 2
4 3 0
4 6 4

⎤⎥⎦
P9 =

⎡⎢⎣ 5 0 2
4 3 1
4 6 4

⎤⎥⎦ P10 =

⎡⎢⎣ 5 6 2
9 3 4
5 6 4

⎤⎥⎦
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R .)��'� �-$/� 2o

n
�����+ $(� ��+*(� .� ��� 9/'��.��� � �7�� $�% 9('��.����%
��+*�%

2o

J ��*��+ */�� �&���'�N�(� � */�� ;���$/� 2p
lk �7$( +��� ;�7.$�.- k .$�� J 2o
uk 7�( +��� ;�7.$�.- k .$�� J 2o
D &6���� �8��$�.�(� !2
�dk ;�7�%.�� �87�$-.- 1- kM.$� .$�'- $�% &6���� D4 !2
q �����+ $(� �8��$�.�(� !"
H &6���� ��$�.*-��$�.��) %&���+��(� !p
P ��$6.$��9� &6���� ��$�.*-��$�.��) %&���+��(� 1P = H−14 !p

TIS �/�� �&���'�N�(� �&���+���% 1]AHJ \DJ@ODA=Q S>OEJ4 !m
JS �/�� �&���+��(� 1]AHJ S>OEJ4 !m

TOS �/�� 
�*/� �&���+��(� 1]AHJ r@ABAQ S>OEJ4 !m
DS �6���� �8��$�.�(� �&���+��(� !m
fw .%�7�$-.- �,,��9� .� ��� &6���� nn
DS �/�� ��;����(� nl
lSk �7$( +��� ;�7.$�.- k .$�� JS l#
uS

k 7�( +��� ;�7.$�.- k .$�� JS l#
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l′k �7$( +��� ;�7.$�.- k .$�� TTIS o"
u′

k 7�( +��� ;�7.$�.- k .$�� TTIS o"

TTIS
��$�.*-��$�.���� �/�� �&���'�N�(� �&���+���% 1]@OQIM
^=@WJL ]AHJ \DJ@ODA=Q S>OEJ4

o"

H ′ &6���� ��$�.*-��$�.��) �&+ $�� TIS .$�� TTIS o2
P ′ &6���� ��$�.*-��$�.��) �&+ $�� TTIS .$�� TIS 1P ′ = H ′−14 o2
V ;��,/��� &6���� ,�� $�� �&�6� �.*)�� H ′ = V H o2

ck ����$� .$�� TTIS 1 � h̃′
kk4 o#

H̃ ′ ���-$���� �������� ���9� $�% H ′ o#

akl ��*��� $��� .$�� TTIS 1 � h̃′
kl4 o#

�pid n − 1M;�7.$�$� ;�7�%.�� ���,�(��.$��+ $(� �&�8��,�.$/� pl
m ;��)�%�.- �&���+��.- pp
jS
m .%�$�$�,���- .$- ;��)�%�.- �&���+��.- $�% �/��% �&���+��(� pp

tS
.%�$�$�,���- .$- ;��)�%�.- �&���+��.- $�% �/��% �&���+��(�
1�.�;)���- �� jS

m − lSm4
pp

LDS ��&��+ �/�� ��;����(� 1g=EOH VODO S>OEJ4 p3
map .%�7�$-.- �&���+��.- �&+ $�� LDS .$�� TTIS m"

map−1 .%�7�$-.- �&���+��.- �&+ $�� TTIS .$�� LDS m2
loc .%�7�$-.- �&���+��.- �&+ $�� LDS .$�� J m#

loc−1 .%�7�$-.- �&���+��.- �&+ $�� J .$�� LDS mn
D′ &6���� �8��$�.�(� .$�� TTIS 1D′ = H ′D4 mp
�CC ;�7�%.�� �&�����(�6� mm

Dm &���)&$�� �&+ $�� DS �� �9�6��.- $- mM�.$� ,����� 3"
�dm ;�7�%.��M.$�'- $�% &6���� Dm 3"

dS(dm) +'� �� �8��$�.�� ��$�8) %&���+��(� dS &�% ;-���%�,�)� $-�
�87�$-.- �&�8��,�.$/� dm 32

dm( �dS)
- �87�$-.- �&�8��,�.$/� dm &�% ��$�.$��*�6 .$-� �87�$-.- %&��M
�+��(� dS 32
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